## Notice for appointment of Regular / Rural Retail Outlet Dealerships

Indian Oil Corporation Limited proposes to appoint Retail Outlet dealers in Tamil Nadu, as per following details:

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension site (in Sq	(in M.)/Area <sub>I</sub> . M.). *		e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC / SC CC-1 SC PH ST ST CC-1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	Rs in Lakhs	Rs in Lakhs
1	ON SH169 (TIRUPPUR-MANGALAM HIGHWAY)WITHIN 2 KM FROM MANGALAM NALROAD JUNCTION TOWARDS SULTHANPETTAI	Tiruppur	REGULAR	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
2	WITHIN TIRUPPUR MUNICIPAL LIMITS (ON TIRUPPUR- PALLADAM HIGHWAY FROM TIRUPUR OLD BUSSTAND TO VEERAPANDI BUS STOP)	Tiruppur	REGULAR	155	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
3	ON SHU-10 WITHIN DINDIGUL TOWN ON DINDIGUL - PALANI ROAD	DINDIGUL	REGULAR	130	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
4	WITHIN ERODE MUNICIPAL LIMITS (ON VEERAPPAMPALAYAM BYPASS ROAD, ON LEFT HAND SIDE FROM PERUNDURAI ROAD - SH96 JUNCTION TO NASIYANUR ROAD - SH173 JUNCTION)	ERODE	REGULAR	160	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
5	ON SH96 (CHENNIMALAI KANGEYAM HIGHWAY), ON LEFT HAND SIDE WITHIN 5KMS FROM CHENNIMALAI POLICE STATION TOWARDS KANGEYAM)	ERODE	REGULAR	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
6	WITHIN TIRUPPUR MUNICIPAL LIMITS (TIRUPPUR-MANGALAM HIGHWAY (SH169) FROM MUNICIPAL CORPORATION OFFICE TOWARDS MANGALAM ON RHS)	Tiruppur	REGULAR	160	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
7	FROM KG CHAVADI POLICE STATION TO KAVITHA CINEMAS ON OLD PALAKKAD MAIN ROAD	COIMBATORE	REGULAR	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
8	ON SIRUVANI MAIN ROAD FROM D2 SELVAPURAM POLICE STATION TO KOVAI KONDATTAM AMUSEMENT PARK	COIMBATORE	REGULAR	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
9	ON SARADA MILL ROAD FROM SUNDARAPURAM TO PODANUR MAIN ROAD	COIMBATORE	REGULAR	160	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
10	ON SH275 (PUNJAI PULIYAMPATTI -BHAVANISAGAR HIGHWAY) WITHIN 3 KM FROM PUNJAI PULIYAMPATTI JUNCTION TOWARDS BHAVANISAGAR	ERODE	REGULAR	120	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
11	ON NH948 (SATHYAMANGALAM-PUNJAI PULIYAMPATTI HIGHWAY) FROM PUNJAI PULIYAMPATTI MUNICIPALITY OFFICE TO GOVT HIGH SCHOOL NALLUR ON RHS	ERODE	REGULAR	170	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
12	ON SH82 (SATHYAMANGALAM-BHAVANI HIGHWAY) WITHIN 4KM FROM GOVT HIGH SCHOOL KALAPATTI TOWARDS SATHYAMANGALAM	ERODE	REGULAR	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
13	ON SH166(ON PULIAMPATTI AVINASHI ROAD) BETWEEN KM STONE 36 TO SEVUR ROUNDANA	Tiruppur	REGULAR	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
14	ON SH 196, FROM KUNNATHUR POLICE STATION TO SEMMANDAMPALAYAM POLICE CHECKPOST	Tiruppur	REGULAR	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
15	ON NH 383, FROM NPR GROUP OF INSTITUTION TO NATHAM BYPASS OVERBRIDGE INTERSECTION (DINDIGUL - NATHAM - KOTTAMPATTY ROAD)	DINDIGUL	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
16	ON NH383 (DINDIGUL-NATHAM ROAD), FROM KM STONE 12 TO 18	DINDIGUL	REGULAR	170	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
17	ON SH74 (OLD KARUR ROAD) FROM GUJILIAMPARAI - ESANATHAM ROAD INTERSECTION TO MILESTONE 47	DINDIGUL	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
18	WITHIN TIRUPUR MUNICIPAL CORPORATION LIMITS ON VALAM ROAD	Tiruppur	REGULAR	165	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
19	ON SH97 TOWARDS DHARAPURAM WITHIN UDUMALPET MUNCIPAL LIMITS	Tiruppur	REGULAR	130	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
20	ON SH78A FROM MANNUR(RAMAPATTINAM ROAD INTERSECTION) TO KERALA BORDER (TN CHECK POST)	COIMBATORE	REGULAR	130	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
21	VILUPPANUR TO ALAGAPURI ON NH 744 RHS	VIRUDHUNAGAR	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
22	NAARANAMANGALAM TO RS MANGALAM ON NH536	RAMANATHAPURAM	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
23	VASUDEVANALLUR TO SIVAGIRI ON NH-744	TENKASI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
24 25	PERUMALPATTI TO OKKUR ON NH-36 WITHIN 3 KMS FROM SRIVILLIPUTHUR SUBJAIL TOWARDS RAJAPALAYAM ON	SIVAGANGA VIRUDHUNAGAR	REGULAR REGULAR	160 150	SC SC	CFS CFS	35 30	35 30	1225 900	0	0	DRAW OF LOTS DRAW OF LOTS	0	3
26	NH 744 BODINAYAKANUR TO MUNTHAL ON NH-85	THENI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
20	NAGERCOIL TO KUMARAPURAM ON NEW NH 944 (LHS)	KANYAKUMARI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
28	ERUKKILAIVELLUR TO ELLIYARPATHI ON NEW NH 744 A	MADURAI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
29	VK PUDUR TO KALUNEERKULAM ON SH-39B	TENKASI	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
30	PANTHALKUDI ON SHU	VIRUDHUNAGAR	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		e site (in Sq	(in M.)/Area . M.). *	applicant	e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8	1	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC / SC CC-1 SC PH ST ST CC-1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	Rs in Lakhs	Rs in Lakhs
31	SOLAMALAI COLLEGE OF ENGINEERING TO VARICHIYUR ON SIVAGANGA ROAD	MADURAI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
32	EDAIKAL JUNCTION TO MERIT PLOYTECHNIC COLLEDGE (ON SH 41 B)	TIRUNELVELI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
33	SANKANTHIRADU TO MUKKUDAL (ON SH 41 A)	TIRUNELVELI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
34	KOMBAI TO THEVARAM ON SH-100	THENI	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
35	SENKULAM TO PAPPAKUDI (ON SH 41 A)	TIRUNELVELI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
36	BURKITMANAGARAM TO KANSAPURAM (ON SH 75)	TIRUNELVELI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
37	AMBASAMUDRAM TO KOVILKULAM (ON SH 40 B)	TIRUNELVELI	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
38 39	DEVARKULAM TO MESIYAPURAM (ON SH 41) KANDUKONDANMANICKAM TO T VELANGUDI ON SH 42	TIRUNELVELI VIRUDHUNAGAR	REGULAR REGULAR	100 100	SC SC	CFS CFS	35 35	35 35	1225 1225	0	0	DRAW OF LOTS DRAW OF LOTS	0	3
40	RAILWAY SECOND GATE TO MEEALAVITTAN - WITHIN TUTICORIN	TUTICORIN	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
41	CORPORATION LIMITS KALAPPAKULAM TO KUVALAIKANNI ON SH-41	TENKASI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
41	CHINNAMANUR TO SUKKANGALPATTI ON SH-217	THENI	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
42	COURTALAM(5 FALLS ROAD JUNCTION) TO PIRANOOR ON SH-40	TENKASI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
44	WITHIN 2KM FROM FOUR ROADS JN IN METTUR TOWARDS MYSORE ROAD (ON SH)	Salem	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
45	SITU WITHIN 4KMS FROM VELAYUTHAMPALAYM NH 44 JUNCTION TOWARDS KOMBUPALAYAM ON VELAYUTHAMPALAYM - NOYYAL ROAD	Karur	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
46	BETWEEN SALAIKULLATHIRAMPATTI AND ADHANUR ON SH60	Dharmapuri	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
47	THALLY VILLAGE LIMITS ON NH. DENKANIKOTAI TALUK	Krishnagiri	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
48	FROM NAMAKKAL TO PARAMATHI BRIDGE (ON THIRUMANIMUTHARU RIVER) ON NH44 RIGHT HAND SIDE	Namakkal	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
49	BETWEEN MATHIKONPALAYAM AND S.KOTTAWUR (ON DHARMAPURI - TIRUPATTUR STATE HIGHWAY)	Dharmapuri	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
50	WITHIN 4 KMS FROM TIRUMANILAIYUR PERIYAR STATUE TOWARDS SUKKALIYUR ON SUKKALIYUR ROAD	Karur	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
51	RAYAKOTTAH TOWN WITHIN 2 KM FROM BUS STAND	Krishnagiri	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
52	FROM VELLIYANAI TO NH81 JUNCTION ON KARUR - GUJILIAMPARAI STATE HIGHWAY	Karur	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
53	WITHIN 3 KMS FROM GOVERNMENT HIGH SCHOOL, AYARMALAI TOWARDS KULITHALAI ON SH LHS	Karur	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
54	POCHAMPALLI TO MATHUR ON SH	Krishnagiri	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
55	CHITTALANDUR TO VASANTHAPURAM ON SH	Namakkal	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
56	GOVERNMENT ARTS COLLEGE (PRUCAS, EDAPPADI) TO DEVANNAGOUNDANUR (ON EDAPADI TO SANKARI SH)	Salem	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
57	PALLIPALAYAM TOWN SPB COLONY TO CAUVERY RAILWAY STATION VIA ODAPALLI BUS STOP	Namakkal	REGULAR	120	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
58	ERUMAPATTI TO PAVITHRAM ON SH	Namakkal	REGULAR	120	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
59	FROM UDAYAPATTI TO KARIPATTI (OLD NH)	Salem	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
60	ODAYANDAHALLI ON NH	Krishnagiri	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
61	BETWEEN SETTIKARAI AND PANANTHOPPU ON SH (RHS TOWARDS MORAPPUR)	Dharmapuri	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
62	THIRUVATHIGAI ON PANRUTI NEW BY-PASS ROAD	CUDDALORE	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
63	ON NH45C ON SETHIATHOPE NEW BY-PASS ROAD	CUDDALORE	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
64	ON NH45A BETWEEN VAIYUR AND VALLAMPADUGAI	CUDDALORE	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
65 66	ON NH45C FROM KUMARAKUDI TO VATTATHUR ON NH81 WITHIN 8 KM FROM C.THANDEESWARANALLUR TOWARDS	CUDDALORE	REGULAR REGULAR	150 150	SC SC	CFS CFS	35 35	35 35	1225 1225	0	0	DRAW OF LOTS	0	3
67	KUMARATCHI WITHIN CHIDAMBARAM TOWN LIMIT ON ODR (SIVAPURI- KAVARAPATTU MAIN	CUDDALORE	REGULAR	130	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
													-	
68 69	KALLAKURICHI BUS STAND TO AKT SCHOOL ON SH ATTIPPAKKAM TO KULADIPAMANGALAM ON SH (TIRUKOILUR TALUK)	Kallakurichi Kallakurichi	REGULAR REGULAR	140 100	ST SC	CFS CFS	35 35	35 35	1225 1225	0	0	DRAW OF LOTS DRAW OF LOTS	0	3
69 70	MURARBATH TO KULADIPAMANGALAM ON SH (TRUKOILUR TALUK) MURARBATH TO VANNANJUR LHS ON SH (KALLAKURICHI TALUKA)	Kallakurichi	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
10	INIONALDATE TO VAININAINJUE LES UN SE (KALLAKURIUEI TALURA)	railakuliiCili	REGULAR	100	36	059	50	30	1220	U	0	DRAW OF LUIS	U	1 3

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension e site (in Sq	(in M.)/Area . M.). *		e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC / SC CC-1 SC PH ST ST CC-1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	Rs in Lakhs	Rs in Lakhs
71	BETWEEN PERAMBALUR BUS STAND TO PERAMBALUR 4-ROAD JUNCTION ON LHS TOWARDS ARIYALUR	PERAMBALUR	REGULAR	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
72	FROM MANGALAMEDU POLICE STATION TO VALIKANDAPURAM SUB REGISTRAR OFFICE ON NH ON LHS	PERAMBALUR	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
73	BETWEEN NAGAMANGALAM AND SRIPURANDAN ON SH	ARIYALUR	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
74	KOLIYANUR VILLAGE TO KAPPIYAMPULIYUR VILLAGE ON NH 36	Viluppuram	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
75	KOLIYANUR TO KENGARAMPALAYAM VILLAGE ON NH 332	Viluppuram	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
76	ARASUR TO ANATTUR ON SH68	Viluppuram	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
77	SENNAKUNAM TO MUGAIYUR ON SH 7	Viluppuram	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
78	ON CHENNIMALAI UTHUKULI ROAD, WITHIN 2 KMS FROM CHENNIMALAI SUB POST OFFICE TOWARDS UTHUKULI	ERODE	RURAL	65	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
79	ON MDR 489(SARKARSAMAKULAM-THUDIYALUR ROAD) FROM SATHY ROAD JUNCTION TO VAIYAMAPALAYAM BUS STOP	COIMBATORE	RURAL	90	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
80	FROM THE JUNCTION ON ANAMALAI DHALI ROAD TO BLAKE MARYAMMAN TEMPLE KOTTUR	COIMBATORE	RURAL	80	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
81	ARUPPUKOTTAI TO THIRUVIRUNTHALPURAM ON ODR	VIRUDHUNAGAR	RURAL	70	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
82	ST THOMAS SCHOOL TO ST JOSEPH'S LEPROSY HOSPITAL ON MDR 484 (KOVILPATTI - THARUVAIKULAM ROAD)	TUTICORIN	RURAL	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
83	FROM PALAVANAHTAM TO MELAMDAI (IRRUKANKUDI) MDR 937	VIRUDHUNAGAR	RURAL	64	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
84	PALAMEDU TO CHINNAMANAYAKANPATTI VIA THETHOOR	MADURAI	RURAL	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
85	KABILAKURUCHI VILLAGE, PARAMTHIVELUR TALUK	NAMAKKAL	RURAL	48	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
86	SOLASIRAMANI TO KUNNAMALAI ON IRUMBUPALAM ROAD	NAMAKKAL	RURAL	55	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
87	VELLIMALAI VILLAGE (KALVARAYAN HILLS TALUK)	Kallakurichi	RURAL	48	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
88	LADAPURAM VILLAGE, PERAMBALUR TALUK	PERAMBALUR	RURAL	48	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
89	VELUR VILLAGE, PERAMBALUR TALUK ON PERAMBALUR-CHETTIKULAM ROAD	PERAMBALUR	RURAL	48	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
90	NALLANPILLAI PETRAL VILLAGE TO SETHAVARAI VILLAGE	Viluppuram	RURAL	60	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
91	WITHIN 5 KM FROM PUNITHA THOMAYAR MAKKAL MANDRAM TOWARDS THATCHANKURICHI ON ODR ROAD	TIRUCHIRAPPALLI	RURAL	48	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
92	ON SIRUVANI MAIN ROAD FROM KOVAI KONDATTAM AMUSEMENT PARK TO POOLUVAPATTI GOVT PRIMARY HEALTH CENTER	COIMBATORE	REGULAR	110	Open	сс	35	35	1225	32	12	BIDDING	30	5
93	ON SH 165(SOMANUR ROAD) FROM KARUMATHAMPATTI NH544 BRIDGE TO SOMANUR BUS STAND	COIMBATORE	REGULAR	110	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
94	ON NH 44 (OLD NH 7- FROM SALEM TOWARDS MADURAI), FROM KODAIROAD NH TOLL PLAZA TO TAFE ACCESS FACTORY ON LEFT HAND SIDE	DINDIGUL	REGULAR	205	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
95	ON SH 78 (POLLACHI- VALPARAI ROAD) FROM VALPARAI TNSTC DEPOT TO IYERPADI POST OFFICE	COIMBATORE	REGULAR	110	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
96	ON SH19(MEENKARAI ROAD) FROM KM STONE 96 TO KERALA BORDER ON LEFT HAND SIDE	COIMBATORE	REGULAR	110	Open	сс	35	35	1225	32	12	BIDDING	30	5
97	ON VEDAPATTI-THONDAMUTHUR-NARASEEPURAM ROAD FROM VEDAPATTI CASAGRAND VERDANT TO THONDAMUTHUR POLICE STATION	COIMBATORE	REGULAR	110	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
98	UKKADAM SUNGAM BYPASS ROAD FROM UKKADAM BUS STAND TO SUNGAM BRIDGE(VIA VALAANKULAM LAKE ROAD)	COIMBATORE	REGULAR	160	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
99	ON SH15 (ERODE SATHYAMANGALAM HIGHWAY) WITHIN 3KMS FROM CHITHODE SH15 & OLD NH JUNCTION TOWARDS SATHYAMANGALAM	ERODE	REGULAR	110	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
100	ON SH84 (ERODE KARUR ROAD) FROM KODUMUDI BUS STAND TO SALAIPUDUR JUNCTION	ERODE	REGULAR	110	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
101	ON SH37 ODDANCHATRAM - DHARAPURAM HIGHWAY TOWARDS DHARAPURAM FROM MILESTONE 50 TO MILESTONE 63 ON LHS	DINDIGUL	REGULAR	110	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
102	ON SH15 (GOBICHETTIPALYAM-ERODE HIGHWAY) WITHIN 4 KM FROM GOBICHETTIPALAYAM BUS STAND TOWARDS SATHYAMANGALAM	ERODE	REGULAR	160	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
103	ON NH 544 (SALEM- KOCHI HIGHWAY) FROM KILOMETER STONE 129 TO 137 ON RIGHT HAND SIDE	COIMBATORE	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension e site (in Sq	(in M.)/Area . M.). *		e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in KLs	6 SC / SC CC-1 SC PH ST ST CC-1 ST PH	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11 Rs in Lakhs	12 Rs in Lakhs
104	ON SH175 (BHAVANI -ANTHIYUR HIGHWAY) FROM SH82 (SATHYAMANGALAM- BHAVANI HIGHWAY) INTERSECTION TO SEMBULICHAMPALAYAM GOVT HIGH SCHOOL	ERODE	REGULAR	110	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
105	ON SHU74 FROM DINDIGUL DISTRICT EDUCATION OFFICE TO PALLAPATTI FLYOVER	DINDIGUL	REGULAR	105	Open CC-1	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
106	ON SH15 (SATHYAMANGALAM -ERODE HIGHWAY) WITHIN 5 KM FROM SATHYAMANGALAM BUS STAND TOWARDS GOBICHETTIPALAYAM	ERODE	REGULAR	160	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
107	ON SH152 (VADAMADURAI-ODDENCHATRAM ROAD) FROM MILESTONE 0 TO MILESTONE 3	DINDIGUL	REGULAR	105	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
108	ON SH15 (SATHYAMANGALAM - METTUPALYAM HIGHWAY) WITHIN 6.5 KM FROM BHAVANISAGAR NALL ROAD JUNCTION TOWARDS METTUPALAYAM	ERODE	REGULAR	110	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
109	ON SH273 (PERUNDURAI -MACCANAMCONBAI HIGHWAY ) WITHIN 7 KM FROM SH 15 (SATHYAMANGALAM-ERODE HIGHWAY) INTERSECTION TOWARDS KURUMANDUR	ERODE	REGULAR	110	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
110	ON SH15 (SATHYAMANGALAM - METTUPALYAM HIGHWAY) WITHIN 5 KM FROM SRT CORNER JUNCTION IN SATHYAMANGALAM TOWARDS METTUPALAYAM	ERODE	REGULAR	110	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
111	ON SH 192 FROM PORULUR ROAD INTERSECTION TO VAGARAI VILLAGE	DINDIGUL	REGULAR	105	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
112	ON SH174A (PALLADAM-KUNDADAM-DHARAPURAM ROAD) FROM KODUVAI ROAD PIRIVU TO SURIYANALLUR INTERSECTION ON RHS TOWARDS KUNDADAM	Tiruppur	REGULAR	110	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
113	ON SH19A (TIRUPUR- VIJAYAMANGLAM RD) BETWEEN UTHUKULI (SH 81 INTERSECTION) TO NADUPATTI VILLAGE (WITHIN TIRUPUR DISTRICT LIMITS)	Tiruppur	REGULAR	110	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
114	ON SH166 (AVINASHI PALLADAM HIGHWAY) FROM KILOMETER STONE 16 TO NH544 JUNCTION (SALEM KOCHI HIGHWAY) TOWARDS AVINASHI ON LHS	Tiruppur	REGULAR	110	Open CC-2	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
115	ON RM COLONY MAIN ROAD WITHIN DINDIGUL MUNICIPAL LIMITS	DINDIGUL	REGULAR	110	OBC CC-1	DC	20	20	400	32	55	DRAW OF LOTS	15	4
116	ON SH173 (ERODE NASIYANUR THINGALUR HIGHWAY) FROM CSI CHURCH, NASIYANUR TO GOVT. HIGHER SECONDARY SCHOOL, PETHAMPALAYAM	ERODE	REGULAR	110	SC CC-1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
117	ON SH96 (ERODE PERUNDURAI HIGHWAY), ON LEFT HAND SIDE WITHIN 2.5 KMS FROM PERUNDURAI POLICE STATION CIRCLE TOWARDS ERODE	ERODE	REGULAR	110	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
118	ON SH19 (POLLACHI MEENKARAI ROAD) FROM VIVAHA WEDDING MAHAL AT NANJEGOUNDANPUDUR TO ANAMALAI ROAD INTERSECTION	COIMBATORE	REGULAR	120	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
119	ON SH 87 FROM P VADUGAPALAYAM JUNCTION TO KM STONE 43 ON RHS TOWARDS SITHAMPALAYAM	Tiruppur	REGULAR	110	OBC	сс	35	35	1225	32	12	BIDDING	30	4
120	ON SH81 (GOBICHETTIPALAYAM–KUNNATHUR HIGHWAY) WITHIN 2KM FROM GETTICHEVIYUR JUNCTION TOWARDS KUNNATHUR	ERODE	REGULAR	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
121	ON SH152(VADAMADURAI-ODDENCHATRAM ROAD) FROM KM STONE 33 TO 37	DINDIGUL	REGULAR	120	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
122	PALANI WITHIN MUNICIPAL LIMITS FROM PALANI TALUK OFFICE TO BVB SCHOOL ON SHU-108	DINDIGUL	REGULAR	120	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
123	POLLACHI TOWN WITHIN MUNICIPAL LIMITS (ON NEW SCHEME ROAD/KAMARAJ ROAD/NEHRU STREET/UTHUKAD ROAD)	COIMBATORE	REGULAR	120	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
124	ON SH96 (ERODE PERUNDURAI HIGHWAY), WITHIN 2KMS FROM FROM THINDAL MURUGAN TEMPLE TOWARDS PERUNDURAI ON LHS	ERODE	REGULAR	120	Open	сс	35	35	1225	32	12	BIDDING	30	5
125	ON SH 73(SHOLAVANDAN-PALLAPATTI ROAD), FROM PALLAPATTI VILLAGE TO SILUKUVARAPATTI VILLAGE	DINDIGUL	REGULAR	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
126	ON NH948 (SATHYAMANGALAM-PUNJAI PULIYAMPATTI HIGHWAY) FROM PUNJAI PULIYAMPATTI MUNICIPALITY OFFICE TO GOVT HIGH SCHOOL NALLUR ON LHS	ERODE	REGULAR	210	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension e site (in Sq	(in M.)/Area . M.). *		e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in KLs	6 SC / SC CC-1 SC PH ST ST CC-1 ST PH	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11 Rs in Lakhs	12 Rs in Lakhs
127	ON SH 21(DHARAPURAM POLLACHI ROAD) TOWARDS POLLACHI FROM SH 37 (TIRUPPUR ODDANCHATRAM ROAD INTERSECTION) TO EB SUBSTATION- DHARAPURAM	Tiruppur	REGULAR	120	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
128	ON SH 83 FROM SH 37 JUNCTION (TIRUPPUR ODDANCHATRAM ROAD INTERSECTION) TO SARA NURSING COLLEGE MANAKKADAVU	Tiruppur	REGULAR	110	Open CC-1	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
129	ON SH84 (ERODE KARUR HIGHWAY), ON RIGHT HAND SIDE WITHIN 5 KMS FROM ERODE RING ROAD JUNCTION TOWARDS GANAPATHIPALAYAM	ERODE	REGULAR	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
130	ON SH152 (VADAMADURAI - VEDASANDUR - ODDANCHATRAM ROAD)FROM MILESTONE 20 TO MILESTONE 23	DINDIGUL	REGULAR	120	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
131	ON SH96 (CHENNIMALAI PERUNDURAI HIGHWAY), WITHIN 3KMS FROM CHENNIMALAI POLICE STATION TOWARDS PERUNDURAI	ERODE	REGULAR	120	Open	сс	35	35	1225	32	12	BIDDING	30	5
132	ON SH96 (PERUNDURAI - CHENNIMALAI HIGHWAY), ON LEFT HAND SIDE FROM INGUR GOVT SCHOOL UPTO SELVA KIDS WEARS INDIA PVT LTD	ERODE	REGULAR	130	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
133	ON SH83A ( KANGEYAM- NATHAKADAYUR HIGHWAY) WITHIN 6KM FROM NH81 (COIMBATORE- TRICHY HIGHWAY) INTERSECTION TOWARDS NATHAKADAYUR	Tiruppur	REGULAR	120	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
134	ON SH15 (SATHYAMANGALAM-GOBICHETTIPALAYAM HIGHWAY ) WITHIN 8KM FROM SH15A (GOBICHETTIPALAYAM -NAMBIYUR-SEVUR HIGHWAY) INTERSECTION TOWARDS SATHYAMANGALAM	ERODE	REGULAR	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
135	CHERANGODE VILLAGE ON GUDALUR - SULTHAN BATHERY ROAD ( ON SH12)	NILGIRIS	REGULAR	140	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
136	ON SH 163 (COCHIN FRONTIER ROAD) FROM SELAKKARICHEL TO PAPPAMPATTI	COIMBATORE	REGULAR	140	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
137	ON SH74 (OLD KARUR ROAD)FROM MILESTONE 47 TO D.GUDALUR VILLAGE	DINDIGUL	REGULAR	130	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
138	ON SH 274 (KANJIKOIL KAVINDAPADI HIGHWAY), WITHIN 2KMS FROM SBI BANK KANJIKOIL TOWARDS KAVINDAPADI	ERODE	REGULAR	110	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
139	ON SH87(UDUMALPET-GUDIMANGALAM ROAD) FROM UDUMALPET (NH 83 JUNCTION) TO CHINNAVEERAMPATTI KALIAMMAN TEMPLE	Tiruppur	REGULAR	140	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
140	ON SH 37 (TIRUPPUR ODDANCHATRAM ROAD) FROM SH 21 (POLLACHI KARUR ROAD) INTERSECTION TO SH 83A (DHARAPURAM KANGEYAM ROAD) INTERSECTION ON EITHER SIDE	Tiruppur	REGULAR	140	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
141	ON SH 21(DHARAPURAM-KARUR HIGHWAY) FROM MULANUR BUSSTAND TO MULANUR MODEL SCHOOL ON LHS	COIMBATORE	REGULAR	110	OBC PH	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
142	ON NH544H (ERODE - BHAVANI ROAD), FROM R N PUDUR BUS STOP TO NH544 (SALEM COIMBATORE HIGHWAY)	ERODE	REGULAR	160	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
143	ON SHU111 - KOVAI MAIN ROAD (OLD NH), ON LEFT HAND SIDE WITHIN 4 KMS FROM PERUNDURAI OLD BUS STAND ROUNDANA TOWARDS VIJAYAMANGALAM	ERODE	REGULAR	140	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
144	WITHIN COIMBATORE CORPORATION LIMITS ON NALLAMPALAYAM ROAD FROM KAVUNDAMPALAYAM BRIDGE TO MANIYAKARAMPALAYAM CORPORATION GOVT SCHOOL (VIA MANICKAM STREET- SANGARALINGANAR ROAD)	COIMBATORE	REGULAR	152	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
145	ON SH 19(POLLACHI MEENKARAI ROAD) FROM POLLACHI MARKET ROAD MASJID TO NACHIYAR VIDYALAYAM -ZAMIN UTHUKULI	COIMBATORE	REGULAR	155	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
146	ON NH181 (COIMBATORE-GUNDLUPETE HIGHWAY) FROM KM STONE NO 35 TO 40 ON LEFT HAND SIDE	COIMBATORE	REGULAR	155	Open	сс	35	35	1225	32	12	BIDDING	30	5
147	ON SH 267 (PERUNDURAI ARACHALUR HIGHWAY) MUKASI ANUMANPALLI B VILLAGE	ERODE	REGULAR	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
148	ON OBSERVATORY ROAD, FROM BSNL OFFICE TO KODAIKANAL SOLAR OBSERVATORY MUSEUM	DINDIGUL	REGULAR	155	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
149	ON SH 189 (MUTHUR-KODUMUDI HIGHWAY) WITHIN 2 KM FROM MUTHUR BUSSTAND TOWARDS KODUMUDI LHS	Tiruppur	REGULAR	155	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension site (in Sq	(in M.)/Area . M.). *		e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC / SC CC-1 SC PH ST ST CC-1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	Rs in Lakhs	Rs in Lakhs
150	WITHIN TIRUPPUR MUNICIPAL LIMITS (ON PALAVANCHIPALAYAM RING ROAD FROM VEERAPANDI PIRIVU AT PALLADAM ROAD JUNCTION TO VEERAPANDI BUS STOP)	Tiruppur	REGULAR	155	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
151	ON SH19A (VIJAYAMANGALAM TIRUPPUR HIGHWAY) WITHIN 2KMS FROM VIJAYAMANGALAM NH544 JUNCTION TOWARDS TIRUPPUR (WITHIN ERODE DISTRICT)	ERODE	REGULAR	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
152	ODDANCHATRAM OUTER BYPASS ON NH83	DINDIGUL	REGULAR	155	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
153	WITHIN TIRUPPUR MUNICIPAL LIMITS (ON MDR1038 SEVANTHAMPALAYAM ROAD FROM NALLUR JUNCTION TO DHARAPURAM ROAD JUNCTION)	Tiruppur	REGULAR	155	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
154	ON SH21(POLLACHI-DHARAPURAM ROAD) FROM NH 83 JUNCTION TO POOSARIPATTI BUS STOP	COIMBATORE	REGULAR	110	Open CC-1	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
155	WITHIN TIRUPPUR MUNICIPAL LIMITS (FROM VALAM BRIDGE JUNCTION TO KANGEYAM ROAD JUNCTION VIA KOMBAITHOTTAM)	Tiruppur	REGULAR	155	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
156	ON ROAD CONNECTING SH78A (POLLACHI PALAKKAD ROAD) AND SH19 (MEENKARAI ROAD) FROM NALLUR TO ZAMIN UTHUKULI VIA KRISHNA ANAICUT ROAD	COIMBATORE	REGULAR	110	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
157	WITHIN TIRUPPUR MUNICIPAL LIMITS (ON KOVILVAZHI VEERAPANDI ROAD FROM NH381 (AVINASHI-AVINASHIPALAYAM HIGHWAY) INTERSECTION AT KOVILVAZHI TO PALAVANJIPALAYAM RING ROAD JUNCTION)	Tiruppur	REGULAR	155	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
158	WITHIN TIRUPPUR MUNICIPAL LIMITS (ON MUDALIPALAYAM-SIDCO ROAD)	Tiruppur	REGULAR	155	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
159	WITHIN TIRUPPUR MUNICIPAL LIMITS ON IDUVAMPALAYAM ROAD FROM MANGALAM ROAD(SH169) INTERSECTION TO IDUVAMPALAYAM GOVT HIGH SCHOOL ON RHS	Tiruppur	REGULAR	155	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
160	ON SH 19 (ON POLLACHI HIGHWAY) BETWEEN P VADUGAPALAYAM JUNCTION TO KM STONE 39	Tiruppur	REGULAR	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
161	WITHIN TIRUPPUR MUNICIPAL LIMITS (ON TIRUPPUR- KANGEYAM HIGHWAY(SH172) FROM CSI CHRIST CHURCH NALLUR TOWARDS KANGEYAM)	Tiruppur	REGULAR	155	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
162	ON NH381A (ON MUTHUR TO VELLAKOIL HIGHWAY FROM V.METTUPALAYAM EB SUBSTATION TO NH81 INTERSECTION AT VELLAKOIL)	Tiruppur	REGULAR	155	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
163	ON 15 VELAMPALAYAM RING ROAD BETWEEN 15 VELAMPALAYAM MAIN RD INTERSECTION TO INDIAN PUBLIC SCHOOL	Tiruppur	REGULAR	155	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
164	ON SH265 (PERUNDURAI KANJIKOIL KAVINDAPADY HIGHWAY) WITHIN 2 KMS FROM ANNA SILAI IN PERUNDURAI TOWN TOWARDS KANJIKOIL	ERODE	REGULAR	110	OBC CC-1	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
165	ON SH15(OOTY-KOTHAGIRI ROAD) FROM HIGHLAND ACCORD HOTEL - DODDABETTA JUNCTION TO KATTABETTU	NILGIRIS	REGULAR	120	SC CC-1	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
166	WITHIN TIRUPUR MUNICIPAL CORPORATION LIMITS FROM CHETTIPALAYAM TOWARDS THIRUMURUGAN POONDI ON MDR1038	Tiruppur	REGULAR	155	Open PH	DC	20	20	400	32	75	DRAW OF LOTS	15	5
167	ON SH 162(PODANUR-CHETTIPALAYAM ROAD) FROM PODANUR RAILWAY STATION ROAD TO NH 544(L&T BYPASS) BRIDGE	COIMBATORE	REGULAR	160	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
168	WITHIN TIRUPUR MUNICIPAL CORPORATION LIMITS ON KANNAGI NAGAR MAIN ROAD(ON 60 FEET ROAD)	Tiruppur	REGULAR	155	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
169	ON SH165 BETWEEN KARANAMPETTAI NH81 (TRICHY ROAD) INTERSECTION TO KM STONE 19 AT SAMALAPURAM	Tiruppur	REGULAR	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
170	ON NH381 (AVINASHI-AVINASHIPALAYAM HIGHWAY) FROM KM STONE 21 TO 24	Tiruppur	REGULAR	155	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
171	ON SH 162(PODANUR-CHETTIPALAYAM ROAD) FROM NH 544(L&T BYPASS) BRIDGE TO CHETTIPALAYAM LOTUS TEMPLE	COIMBATORE	REGULAR	160	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
172	ON NH 181 (COIMBATORE GUDALUR HIGHWAY) FROM KM STONE NO 100 TO 115	NILGIRIS	REGULAR	156	Open	сс	20	20	400	32	12	BIDDING	30	5
173	ON MDR 1071(UDHAGAI-AVALANCHI-KUNDHA-THAISHOLA ROAD) FROM OOTY TO GOOD SHEPHERD INTERNATIONAL SCHOOL	NILGIRIS	REGULAR	160	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
174	ON SH19 (POLLACHI PALLADAM HIGHWAY) FROM VIJEY MAHAL RASAKKAPALAYM TO NEGAMAM BUS STAND ROAD JUNCTION	COIMBATORE	REGULAR	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension site (in Sq	(in M.)/Area <sub>I</sub> . M.). *		e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in KLs	6 SC / SC CC-1 SC PH ST ST CC-1	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation	9b Estimated fund required for development of infrastructure at	10 Draw of Lots / Bidding	11 Rs in Lakhs	12 Rs in Lakhs
175	ON SIDCO - SUGUNAPURAM ROAD (BETWEEN PALAKKAD MAIN ROAD AND	COIMBATORE	REGULAR	160	ST PH OBC	DC	20	20	400	of RO 32	<b>RO</b> 75	DRAW OF LOTS	15	4
176	MADUKKARAI MAIN ROAD ON KOVAIPUDHUR MAIN ROAD FROM VLB ARTS COLLEGE TO ASHRAM MATRIC SCHOOL	COIMBATORE	REGULAR	160	Open	СС	20	20	400	32	12	BIDDING	30	5
177	ON SH170 (PUNJAI PULIYAMPATTI-SIRUMUGAI HIGHWAY) WITHIN 2 KM FROM PUNJAI PULIYAMPATTI JUNCTION TOWARDS SIRUMUGAI	ERODE	REGULAR	110	Open CC-1	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
178	ON SH 15 FROM BAGAVAN MAHAVIR CORPORATION SCHOOL TO SSVM SCHOOL ROAD JUNCTION	COIMBATORE	REGULAR	120	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
179	ON PANKAJA MILL ROAD FROM PULIYAKULAM TEMPLE TO RAMANATHAPURAM	COIMBATORE	REGULAR	160	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
180	ON VADAVALLI-THODAMUTHUR ROAD FROM CHINMAYA VIDYALAYA MATRICULATION SCHOOL TO DELHI PUBLIC SCHOOL	COIMBATORE	REGULAR	160	Open	сс	20	20	400	32	12	BIDDING	30	5
181	ON SH 167 FROM VADAVALLI BUS STAND TO BHARATHIYAR UNIVERSITY (WITHIN CORPORATION LIMITS)	COIMBATORE	REGULAR	160	Open	сс	20	20	400	32	12	BIDDING	30	5
182	ON NEELIKONAMPALAYAM MAIN ROAD-SINGANALLUR (WITHIN COIMBATORE CORPORATION LIMITS)	COIMBATORE	REGULAR	160	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
183	ON SH 37 ( (TIRUPPUR ODDANCHATRAM ROAD) TOWARDS DINDIGUL FROM DR.NALANI INSTITUTE OF TECHNOLOGY TO CANARA BANK SALAKKADAI ON RHS	Tiruppur	REGULAR	125	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
184	ON SH 167 FROM TNAU (TAMIL NADU AGRICULTURAL UNIVERSITY) TO VADAVALLI BUS STAND	COIMBATORE	REGULAR	160	Open	сс	20	20	400	32	12	BIDDING	30	5
185	ON NH 544 (FROM SALEM-TOWARDS KOCHI HIGHWAY) FROM KILOMETER STONE 150 TO 164 ON LEFT HAND SIDE	COIMBATORE	REGULAR	160	Open	сс	35	35	1225	32	12	BIDDING	30	5
186	ON NH 83( FROM COIMBATORE TOWARDS POLLACHI) FROM KARPAGAM ARTS & SCIENCE COLLEGE TO COIMBATORE MARINE COLLEGE ON LEFT HAND SIDE	COIMBATORE	REGULAR	160	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
187	ON SH96 (KANGEYAM- ERODE HIGHWAY) WITHIN 5 KM FROM KANGEYAM ROUNDANA TOWARDS ERODE	Tiruppur	REGULAR	130	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
188	ON NH 544 (FROM SALEM-TOWARDS KOCHI HIGHWAY) FROM KILOMETER STONE 150 TO 164 ON RIGHT HAND SIDE	COIMBATORE	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
189	ON SH 164(THADAGAM ROAD) FROM EDAYARPALAYAM JUNCTION TO KNG PUDUR PIRIVU	COIMBATORE	REGULAR	160	Open	сс	20	20	400	32	12	BIDDING	30	5
190	ON AVINASHI ROAD FROM KMCH BUS STOP TO CHINNIYAMPALAYAM BUS STOP- LHS	COIMBATORE	REGULAR	160	OBC	сс	20	20	400	32	12	BIDDING	30	4
191	ON SH15(OOTY-KOTHAGIRI ROAD) FROM CHARING CROSS JUNCTION TO HIGHLAND ACCORD HOTEL -DODDABETTA JUNCTION	NILGIRIS	REGULAR	130	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
192	ON NH 544 (FROM SALEM-TOWARDS KOCHI HIGHWAY) FROM KILOMETER STONE 169 TO 177 ON LEFT HAND SIDE	COIMBATORE	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
193	WITHIN CORPORATION LIMITS ON TRICHY ROAD FROM ALVERNIA CONVENT SCHOOL TO E1 SINGANALLUR POLICE STATION SIGNAL ON LHS	COIMBATORE	REGULAR	160	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
194	ON NH 544 (FROM SALEM-TOWARDS KOCHI HIGHWAY) FROM KILOMETER STONE 178 TO 182 ON RIGHT HAND SIDE	COIMBATORE	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
195	ON NH 544 (FROM SALEM-TOWARDS KOCHI HIGHWAY) FROM KILOMETER STONE 169 TO 177 ON RIGHT HAND SIDE	COIMBATORE	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
196	ON MDR 882(MANICKAPURAM ROAD) FROM PALLADAM (NH81 INTERSECTION) TOWARDS POOMALUR PRIMARY HEALTH CENTER(WITHIN PALLADAM MUNICIPAL LIMITS)	Tiruppur	REGULAR	130	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
197	WITHIN CORPORATION LIMITS ON PALAKKAD MAIN ROAD FROM AATHUPALAM BRIDGE TO KOVAIPUDUR PIRIVU	COIMBATORE	REGULAR	160	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
198	ON NH 83( FROM COIMBATORE TOWARDS POLLACHI) FROM KARPAGAM ARTS & SCIENCE COLLEGE TO COIMBATORE MARINE COLLEGE ON RIGHT HAND SIDE	COIMBATORE	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
199	ON NH 544 (SALEM- KOCHI HIGHWAY) FROM KILOMETER STONE 129 TO 137 ON LEFT HAND SIDE	COIMBATORE	REGULAR	160	Open	сс	35	35	1225	32	12	BIDDING	30	5

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension site (in Sq	(in M.)/Area <sub>I</sub> . M.). *		e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in KLs	6 SC / SC CC-1 SC PH ST ST CC-1 ST PH	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11 Rs in Lakhs	12 Rs in Lakhs
200	ON SH156, FROM VIVEKANANDA VIDYALAYA MATRICULATION HIGHER SECONDARY SCHOOL TO SILVER CASCADE FALLS	DINDIGUL	REGULAR	140	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
201	ON NH 83( FROM COIMBATORE TOWARDS POLLACHI) FROM COIMBATORE MARINE COLLEGE TO KINATHUKADAVU BUS STAND ON LEFT HAND SIDE	COIMBATORE	REGULAR	160	OBC	сс	35	35	1225	32	12	BIDDING	30	4
202	ON GANDHIMANAGAR ROAD-FROM PEELAMEDU RAILWAY OVERBRIDGE TO THANEERPANDAL-VILANKURUCHI ROAD JUNCTION	COIMBATORE	REGULAR	160	Open	СС	20	20	400	32	12	BIDDING	30	5
203	ON SH165 BETWEEN KARANAMPETTAI (NH81 INTERSECTION) TO KARADIVAVI (SH163 INTERSECTION)	Tiruppur	REGULAR	110	Open CC-1	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
204	ON SH78 BETWEEN KM STONE 6 AND 9 ON LHS (TOWARDS VALPARAI)	COIMBATORE	REGULAR	160	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
205	ON SHU-10 DINDIGUL-TRICHY ROAD FROM RAIL OVER BRIDGE NEAR KALPAVIRUKSHA APARTMENTS TO TRICHY ROAD ROUNDANA	DINDIGUL	REGULAR	140	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
206	ON AVINASHI ROAD FROM KMCH BUS STOP TO CHINNIYAMPALAYAM BUS STOP RHS	COIMBATORE	REGULAR	160	Open	сс	20	20	400	32	12	BIDDING	30	5
207	ON NH 81 (FROM SULUR TOWARDS COIMBATORE) FROM SULUR POLICE STATION TO L&T BYPASS INTERSECTION ON LEFT HAND SIDE	COIMBATORE	REGULAR	160	Open	сс	35	35	1225	32	12	BIDDING	30	5
208	ON SH78A(POLLACHI- PALAKKAD ROAD) FROM POLLACHI BUS STAND TO KM STONE 4	COIMBATORE	REGULAR	160	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
209	ON SH83 (PALANI - DHARAPURAM HIGHWAY) TOWARDS PALANI FROM PULIYAMPATTI VILLAGE TO MILESTONE 1	DINDIGUL	REGULAR	210	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
210	ON NH 81 (FROM SULUR TOWARS COIMBATORE) FROM SULUR POLICE STATION TO L&T BYPASS INTERSECTION ON RIGHT HAND SIDE	COIMBATORE	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
211	ON NH 83( FROM COIMBATORE TOWARDS POLLACHI) FROM COIMBATORE MARINE COLLEGE TO KINATHUKADAVU BUS STAND ON RIGHT HAND SIDE	COIMBATORE	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
212	ON NH 785E (FROM NATHAM TOWARDS THUVARANKURICHI ROAD), FROM KM STONE 26 TO 32 ON RIGHT HAND SIDE	DINDIGUL	REGULAR	160	OBC	сс	35	35	1225	32	12	BIDDING	30	4
213	ON SH 78 (POLLACHI-ALIYAR ROAD) FROM POLLACHI GOVERNMENT MUNICIPAL GIRLS SCHOOL TO CANARA BANK ZAMIN KOTTAMPATTI	COIMBATORE	REGULAR	160	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
214	ANUPPARPALAYAM PUDUR (WITHIN TIRUPUR MUNICIPAL CORPORATION LIMITS NOT ON NH)	Tiruppur	REGULAR	155	SC CC-1	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
215	ON SH172 (TIRUPPUR-KANGEYAM HIGHWAY) FROM KM STONE 22 TO 26 ON RHS ( SIVAN MALAI TOWARDS KANGEYAM BUS STAND ON RIGHT SIDE)	Tiruppur	REGULAR	140	Open CC-2	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
216	ON SH 196(ON TIRUPUR-PERUMANALLUR HIGHWAY) FROM KANAKAMPALAYAM PIRIVU INTERSECTION TO PERUMANALLUR SH INTERSECTION ON LHS TOWARDS PERUMANALLUR	Tiruppur	REGULAR	110	OBC CC-1	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
217	ON NH 83 NEW BYPASS FROM MADATHUKULAM TO KANNAMANAYCKNOOR	Tiruppur	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
218	WITHIN TIRUPPUR MUNICIPAL LIMITS (ON SH172 (TIRUPPUR- KANGEYAM HIGHWAY) FROM TNSTC BUS DEPOT TO CSI CHRIST CHURCH NALLUR -RHS TOWARDS KANGEYAM)	Tiruppur	REGULAR	155	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
219	ON NH 383, FROM KURUNJI AGRO PRODUCT FACTORY TO NPR GROUP OF INSTITUTIONS (DINDIGUL - NATHAM - KOTTAMPATTY ROAD)	DINDIGUL	REGULAR	160	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
220	ON NH 785E (FROM NATHAM TOWARDS THUVARANKURICHI ROAD), FROM KM STONE 26 TO 32 ON LEFT HAND SIDE	DINDIGUL	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
221	ON ERODE RING ROAD ON LEFT HAND SIDE WITHIN 1KM FROM MODAKKURICHI JUNCTION TOWARDS PERUNDURAI	ERODE	REGULAR	160	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
222	ON NEW NH BYPASS FROM NH 183(DINDIGUL-THENI HIGHWAY) INTERSECTION TO NH44 (OLD NH7) INTERSECTION ON RIGHT HAND SIDE	DINDIGUL	REGULAR	160	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
223	ON NH83 DINDIGUL - TRICHY HIGHWAY TOWARDS TRICHY FROM MILESTONE 415 (NEAR PANNAI MATRICULATION SCHOOL) TO MILESTONE 404 (NEAR TO MS HOSPITAL)	DINDIGUL	REGULAR	155	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
224	WITHIN ERODE MUNICIPAL LIMITS (ON ERODE-KODUMUDI-KARUR ROAD, FROM SOLAR ROUNDANA TO ERODE SOUTH NEWBUSTAND SOLAR)	ERODE	REGULAR	160	Open	сс	20	20	400	32	12	BIDDING	30	5

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension e site (in Sq	(in M.)/Area <sub>I</sub> . M.). *		e arranged by the : (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8	1	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC / SC CC-1 SC PH ST ST CC-1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	Rs in Lakhs	Rs in Lakhs
225	WITHIN ERODE MUNICIPAL LIMITS (ON LEFT HAND SIDE FROM MOOLAPALAYAM TRAFFIC CIRCLE TO RING ROAD JUNCTION ON MUTHUR ROAD VIA SOLAR)	ERODE	REGULAR	160	Open	DC	30	30	900	32	75	DRAW OF LOTS	15	5
226	ON NEW NH FROM SEMMADAIPATTY PIRIVU ON NH83 TO KANNIVADI VILLAGE	DINDIGUL	REGULAR	160	OBC	сс	35	35	1225	32	12	BIDDING	30	4
227	ON AVARAMPALAYAM -PN PALAYAM ROAD FROM SRI RAMAKRISHNA HOSPITAL TO GANAPATHY MAIN ROAD JUNCTION	COIMBATORE	REGULAR	155	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
228	WITHIN ERODE MUNICIPAL LIMITS (ON ERODE-SATHYAMANGALAM ROAD, FROM ERODE CENTRAL BUS STAND TO PERIYASEMUR POST OFFICE	ERODE	REGULAR	160	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
229	ON SH81(ON GOBICHETTIPALAYAM-UTHUKULI-KANGEYAM ROAD) BETWEEN KM STONE 18 TO KM STONE 22	Tiruppur	REGULAR	110	Open CC-1	сс	35	35	1225	32	12	BIDDING	30	5
230	ON SH192 FROM THOPPAMPATTI TO MELKARAIPATTI ON KEERANUR VILLAGE	DINDIGUL	REGULAR	160	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
231	ON SH15 (SATHYAMANGALAM -ERODE HIGHWAY) WITHIN 5 KM FROM KAVINDAPADI JUNCTION TOWARDS ERODE	ERODE	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
232	WITHIN ERODE MUNICIPAL LIMITS (ON CUVERY ROAD FROM CAUVERY RIVER BRIDGE TO THIRUNAGAR COLONY ROAD JUNCTION ON LHS)	ERODE	REGULAR	160	Open	DC	30	30	900	32	75	DRAW OF LOTS	15	5
233	WITHIN ERODE MUNICIPAL LIMITS (WITHIN 5KMS FROM ERODE GOVERNMENT HOSPITAL)	ERODE	REGULAR	160	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
234	ON NH381A (ON ERODE - MUTHUR - VELLAKOIL HIGHWAY ROAD), WITHIN 7 KMS FROM MODAKURICHI PANCHAYATH UNION OFFICE TOWARDS MUTHUR	ERODE	REGULAR	160	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
235	WITHIN ERODE MUNICIPAL LIMITS (ON ERODE-BHAVANI ROAD, ON LEFT HAND SIDE FROM IOB BANK REGIONAL OFFICE TO ERODE MUNICIPAL ZONE 1 OFFICE)	ERODE	REGULAR	160	Open	сс	30	30	900	32	12	BIDDING	30	5
236	ON NEW NH 83 FROM THIPPAMPATTI(INTERSECTION WITH NEW DINDIGUL NH 83) TO KEDIMEDU (ERISANAMPATTI ROAD INTERSECTION) ON RHS	COIMBATORE	REGULAR	160	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
237	ON NH381A (ON ERODE - MUTHUR - VELLAKOIL HIGHWAY ROAD), ON LEFT HAND SIDE FROM ERODE RING ROAD JUNCTION TO CHINNIYAMPALAYAM KVB BANK JUNCTION	ERODE	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
238	ON ERODE RING ROAD ON LEFT HAND SIDE FROM VELLODE ROAD JUNCTION TO PERUNDURAI ROAD JUNCTION	ERODE	REGULAR	160	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
239	ON SH15A (NAMBIYUR -SEVUR HIGHWAY) WITHIN 2 KM FROM NAMBIYUR BUS STAND TOWARDS SEVUR	ERODE	REGULAR	160	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
240	ON TRICHY ROAD FROM GOVERNMENT HOSPITAL BUS STOP TO ALVERNIA CONVENT SCHOOL	COIMBATORE	REGULAR	170	SC PH	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
241	ON SH81 (PADIYUR-UTHUKULI HIGHWAY) WITHIN 5 KM FROM SH172 (TIRUPPUR- KANGEYAM HIGHWAY) INTERSECTION TOWARDS UTHUKULI	Tiruppur	REGULAR	110	OBC PH	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
242	ON SH81 (GOBICHETTIPALAYAM-KUNNATHUR HIGHWAY) WITHIN 4 KM FROM GOBICHETTIPALAYAM BUS STAND TOWARDS KOLAPPALUR	ERODE	REGULAR	160	Open	сс	35	35	1225	32	12	BIDDING	30	5
243	ON SH82 (SATHYAMANGALAM -BHAVANI HIGHWAY) FROM NH948 (COIMBATORE -MYSORE HIGHWAY) INTERSECTION TO DG PUDUR JUNCTION	ERODE	REGULAR	160	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
244	ON SH81 FROM UTHUKULI JUNCTION(SH19A INTERSECTION) WITHIN 5KM FROM SH19A INTERSECTION (TIRUPUR VIJAYAMANGALAM ROAD) TOWARDS PADIYUR	Tiruppur	REGULAR	160	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
245	WITHIN ERODE MUNICIPAL LIMITS (ON ERODE-SATHYAMANGALAM ROAD, ON LEFT HAND SIDE FROM PERIYASEMUR POST OFFICE TO GOVT. PRIMARY HEALTH CENTER, CHITHODE)	ERODE	REGULAR	160	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
246	ON BHAVANI NEW BYPASS	ERODE	REGULAR	160	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
247	ON NH948 (SATHYAMANGALAM-COIMBATORE HIGHWAY) WITHIN 5 KM FROM SATHYAMANGALAM TNSTC BUS DEPOT TOWARDS PUNJAI PULIYAMPATTI ON LHS	ERODE	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
248	ON NH 381(ON TIRUPUR-AVINASHI ROAD)FROM THIRUMURUGAN POONDI BUS STOP TO AVINASHI BUS STAND TOWARDS AVINASHI ON LHS	Tiruppur	REGULAR	160	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension site (in Sq	(in M.)/Area <sub>1</sub> . M.). *		e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in KLs	6 SC / SC CC-1 SC PH ST ST CC-1 ST PH	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11 Rs in Lakhs	12 Rs in Lakhs
249	WITHIN ERODE MUNICIPAL LIMITS (ON ERODE-PERUNDURAI ROAD, ON RIGHT HAND SIDE FROM GOVERNMENT HOSPITAL ROUNDANA TO THINDAL MURUGAN TEMPLE)	ERODE	REGULAR	160	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
250	WITHIN TIRUPPUR MUNICIPAL LIMITS (AVINASHI- AVINASHIPALAYAM HIGHWAY FROM USHA THEATRE TO KOVILVAZHI NEW BUS STAND)	Tiruppur	REGULAR	160	Open	DC	30	30	900	32	75	DRAW OF LOTS	15	5
251	FROM NAVA INDIA SIGNAL TO SIDHAPUDUR AYYAPPAN TEMPLE VIA SRI RAMAKRISHNA DENTAL COLLEGE ROAD	COIMBATORE	REGULAR	160	Open	сс	20	20	400	32	12	BIDDING	30	5
252	WITHIN TIRUPUR MUNICIPAL CORPORATION LIMITS FROM KM STONE 1 ON SH19A TOWARDS UTHUKULI (RHS MOVING TOWARDS UTHUKULI)	Tiruppur	REGULAR	160	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
253 254	ON NH 381 (AVINASHI-TIRUPUR ROAD) FROM KM STONE 3 TO 8 ON NH544H (BHAVANI - METTUR HIGHWAY) WITHIN 6KM FROM AMMAPETTAI	Tiruppur	REGULAR	160 160	OBC SC	DC CFS	35 35	35 35	1225 1225	32 0	95	DRAW OF LOTS	15 0	4
255	POLICE STATION TOWARDS METTUR ON LHS ON SH83A (KANGEYAM DHARAPURAM HIGHWAY) WITHIN 4KM FROM NH81	Tiruppur	REGULAR	110	Open CC-1	cc	35	35	1225	32	12	BIDDING	30	5
255	INTERSECTION TOWARDS UTHIYUR ON NH 44 (OLD NH 7- FROM SALEM TOWARDS MADURAI), FROM KM STONE 341	DINDIGUL	REGULAR	165	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
257	TO 349 ON RIGHT HAND SIDE ON NH-81 (TRICHY ROAD) FROM PALLADAM (SH166 INTERSECTION) TO POWER HOUSE EB SUBSTATION PONGALUR ON RHS TOWARDS PONGALUR	Tiruppur	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
258	ON ERODE RING ROAD FROM MODAKKURICHI ROAD JUNCTION TO CAUVERY BRIDGE WITHIN ERODE DISTRICT	ERODE	REGULAR	160	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
259	WITHIN ERODE MUNICIPAL LIMITS (ON ERODE-ARACHALUR-DHARAPURAM ROAD, FROM BANK OF BARODA MOOLAPALAYAM BRANCH TO ERODE RING ROAD ON LHS)	ERODE	REGULAR	160	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
260	WITHIN COIMBATORE MUNCIPAL LIMITS BETWEEN FUN MALL JUNCTION TO PERKS SCHOOL VIA GV RESIDENCY LINK ROAD	COIMBATORE	REGULAR	170	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
261	WITHIN ERODE MUNICIPAL LIMITS (ON ERODE-NASIYANUR ROAD, ON LEFT HAND SIDE FROM VEERAPPAMPALAYAM JUNCTION TO CSI CHURCH, NASIYANUR)	ERODE	REGULAR	160	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
262	WITHIN ERODE MUNICIPAL LIMITS (ON CHENNIMALAI ROAD FROM ERODE JUNCTION RAILWAY STATION TO ERODE RING ROAD)	ERODE	REGULAR	160	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
263	FROM ONDIPUDUR BUS STOP TO E1 SINGANALLUR POLICE STATION SIGNAL ON LHS	COIMBATORE	REGULAR	160	SC CC-1	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
264	WITHIN DINDIGUL TOWN MUNCIPALITY LIMITS ON MDR906 (PETTAI METTUPATTI - NAGAL NAGAR ROAD)	DINDIGUL	REGULAR	120	OBC CC-1	DC	20	20	400	32	55	DRAW OF LOTS	15	4
265	ON NEW NH BYPASS FROM KANNIVADI TO NH 183(DINDIGUL-THENI HIGHWAY) INTERSECTION	DINDIGUL	REGULAR	160	Open	сс	35	35	1225	32	12	BIDDING	30	5
266	WITHIN COIMBATORE CORPORATION LIMITS ON VILANKURUCHI - THANNERPANDAL ROAD FROM KAPPIKADAI BUS STOP ON SATHY ROAD TO TIDEL PARK	COIMBATORE	REGULAR	180	Open PH	DC	20	20	400	32	75	DRAW OF LOTS	15	5
267	ON ERODE RING ROAD ON LEFT HAND SIDE FROM PERUNDURAI ROAD JUNCTION TO ARACHALUR ROAD JUNCTION	ERODE	REGULAR	160	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
268	ON NH81 (COIMABTORE-TRICHY HIGHWAY) WITHIN 5 KM FROM VELLAKOVIL ARULMIGU VEERAKUMARASAMY TEMPLE TOWARDS KARUR	Tiruppur	REGULAR	170	OBC	сс	35	35	1225	32	12	BIDDING	30	4
269	ON NH 183 (DINDIGUL - THENI HIGHWAY) FROM BEGAMBUR OVERBRIDGE JUNCTION TO SEMPATTI BUS STAND	DINDIGUL	REGULAR	170	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
270	ON NH381 (AVINASHI- AVINASHIPALAYAM HIGHWAY) FROM KM STONE 24 TO 31 ON RHS TOWARDS AVINASHIPALAYAM	Tiruppur	REGULAR	170	OBC	СС	35	35	1225	32	12	BIDDING	30	4
271	ON SH15 (SATHYAMANGALAM -ERODE HIGHWAY) WITHIN 5 KM FROM KAVINDAPADI JUNCTION TOWARDS GOBICHETTIPALAYAM ON LHS	ERODE	REGULAR	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
272	ON NH 183 (FROM DINDIGUL TOWARDS THENI ), FROM KM STONE 22 TO 27 ON LEFT HAND SIDE	DINDIGUL	REGULAR	170	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension site (in Sq	(in M.)/Area <sub>1</sub> . M.). *		e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC / SC CC-1 SC PH ST ST CC-1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	Rs in Lakhs	Rs in Lakhs
273	WITHIN ERODE MUNICIPAL LIMITS (ON ERODE-PERUNDURAI ROAD, ON LEFT HAND SIDE FROM VEERAPPAMPALAYAM JUNCTION TO THINDAL MURUGAN TEMPLE)	ERODE	REGULAR	170	Open	сс	20	20	400	32	12	BIDDING	30	5
274	ON NH544H (BHAVANI - METTUR HIGHWAY) WITHIN 4 KM FROM BHAVANI BUS STAND TOWARDS METTUR ON RHS	ERODE	REGULAR	170	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
275	ON NH381 (AVINASHI- AVINASHIPALAYAM HIGHWAY) FROM KM STONE 24 TO 31 ON LHS TOWARDS AVINASHIPALAYAM	Tiruppur	REGULAR	170	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
276	ON PULIAKULAM ROAD FROM LAKSHMI MILL JUNCTION TO PULIAKULAM VINAYAGAR TEMPLE	COIMBATORE	REGULAR	160	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
277	ON NH81 (COIMBATORE-TRICHY HIGHWAY) FROM KM STONE 53 TO 58	Tiruppur	REGULAR	170	Open	CC	35	35	1225	32	12	BIDDING	30	5
278	ON SH 155, FROM NILAKOTTAI POLICE STATION TO THIAGARAJAR MILLS LIMITED	DINDIGUL	REGULAR	120	Open CC-1	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
279	ON NH 44 (OLD NH 7- FROM SALEM TOWARDS MADURAI), FROM KM STONE 376 TO 382 RIGHT HAND SIDE	DINDIGUL	REGULAR	170	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
280	WITHIN TIRUPPUR MUNICIPAL LIMITS (ON MURUGAMPALAYAM ROAD FROM IDUVAMPLAYAM GOVT HIGH SCHOOL TO PALLADAM ROAD JUNCTION AT VIDYALAYAM BUS STOP)	Tiruppur	REGULAR	160	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
281	ON SH166 BETWEEN SEVUR ROUNDANA TO AVINASHIPURAM (TOWARDS SH80 JUNCTION) ON RIGHT HAND SIDE	Tiruppur	REGULAR	170	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
282	TIRUPUR TOWN ON UNION MILL ROAD BETWEEN UUTHUKULI ROAD JUNCTION(SH19A JUNCTION) AND VALAM ROAD INTERSECTION	Tiruppur	REGULAR	170	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
283	WITHIN TIRUPUR MUNICIPAL CORPORATION LIMITS ON VALAYANGADU MAIN ROAD BETWEEN KUMAR NAGAR BUS STOP TO SAMUNDIPURAM BUS STOP	Tiruppur	REGULAR	175	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
284	WITHIN TIRUPUR MUNICIPAL CORPORATION LIMITS ON SH196 FROM BOYAMPALAYAM ROAD INTERSECTION TO SHANTHI THEATER	Tiruppur	REGULAR	175	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
285	ON PUTTUVIKKI ROAD FROM PALAKAD ROAD IN KUNIYAMUTHOOR TO SUNDAKAMUTHUR BYPASS ROAD	COIMBATORE	REGULAR	160	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
286	ON NH 83 FROM POLLACHI SUB REGISTRAR OFFICE TO SH 21 INTERSECTION (POLLACHI -DHARAPURAM ROAD)	COIMBATORE	REGULAR	175	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
287	ON SH 80 FROM ANNUR POLICE STATION TO ANNUR JUNCTION TO TKV PALANI MAHAL	COIMBATORE	REGULAR	180	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
288	ON KAMARAJAR ROAD - HOPES SIGNAL TO SINGANALLUR BUS STAND	COIMBATORE	REGULAR	155	Open	CC	20	20	400	32	12	BIDDING	30	5
289	ON SH 164(THADAGAM ROAD) FROM WTV SWAMY ROAD JUNCTION TO GANDHI PARK	COIMBATORE	REGULAR	160	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
290	ON NH181 (COIMBATORE-GUNDLUPETE HIGHWAY) FROM KM STONE NO 45 TO 50 ON LEFT HAND SIDE	COIMBATORE	REGULAR	180	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
291	ON NH 44 (OLD NH 7- FROM SALEM TOWARDS MADURAI), FROM KM STONE 361 TO 367 RIGHT HAND SIDE	DINDIGUL	REGULAR	180	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
292	ON NH 785E (FROM NATHAM TOWARDS THUVARANKURICHI ROAD), FROM KM STONE 42 TO 52 ON LEFT HAND SIDE	DINDIGUL	REGULAR	180	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
293	ON NH 44 (OLD NH 7- FROM SALEM TOWARDS MADURAI), FROM KM STONE 356 TO 361 LEFT HAND SIDE	DINDIGUL	REGULAR	180	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
294	WITHIN CORPORATION LIMITS ON SIHS COLONY ROAD FROM TRICHY ROAD JUNCTION TO AERODROME	COIMBATORE	REGULAR	160	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
295	ON NH 785E (FROM NATHAM TOWARDS THUVARANKURICHI ROAD), FROM KM STONE 42 TO 52 ON RIGHT HAND SIDE	DINDIGUL	REGULAR	180	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
296	ON SH37 (ODDANCHATRAM - DHARAPURAM HIGHWAY) FROM MILESTONE 39 TO MILESTONE 42 ON LHS	DINDIGUL	REGULAR	180	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
297	ON NH 44 (OLD NH 7- FROM SALEM TOWARDS MADURAI), FROM KM STONE 356 TO 361 RIGHT HAND SIDE	DINDIGUL	REGULAR	180	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
298	ON NH81 FROM POWER HOUSE EB SUBSTATION PONGALUR TO DHARAPURAM ROAD JUNCTION (NH 381 JUNCTION) ON LEFT HAND SIDE	Tiruppur	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
299	ON SH37 (ODDANCHATRAM - DHARAPURAM HIGHWAY) FROM MILESTONE 39 TO MILESTONE 42 ON RHS	DINDIGUL	REGULAR	180	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension e site (in Sq	(in M.)/Area . M.). *		e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8	1	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC / SC CC-1 SC PH ST ST CC-1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	Rs in Lakhs	Rs in Lakhs
300	PALANI WITHIN MUNICIPAL LIMITS TOWARDS DHARAPURAM FROM SREE RANAKALIAMMAN TEMPLE TO RAILWAY CROSSING ON NEW PALANI DHARAPURAM ROAD SH83	DINDIGUL	REGULAR	180	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
301	ON SH 74, FROM RVS SCHOOL OF ENGINEERING AND TECHNOLOGY TO NH 83(DINDIGUL-TRICHY HIGHWAY) OVERBRIDGE INTERSECTION	DINDIGUL	REGULAR	180	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
302	ON SH37 (ODDANCHATRAM - DHARAPURAM HIGHWAY) FROM MILESTONE 42 TO MILESTONE 45	DINDIGUL	REGULAR	180	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
303	ON NH 383 (DINDIGUL - NATHAM - KOTTAMPATTY ROAD), FROM NATHAM BYPASS OVERBRIDGE INTERSECTION TO RAMSUNS MATRIC HR.SEC SCHOOL MEYAMPATTY	DINDIGUL	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
304	ON NH 44 (OLD NH 7-SALEM - MADURAI ROAD), FROM THE GANDHIGRAM RURAL INSTITUTE TO KODAIROAD NH TOLL PLAZA ON RIGHT HAND SIDE	DINDIGUL	REGULAR	180	OBC	сс	35	35	1225	32	12	BIDDING	30	4
305	ON SH 164 (THADAGAM ROAD) FROM WTV SWAMY ROAD JUNCTION TO EDAYARPALAYAM ROAD JUNCTION	COIMBATORE	REGULAR	180	Open CC-1	DC	20	20	400	32	75	DRAW OF LOTS	15	5
306	WITHIN TIRUPPUR MUNICIPAL LIMITS (ON TIRUPPUR-MANGALAM HIGHWAY(SH169) FROM MUNICIPAL CORPORATION OFFICE TOWARDS MANGALAM ON LHS	Tiruppur	REGULAR	180	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
307	ON NH 44 (OLD NH 7- FROM SALEM TOWARDS MADURAI), FROM KM STONE 376 TO 381 LEFT HAND SIDE	DINDIGUL	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
308	ON NEW NH83 BYPASS (FROM COIMBATORE - POLLACHI-DINDIGUL NEW HIGHWAY) FROM KM STONE 90 TO 110 ON RIGHT HAND SIDE	DINDIGUL	REGULAR	180	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
309	ON NH544 (FROM SALEM TOWARDS COIMBATORE), FROM KM STONE NO 78 TO 85 ON LEFT HAND SIDE	ERODE	REGULAR	180	Open	сс	35	35	1225	32	12	BIDDING	30	5
310	WITHIN TIRUPUR MUNICIPAL CORPORATION LIMITS FROM AMMAPALAYAM BUS STOP TO DISTRICT COLLECTOR CAMP OFFICE ON LHS ON AVINASHI ROAD MOVING TOWARDS TIRUPUR	Tiruppur	REGULAR	185	Open	DC	30	30	900	32	75	DRAW OF LOTS	15	5
311	KOVILUR VILLAGE ON SH74 (OLD KARUR ROAD)	DINDIGUL	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
312	ON NEW NH83 BYPASS (FROM COIMBATORE - POLLACHI-DINDIGUL NEW HIGHWAY) FROM AMARAVATHI RIVER BRIDGE TO KM STONE 75	DINDIGUL	REGULAR	180	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
313	WITHIN TIRUPUR MUNICIPAL CORPORATION LIMITS ON POOLUVAPATTI RING ROAD FROM MDR1252 INTERSECTION TO CHETTIPALAYAM (SH196 INTERSECTION) ON RHS TOWARDS CHETTIPALAYAM	Tiruppur	REGULAR	185	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
314	ON PERUR MAIN ROAD FROM CHETTY STREET JUNCTION TO TELUNGUPALAYAM PIRIVU	COIMBATORE	REGULAR	160	Open CC-2	DC	20	20	400	32	75	DRAW OF LOTS	15	5
315	ON PODANUR MAIN ROAD FROM KURICHI PIRIVU TO PODANUR JUNCTION VIA D-MART PODANUR ROAD	COIMBATORE	REGULAR	160	OBC CC-1	DC	20	20	400	32	75	DRAW OF LOTS	15	4
316	ON SH 80( AVINASHI-ANNUR ROAD) FROM KM STONE 1 TO 6 ON LEFT HAND SIDE	Tiruppur	REGULAR	160	SC CC-1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
317	ON NH 948 FROM KOVILPALAYAM BUS STAND TO ANNUR POLICE STATION	COIMBATORE	REGULAR	190	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
318	ON NH 83 FROM PWD INSPECTION BUNGLOW TO KANAKKANPATTI VILLAGE	DINDIGUL	REGULAR	190	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
319	ON NH81 (COIMBATORE-TRICHY HIGHWAY) FROM KM STONE 66 TO 70 ON RHS (FROM KANGEYAM TOWARDS VELLAKOIL ON RIGHT SIDE)	Tiruppur	REGULAR	180	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
320	ON NH 44 (OLD NH 7- FROM SALEM TOWARDS MADURAI), FROM THE GANDHIGRAM RURAL INSTITUTE TO KODAIROAD NH TOLL PLAZA LEFT HAND SIDE	DINDIGUL	REGULAR	170	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
321	ON PALANI BYPASS ROAD (NH83)	DINDIGUL	REGULAR	190	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
322	ON NH83 (DINDIGUL - ODDANCHATRAM HIGHWAY) FROM SAKTHI ARTS AND SCIENCE COLLEGE TO LAKKAYANKOTTAI	DINDIGUL	REGULAR	190	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
323	ON NH 44 (OLD NH 7- FROM SALEM TOWARDS MADURAI), FROM KM STONE 361 TO 367 LEFT HAND SIDE	DINDIGUL	REGULAR	190	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
324	ON NH83 DINDIGUL - TRICHY HIGHWAY TOWARDS TRICHY FROM DINDIGUL BYPASS FLYOVER (ANJALI ROUNDABOUT) TO MILESTONE 415	DINDIGUL	REGULAR	195	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension e site (in Sq	(in M.)/Area . M.). *		e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC / SC CC-1 SC PH ST ST CC-1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	Rs in Lakhs	Rs in Lakhs
325	ON SH166 (PALLADAM- MANGALAM HIGHWAY)WITHIN 4 KM FROM MANGALAM NALROAD JUNCTION TOWARDS PALLADAM	Tiruppur	REGULAR	170	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
326	ON NH181 (COIMBATORE-GUNDLUPETE HIGHWAY) FROM KM STONE NO 40 TO 45 ON RIGHT HAND SIDE	COIMBATORE	REGULAR	201	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
327	ON NH83 (DINDIGUL - ODDANCHATRAM HIGHWAY) FROM REDDIYARCHATRAM POLICE STATION TO SAKTHI ARTS AND SCIENCE COLLEGE	DINDIGUL	REGULAR	190	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
328	ON NH381A (MUTHUR TO ERODE HIGHWAY) WITH IN 5 KM FROM MUTHUR BUS STAND TOWARDS ERODE	Tiruppur	REGULAR	155	Open CC-1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
329	WITHIN TIRUPUR MUNICIPAL CORPORATION LIMITS ON AVINASHI ROAD FROM PUSHPA THEATER BUS STOP TO KUMAR NAGAR BUS STOP ON LHS MOVING TOWARDS AVINASHI	Tiruppur	REGULAR	175	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
330	ON NH83 (DINDIGUL - ODDANCHATRAM HIGHWAY) FROM ANNA UNIVERSITY, DINDIGUL TO REDDIYARCHATRAM POLICE STATION	DINDIGUL	REGULAR	190	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
331	ON NH 948 FROM ANNUR TALUK OFFICE TO PASUR ROAD PIRIVU	COIMBATORE	REGULAR	205	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
332	WITHIN COIMBATORE CORPORATION LIMITS ON SH 164 (EDAYARPALAYAM- KAVUNDAMPALAYAM ROAD) FROM EDAYAPALAYAM JUNCTION TO KALPANA THEATRE	COIMBATORE	REGULAR	160	Open	сс	20	20	400	32	12	BIDDING	30	5
333	ON NH 44 (OLD NH 7- FROM SALEM TOWARDS MADURAI), FROM KM STONE 367 TO 376 RIGHT HAND SIDE	DINDIGUL	REGULAR	205	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
334	ON NH181 (COIMBATORE-GUNDLUPETE HIGHWAY) FROM KM STONE NO 28 TO 35 ON LEFT HAND SIDE	COIMBATORE	REGULAR	176	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
335	ON NEW NH83 BYPASS (FROM COIMBATORE - POLLACHI-DINDIGUL NEW HIGHWAY) FROM KM STONE 77 TO 84	DINDIGUL	REGULAR	210	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
336	ON NH 181 (COIMBATORE-OOTY-GUNDLUPETE HIGWAY) FROM KM STONE NO 80 TO 95	NILGIRIS	REGULAR	210	Open	сс	20	20	400	32	12	BIDDING	30	5
337	WITHIN TIRUPUR MUNICIPAL CORPORATION LIMITS ON KONGU MAIN ROAD BETWEEN CHINNASAMY AMMAL SCHOOL BUS STOP TO PARAIKULI BHARATHI NAGAR BUS STOP	Tiruppur	REGULAR	205	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
338	WITHIN COIMBATORE CORPORATION LIMITS ON THUDIYALUR- APPANAICKENPALAYAM ROAD FROM BAGHIRATHI MEDICAL CENTRE AND HOSPITAL TOWARDS APPANAICKENPALAYAM	COIMBATORE	REGULAR	180	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
339	WITHIN COIMBATORE CORPORATION LIMITS ON BHARATHIAR ROAD FROM SRI RAMAKRISHNA MILL JUNCTION ON SATHY ROAD TO MANIYAKARAMPALAYAM GOVT SCHOOL	COIMBATORE	REGULAR	210	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
340	SUNDARAPURAM BUS STOP TO RATHINAM COLLEGE OF ARTS AND SCIENCE ON NH 948	COIMBATORE	REGULAR	210	Open	сс	30	30	900	32	12	BIDDING	30	5
341	ON SH 78 FROM ANGALAKURICHI EB SUBSTATION TO NALUMULASUNGAM (ANAMALAI DHALI ROAD JUNCTION)	COIMBATORE	REGULAR	110	OBC PH	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
342	ON NH 181 (COIMBATORE- GUNDLUPETE HIGHWAY) FROM KM STONE NO 144 TO 154	NILGIRIS	REGULAR	205	SC PH	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
343	ON VILANKURICHI ROAD FROM TIDEL PARK COIMBATORE TO RJ MATRICULATION SCHOOL JUNCTION	COIMBATORE	REGULAR	210	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
344	ON NH NEW BYPASS FROM ACHIPATTI (INTERSECTION WITH EXISTING NH83) TO SH 21 (POLLACHI UDUMALPET ROAD) FLY OVER	COIMBATORE	REGULAR	210	Open	сс	35	35	1225	32	12	BIDDING	30	5
345	ON NH181 (COIMBATORE-GUNDLUPETE HIGHWAY) FROM KM STONE NO 40 TO 45 ON LEFT HAND SIDE	COIMBATORE	REGULAR	210	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
346	ON NH83 FROM POLLACHI SUB REGISTRAR OFFICE (TOWARDS COIMBATORE) TO MDR 166 (NADUPPUNNI ROAD )INTERSECTION ON LHS	COIMBATORE	REGULAR	210	Open	СС	35	35	1225	32	12	BIDDING	30	5
347	ON SH15 WITHIN GOBICHETTIPALAYAM MUNICIPALITY LIMITS	ERODE	REGULAR	180	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
348	ON NH 83 BETWEEN KM STONE 16 AND 25 ON LHS (ACHIPATTI TOWARDS THAMARAIKULAM)	COIMBATORE	REGULAR	210	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
349	ON NH383 (DINDIGUL-NATHAM ROAD), FROM KM STONE 3 TO 11	DINDIGUL	REGULAR	210	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
350	ON NH83 BETWEEN KM STONE 16 AND 25 ON RHS (ACHIPATTI TOWARDS THAMARAIKULAM)	COIMBATORE	REGULAR	210	Open	СС	35	35	1225	32	12	BIDDING	30	5

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension site (in Sq	(in M.)/Area ı. M.). *		e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6 SC /	7		8	1	9a Estimated	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC CC-1 SC PH ST ST CC-1 ST PH	CC / DC / CFS	Frontage	Depth	Area	working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	Rs in Lakhs	Rs in Lakhs
351	ON SH37 (ODDANCHATRAM - DHARAPURAM HIGHWAY) FROM MILESTONE 45 TO MILESTONE 55	DINDIGUL	REGULAR	180	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
352	ON NH544 (FROM SALEM TOWARDS COIMBATORE), FROM KM STONE NO 89 TO 92 (WITH IN ERODE DISTRICT)	ERODE	REGULAR	210	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
353	ON NH83 (DINDIGUL - ODDANCHATRAM HIGHWAY) FROM SSM ENGINEERING COLLEGE TO PSNA ENGINEERING COLLEGE	DINDIGUL	REGULAR	210	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
354	WITHIN ERODE MUNICIPAL LIMITS (ON PERIYAR NAGAR MAIN ROAD CONNECTING EVN ROAD AND GANDHIJI ROAD)	ERODE	REGULAR	160	Open CC-1	DC	20	20	400	32	75	DRAW OF LOTS	15	5
355	ON NH948 (SATHYAMANGALAM-MYSORE HIGHWAY) FROM RTO OFFICE SATHYAMANGALAM TO ARULMIGU BANNARIAMMAN TEMPLE ON LHS TOWARDS MYSORE	ERODE	REGULAR	210	OBC	сс	35	35	1225	32	12	BIDDING	30	4
356	ON NH544 (SALEM-COIMBATORE HIGHWAY) FROM KM STONE 58 TO 64 TOWARDS COIMBATORE ON RHS	ERODE	REGULAR	190	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
357	WITHIN COIIMBATORE CORPORATION LIMITS ON TVS NAGAR- KAVUNDAMPALAYAM ROAD FROM SANGANUR STREAM JUNCTION TO TVS NAGAR VIA KAVERI POLYMER AND INDUSTRIES	COIMBATORE	REGULAR	150	Open	сс	20	20	400	32	12	BIDDING	30	5
358	ON NEW NH83 BYPASS (FROM COIMBATORE - POLLACHI-DINDIGUL NEW HIGHWAY) FROM KM STONE 84 TO 90	DINDIGUL	REGULAR	210	Open	сс	35	35	1225	32	12	BIDDING	30	5
359	ON NH 81(TRICHY ROAD) FROM PALLADAM BUS STAND TO SEMMIPALAYAM ROAD INTERSECTION ON LHS TOWARDS COIMBATORE	Tiruppur	REGULAR	210	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
360	ON NH381A (VELLAKOIL- ERODE HIGHWAY) FROM MUTHUR BUS STAND TO V.METTUPALAYAM EB SUBSTATION	Tiruppur	REGULAR	195	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
361	ON NH544 (FROM SALEM TOWARDS COIMBATORE), FROM KM STONE NO 77 TO 87 ON RIGHT HAND SIDE	ERODE	REGULAR	210	Open	сс	35	35	1225	32	12	BIDDING	30	5
362	ON NH544 (FROM SALEM TOWARDS COIMBATORE), FROM KM STONE NO 64 TO 72 ON RIGHT HAND SIDE	ERODE	REGULAR	210	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
363	WITHIN TIRUPPUR MUNICIPAL LIMITS (ON PALAVANCHIPALAYAM RING ROAD FROM VEERAPANDI BUS STOP TO DHARAPURAM ROAD JUNCTION ON NH381)	Tiruppur	REGULAR	210	Open	сс	20	20	400	32	12	BIDDING	30	5
364	ON NH 544 (FROM SALEM-TOWARDS KOCHI HIGHWAY) FROM KILOMETER STONE 178 TO 182 ON LEFT HAND SIDE	COIMBATORE	REGULAR	160	OBC CC-1	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
365	ON NH 81(TRICHY ROAD) FROM PALLADAM BUS STAND TO SEMMIPALAYAM ROAD INTERSECTION ON RHS TOWARDS COIMBATORE	Tiruppur	REGULAR	219	SC CC-1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
366	ON NH 83 FROM KM STONE 28 TO 30 (FROM POLLACHI TOWARDS COIMBATORE ON RHS)	COIMBATORE	REGULAR	210	Open PH	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
367	UKKADAM BUS STAND TO KURUCHI BUS STOP ON NH 948	COIMBATORE	REGULAR	220	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
368	ON NH 81(TRICHY ROAD) FROM SAMIGOUNDANPALAYAM ROAD PIRIVU TO KARANAMPETTAI JUNCTION(SH165 INTERSECTION) ON LHS TOWARDS COIMBATORE	Tiruppur	REGULAR	210	Open	сс	35	35	1225	32	12	BIDDING	30	5
369	WITHIN COIMBATORE CORPORATION LIMITS ON FCI ROAD FROM SATHY ROAD JUNCTION TO FOOD CORPORATION OF INDIA GODOWN	COIMBATORE	REGULAR	205	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
370	ON NH544 (FROM SALEM TOWARDS COIMBATORE), FROM KM STONE NO 64 TO 72 ON LEFT HAND SIDE	ERODE	REGULAR	210	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
371	ON NH-544 (SALEM -COCHIN HIGHWAY) FROM KM STONE 121 TO KM 128 ON LHS WHILE MOVING TOWARDS COIMBATORE	Tiruppur	REGULAR	220	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
372	WITHIN COIMBATORE CORPORATION LIMITS ON MANIYAKARAMPALAYAM ROAD FROM SURYA HOSPITAL SIGNAL TO SRI KRISHNA GOUNDER KALYANA MANDAPAM	COIMBATORE	REGULAR	220	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
373	ON NH 948 (SATHY ROAD) FROM KAAPIKADAI-VILANKURICHI ROAD PIRIVU TO KOVILPALAYAM BUS STAND ON RIGHT HAND SIDE	COIMBATORE	REGULAR	220	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
374	ON NH83 (DINDIGUL - ODDANCHATRAM HIGHWAY) FROM PSNA ENGINEERING COLLEGE TO ANNA UNIVERSITY, DINDIGUL	DINDIGUL	REGULAR	210	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
375	ON NH181 (COIMBATORE-GUNDLUPETE HIGHWAY) FROM BLACK THUNDER THEME PARK TO KALLAR THURI PALAM BRIDGE ON RIGHT HAND SIDE	COIMBATORE	REGULAR	225	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		e site (in Sq	(in M.)/Area . M.). *		e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC / SC CC-1 SC PH ST ST CC-1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	Rs in Lakhs	Rs in Lakhs
376	WITHIN COIMBATORE CORPORATION LIMITS ON VILANKURUCHI ROAD SATHY ROAD JUNCTION TO JAINS ANANYA APARTMENT VIA SANKARA EYE HOSPITAL	COIMBATORE	REGULAR	220	Open	сс	20	20	400	32	12	BIDDING	30	5
377	WITHIN COIMBATORE CORPORATION LIMITS ON MDR 877(THUDIYALUR- SARAVANAMPATTI ROAD) FROM THUDIYALUR BUSSTAND TO KCT TECH PARK	COIMBATORE	REGULAR	180	Open CC-1	DC	20	20	400	32	75	DRAW OF LOTS	15	5
378	ON NH948 (SATHYAMANGALAM-COIMBATORE HIGHWAY) WITHIN 5 KM FROM SATHYAMANGALAM TNSTC BUS DEPOT TOWARDS PUNJAI PULIYAMPATTI ON RHS	ERODE	REGULAR	210	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
379	WITHIN COIMBATORE CORPORATION LIMITS ON SATHY ROAD FROM GP HOSPITAL JUNCTION TO FCI ROAD JUNCTION	COIMBATORE	REGULAR	230	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
380	ON SH 162 (NANJUNDAPURAM ROAD) FROM RAMANATHAPURAM JUNCTION TO PODANUR RAILWAY STATION ROAD JUNCTION	COIMBATORE	REGULAR	220	Open	сс	35	35	1225	32	12	BIDDING	30	5
381	ON NH81 (COIMBATORE-TRICHY HIGHWAY) FROM KM STONE 42 TO 51	Tiruppur	REGULAR	220	Open	CC	35	35	1225	32	12	BIDDING	30	5
382	ON SH37 (TIRUPUR-DHARAPURAM HIGHWAY) FROM NH81(COIMBATORE- TRICHY HIGHYWAY) AVINASHIPALAYAM INTERSECTION TO SH174A INTERSECTION(SURIYANALLUR-KUNDADAM ROAD) ON RHS TOWARDS DHARAPURAM	Tiruppur	REGULAR	230	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
383	ON NH948 (SATHYAMANGALAM-MYSORE HIGHWAY) FROM SATHYAMANGALAM POLICE STATION TO RTO OFFICE SATHYAMANGALAM	ERODE	REGULAR	210	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
384	ON NH544 (SALEM -COCHIN HIGHWAY) FROM KM STONE 121 TO 128 ON RHS WHILE MOVING TOWARDS COIMBATORE	Tiruppur	REGULAR	220	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
385	WITHIN COIMBATORE CORPORATION LIMIT ON KALAPATTI MAIN ROAD FROM SITRA BUS STOP TO BOSCH GLOBAL TECH PARK KALAPATTI	COIMBATORE	REGULAR	230	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
386	ON NH 544 (FROM SALEM-TOWARDS KOCHI HIGHWAY) FROM KILOMETER STONE 136 TO 141 ON LEFT HAND SIDE	COIMBATORE	REGULAR	250	OBC	сс	35	35	1225	32	12	BIDDING	30	4
387	ON NH 44 (OLD NH 7- FROM SALEM TOWARDS MADURAI), FROM KM STONE 367 TO 376 LEFT HAND SIDE	DINDIGUL	REGULAR	210	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
388	ON NH181 (COIMBATORE-GUNDLUPETE HIGHWAY) FROM KM STONE NO 23 TO 28 ON RIGHT HAND SIDE	COIMBATORE	REGULAR	240	Open	сс	35	35	1225	32	12	BIDDING	30	5
389	ON NH544 (SALEM-COIMBATORE HIGHWAY) FROM KM STONE 58 TO 64 TOWARDS COIMBATORE ON LHS	ERODE	REGULAR	240	Open	сс	35	35	1225	32	12	BIDDING	30	5
390	ON NH 544 (FROM SALEM-TOWARDS KOCHI HIGHWAY) FROM KILOMETER STONE 136 TO 141 ON RIGHT HAND SIDE	COIMBATORE	REGULAR	250	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
391	ON NH181 (COIMBATORE-GUNDLUPETE HIGHWAY) FROM KM STONE NO 45 TO 50 ON RIGHT HAND SIDE	COIMBATORE	REGULAR	240	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
392	WITHIN COIMBATORE CORPORATION LIMITS ON KALAPATTI - KURUMBAPALAYAM ROAD FROM THE ALAM MONTESSORI SCHOOL TO CASAGRANDE ETERNIA II TOWNSHIP	COIMBATORE	REGULAR	260	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
393	ON NH83 (DINDIGUL - ODDANCHATRAM HIGHWAY) FROM PALLAPATTI FLYOVER TO SSM ENGINEERING COLLEGE ON LEFT HAND SIDE	DINDIGUL	REGULAR	250	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
394	ON NH544(FROM SALEM-TOWARDS KOCHI HIGHWAY) FROM KM STONE 143 TO 150 ON LEFT HAND SIDE	COIMBATORE	REGULAR	260	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
395	ON NH-544 (SALEM -COCHIN HIGHWAY ) FROM KM STONE 105 TO KM 121 ON LHS WHILE MOVING TOWARDS COMBATORE	Tiruppur	REGULAR	270	Open	сс	35	35	1225	32	12	BIDDING	30	5
396	ON NH83 (DINDIGUL - ODDANCHATRAM HIGHWAY) FROM PALLAPATTI FLYOVER TO SSM ENGINEERING COLLEGE ON RIGHT HAND SIDE	DINDIGUL	REGULAR	250	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
397	WITHIN COIMBATORE CORPORATION LIMITS ON SARAVANAMPATTI-KALAPATTI ROAD (MDR 678) FROM E3 SARAVANAMPATTY POLICE STATION TO KALAPATTI GOVT. HIGH SCHOOL	COIMBATORE	REGULAR	262	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
398	ON NH544 (SALEM -COCHIN HIGHWAY) FROM KM STONE 105 TO 121 ON RHS WHILE MOVING TOWARDS COIMBATORE	Tiruppur	REGULAR	270	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
399	ON NH-544 (SALEM -COCHIN HIGHWAY) FROM KM STONE 98 TO KM 105 ON LHS WHILE MOVING TOWARDS COIMBATORE	Tiruppur	REGULAR	270	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in So	(in M.)/Area ı. M.). *	applicant	e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8	1	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC / SC CC-1 SC PH ST ST CC-1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	Rs in Lakhs	Rs in Lakhs
400	ON SH 98 FROM GUDALUR BUS STAND ROUNDANA TO DEVARSHOLA BUS STAND	NILGIRIS	REGULAR	180	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
401	ON NH544(FROM SALEM-TOWARDS KOCHI HIGHWAY) FROM KM STONE 143 TO 150 ON RIGHT HAND SIDE	COIMBATORE	REGULAR	270	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
402	ON NH544 (SALEM -COCHIN HIGHWAY) FROM KM STONE 98 TO 105 ON RHS WHILE MOVING TOWARDS COIMBATORE	Tiruppur	REGULAR	270	Open	сс	35	35	1225	32	12	BIDDING	30	5
403	WITHIN COIMBATORE CORPORATION LIMITS ON METTUPALAYAM ROAD FROM TVS BUS STOP TO KAVUNDAMPALAYAM BUS STOP	COIMBATORE	REGULAR	180	Open CC-1	DC	30	30	900	32	75	DRAW OF LOTS	15	5
404	WITHIN COIMBATORE CORPORATION LIMITS ON METTUPALAYAM ROAD FROM KAVUNDAMPALAYAM BUS STOP TO THUDIYALUR BUS STAND ON LEFT HAND SIDE	COIMBATORE	REGULAR	280	OBC	сс	30	30	900	32	12	BIDDING	30	4
405	WITHIN ERODE MUNICIPAL LIMITS (ON ERODE-BHAVANI ROAD, ON RIGHT HAND SIDE FROM IOB BANK REGIONAL OFFICE TO ERODE MUNICIPAL ZONE 1 OFFICE)	ERODE	REGULAR	160	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
406	ON NH181 (COIMBATORE-GUNDLUPETE HIGHWAY) FROM KM STONE NO 23 TO 28 ON LEFT HAND SIDE	COIMBATORE	REGULAR	280	Open	сс	35	35	1225	32	12	BIDDING	30	5
407	WITHIN COIMBATORE CORPORATION LIMITS ON METTUPALAYAM ROAD FROM KAVUNDAMPALAYAM BUS STOP TO THUDIYALUR BUS STAND ON RIGHT HAND SIDE	COIMBATORE	REGULAR	280	Open	сс	30	30	900	32	12	BIDDING	30	5
408	ON NH948 (SATHYAMANGALAM-MYSORE HIGHWAY) WITHIN 3 KM FROM HAASANUR BUS STOP TOWARDS SATHYAMANGALAM	ERODE	REGULAR	160	OBC	DC	20	20	400	32	95	DRAW OF LOTS	15	4
409	ON NH 83 NEW BYPASS FROM FLYOVER OVER SH87(UDUMALPET- PALLADAM ROAD) TO EXISITNG NH83 STRETCH (TOWARDS COIMBATORE)	Tiruppur	REGULAR	210	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
410	WITHIN COIMBATORE CORPORATION LIMITS ON SATHY ROAD FROM RAMAKRISHNA MILLS TO SARAVANAMPATTY-THUDIYALUR ROAD JUNCTION	COIMBATORE	REGULAR	280	Open	сс	30	30	900	32	12	BIDDING	30	5
411	WITHIN COIMBATORE CORPORATION LIMITS ON AVINASHI ROAD FROM FUN MALL TO SITRA BUS STOP JUNCTION ON EITHER SIDE	COIMBATORE	REGULAR	380	Open	сс	20	20	400	32	12	BIDDING	30	5
412	ON SH19 (POLLACHI-PALLDAM ROAD) FROM POLLACHI (NH 83 JUNCTION) TO PULIYAMPATTI (PULIYAMPATTI GOVT SCHOOL)	COIMBATORE	REGULAR	130	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
413	ON NH181 (COIMBATORE-GUNDLUPETE HIGHWAY) FROM KM STONE NO 35 TO 40 ON RIGHT HAND SIDE	COIMBATORE	REGULAR	390	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
414	ON NH181 (COIMBATORE-GUNDLUPETE HIGHWAY) FROM KM STONE NO 28 TO 35 ON RIGHT HAND SIDE	COIMBATORE	REGULAR	240	SC CC-1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
415	WITHIN COIMBATORE CORPORATION LIMITS ON NSR ROAD FROM METTUPALAYAM ROAD JUNCTION TO THADAGAM ROAD JUNCTION	COIMBATORE	REGULAR	205	Open CC-2	DC	20	20	400	32	75	DRAW OF LOTS	15	5
416	PONNERI TO THATCHOOR KOOT ROAD	Tiruvallur	REGULAR	150	OBC CC-1	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
417	PAPPANKUPPAM, GUMMIDIPOONDI (ON NH 16)	Tiruvallur	REGULAR	450	Open	CC	35	35	1225	32	12	BIDDING	30	5
418	GUMMIDIPOONDI TO ELAVUR ON (LHS ON NH 16 )	Tiruvallur	REGULAR	325	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
419	REDHILLS TO PUCHIATHIPEDU (ON RHS)	Tiruvallur	REGULAR	150	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
420	PANCHETTI ON NH 16 SIPCOT , GUMMIDIPOONDI	Tiruvallur Tiruvallur	REGULAR REGULAR	325 340	Open Open	CC CC	35 35	35 35	1225 1225	32 32	12 12	BIDDING BIDDING	30 30	5 5
421	PONNERI TO PULICAT ON SH (WITHIN PONNERI TOWN LIMITS)	Tiruvallur	REGULAR	120	OBC	CC	35	35	1225	32	12	BIDDING	30	4
423	MINJUR TO KATTUR WITHIN 5 KM FROM MINJUR	Tiruvallur	REGULAR	120	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
424	THATCHOOR TO GUMMIDIPOONDI ON (LHS ON NH 16)	Tiruvallur	REGULAR	330	Open	CC	35	35	1225	32	12	BIDDING	30	5
425	KOSAPPUR ON KOSAPPUR ANDARKUPPAM ROAD	Chennai	REGULAR	230	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
426	ARAMBAKKAM ON NH16 (RHS FROM CHENNAI TO TADA)	Tiruvallur	REGULAR	280	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
427	AMRITHAMANAGALAM TO SATHYAVEDU ON SH	Tiruvallur	REGULAR	130	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
428	GUMMIDIPOONDI TO ELAVUR ON NH16 (LHS)	Tiruvallur	REGULAR	340	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
429	RETTERI TO MADHAVARAM JUNCTION (ON SH)	Chennai	REGULAR	250	Open CC-1	DC	20	20	400	32	75	DRAW OF LOTS	15	5
430	MATHUR TO MANALI NOT ON SH	Chennai	REGULAR	180	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
431	SENGUNDRAM (REDHILLS) ON GNT ROAD	Tiruvallur	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
432 433	KILMUDALAMBEDU ON KAVARAPETTAI TO SATYAVEDU ROAD (SH 52)	Tiruvallur	REGULAR	250 250	Open	DC CC	35 35	35 35	1225 1225	32 32	75 12	DRAW OF LOTS	15 30	5
400	THERVOY KANDIGAI ( SIPCOT)	Tiruvallur	REGULAR	200	Open		30	30	1220	32	12	BIDDING	J 30	U

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension e site (in Sq	(in M.)/Area . M.). *		e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC / SC CC-1 SC PH ST ST CC-1 ST PH	CC / DC / CFS		Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	Rs in Lakhs	Rs in Lakhs
434	MADHAVARAM ROUNDANA TO THATCHOOR ON (LHS ON NH16)	Tiruvallur	REGULAR	225	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
435	MADHAVARAM ROUNDANA TO MATHUR TOLL ON INNER RING ROAD (ON SH)	Chennai	REGULAR	290	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
436	NASARI TO THAMARAIPAKKAM ON SH114	Tiruvallur	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
437	MINJUR TOWN	Tiruvallur	REGULAR	200	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
438	MINJUR TO PONNERI (ON SH)	Tiruvallur	REGULAR	150	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
439 440	THIRUVOTTIYUR GNT ROAD GUMMIDIPOONDI	Chennai	REGULAR REGULAR	150 180	Open SC PH	CC CFS	20 35	20	400 1225	32 0	12 0	BIDDING	30	5
440	THAKKOLAM TO IRULANJERI ON SH50B	Tiruvallur Tiruvallur	REGULAR	110	OBC PH	DC	35	35 35	1225	32	75	DRAW OF LOTS DRAW OF LOTS	0	4
441	PONNERI TOWN (ON THAYUMANCHETTY STREET)	Tiruvallur	REGULAR	150	Open	CC	20	15	300	32	12	BIDDING	30	5
442	NEITHAVOYAL ON PERIPHERIAL RING ROAD	Tiruvallur	REGULAR	130	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
444	ATTANTHANGAL TO MINJUR ON CHENNAI OUTER RING ROAD( LHS)	Tiruvallur	REGULAR	160	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
445	ANDARKUPPAM TO ARIYALOOR ON KOSAPPUR ANDARKUPPAM ROAD	Chennai	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
446	VOYALUR ON PERIPHERAL RING ROAD	Tiruvallur	REGULAR	130	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
447	NEMILICHERY ON ORR (MINJUR TO VANDALUR- RHS)	Tiruvallur	REGULAR	150	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
448	MADHAVARAM ROUNDANA TO MOOLAKADAI JN ON ERUKKENCHERY HIGH ROAD	Chennai	REGULAR	150	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
449	MANALI NEW TOWN TO MELUR ON SH 56	Tiruvallur	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
450	KARIKALAVAKKAM TO VILAPAKKAM ON PERIPHERIAL RING ROAD	Tiruvallur	REGULAR	130	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
451	CHENNAI CITY & PERIPHERY (WITHIN CMDA LIMITS)-4	Tiruvallur	REGULAR	200	Open	CC	20	20	400	32	12	BIDDING	30	5
452	GUMMIDIPOONDI TO ELAVUR ON NH 16	Tiruvallur	REGULAR	225	Open	CC	35	35	1225	32	12	BIDDING	30	5
453	REDHILLS TO MOOLAKADAI JUNCTION ON SH111	Chennai	REGULAR	120	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
454	MADHAVARAM ROUNDANA TO THATCHOOR ( RHS ON NH 16)	Tiruvallur	REGULAR	225	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
455	BEACH ROAD JUNCTION TO SATTANGADU (ON SH 56)	Chennai	REGULAR	150	Open CC-1	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
456	THATCHOOR TO GUMMIDIPOONDI (RHS ON NH 16)	Tiruvallur	REGULAR	330	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
457 458	CHENGALPATTU TOWN -2 (WITH IN MUNICIPAL LIMITS)	Chengalpattu	REGULAR REGULAR	130 130	Open SC	CC CFS	20 20	20 20	400 400	32 0	12 0	BIDDING DRAW OF LOTS	30 0	5
450	CHENGALPATTU TOWN-4 (WITH IN MUNICIPAL LIMITS) CHENGALPATTU TOWN-3 (WITH IN MUNICIPAL LIMITS)	Chengalpattu Chengalpattu	REGULAR	130	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
455	CHENGALPATTU TOWN-3 (WITH IN MUNICIPAL LIMITS)	Chengalpattu	REGULAR	130	OBC	CC	20	20	400	32	12	BIDDING	30	4
461	TIRUKAZHUKUNDRAM TOWN- 1	Chengalpattu	REGULAR	120	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
462	SENDIVAKKAM TO SOTHUPAKKAM (LHS ON SH 115 )	Chengalpattu	REGULAR	120	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
463	JANAPANCHATRAM TO ARIAPAKKAM (LHS ON SH)	Tiruvallur	REGULAR	150	SC CC-1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
464	NEMAM TO GUDAPAKKAM (LHS ON SH50)	Tiruvallur	REGULAR	150	OBC CC-1	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
465	POONJERI TO VADANEMMELI (LHS ON ECR)	Chengalpattu	REGULAR	120	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
466	PAMMAL	Chengalpattu	REGULAR	150	Open PH	DC	20	20	400	32	75	DRAW OF LOTS	15	5
467	MAMANDUR TO KOLAMBAKKAM ON (LHS ON NH 32)	Chengalpattu	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
468 469	THENPAKKAM TO KADAPAKKAM (LHS ON ECR ) WITH IN 3 KM FROM SOTHUPAKKAM FLYOVER BRIDGE TOWARDS CHITAMURU	Chengalpattu Chengalpattu	REGULAR REGULAR	120 120	OBC Open	DC CC	35 35	35 35	1225 1225	32 32	75 12	DRAW OF LOTS BIDDING	15 30	4
	(ON SH 115)				•									
470 471	NENMELI TO KEERAPAKKAM ON (LHS ON SH 58 ) ACHARAPAKKAM TO TOZHUPPEDU ON (LHS ON NH 32)	Chengalpattu	REGULAR REGULAR	120 150	OBC	DC CFS	35 35	35 35	1225	32	75 0	DRAW OF LOTS DRAW OF LOTS	15 0	4
471 472	CHENGALPATKUTU TO THIMMAVARAM (ON SH 58)	Chengalpattu Chengalpattu	REGULAR	150	SC Open	CFS	35	35	1225 1225	0 32	12	BIDDING	30	5
472	PAKKAM TO MADURANTHAGAM (LHS ON NH 32)	Chengalpattu	REGULAR	120	Open	CC	35	35	1225	32	12	BIDDING	30	5
473	MADURANTHAGAM TO KARUNGUZHI (LHS ON NH 32)	Chengalpattu	REGULAR	150	Open	CC	35	35	1225	32	12	BIDDING	30	5
475	PAZHAVOOR TO CHITAMUR (ON SH 117)	Chengalpattu	REGULAR	120	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
476	KARUNGUZHI TO KOLAMBAKKAM ON (LHS ON NH 32)	Chengalpattu	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
477	MADURANTHAKAM TOWN -1 (WITH IN MUNCIPAL LIMITS)	Chengalpattu	REGULAR	100	Open	CC	20	20	400	32	12	BIDDING	30	5
478	TOZHUPPEDU TO ACHARAPAKKAM (LHS ON NH 32)	Chengalpattu	REGULAR	150	Open CC-1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
479	GURUKULAM TO SIRUNALLUR (ON SH 117)	Chengalpattu	REGULAR	120	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
480	NALLUR TO CHEYYUR (LHS ON SH 115)	Chengalpattu	REGULAR	120	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
481	PAIYANUR TO NALLANPETRAL (ON SH 49B)	Chengalpattu	REGULAR	120	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
482	TIRUKAZHUKUNDRAM TOWN -2	Chengalpattu	REGULAR	100	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
483	PARNUR TOLL TO MADURANTHAKAM ON (LHS ON NH 32)	Chengalpattu	REGULAR REGULAR	150	Open Open	CC DC	35 35	35	1225 1225	32 32	12 75	BIDDING DRAW OF LOTS	30 15	5
484	KEERAPAKKAM TO TIRUKAZHUKUNDRAM (LHS ON SH 58)	Chengalpattu		120				35						

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension e site (in Sq	(in M.)/Area . M.). *		e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC / SC CC-1 SC PH ST ST CC-1 ST PH	CC / DC / CFS		Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	Rs in Lakhs	Rs in Lakhs
486	CHITHAMUR TO NALLUR (LHS ON SH 115)	Chengalpattu	REGULAR	120	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
487	THIMMAVARAM TO PALUR (LHS ON SH 58 )	Chengalpattu	REGULAR	120	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
488	THIRUKAZHUKUNDRAM TO CHENGALAPATTU (LHS ON SH 58)	Chengalpattu	REGULAR	120	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
489 490	CHUNAMPET (ON SH 117) MADURANTHAKAM TOWN -3 (WITH IN MUNCIPAL LIMITS )	Chengalpattu	REGULAR REGULAR	120 100	SC OBC	CFS DC	35 20	35 20	1225 400	0 32	0 55	DRAW OF LOTS DRAW OF LOTS	0 15	3
490	MADURANTHARAW TOWN -3 (WITH IN MONCIPAL LIMITS )	Chengalpattu Chengalpattu	REGULAR	150	Open	CC	35	35	1225	32	12	BIDDING	30	5
491	KOLAMBAKKAM TO BUKKATHURAI (LHS ON NH 32.)	Chengalpattu	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
493	CHENGALPATTU TO NENMELI (LHS ON SH 58)	Chengalpattu	REGULAR	130	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
494	MADURANTHAKAM TOWN 2 (WITH IN MUNCIPAL LIMITS )	Chengalpattu	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
495	THENPATTINAM TO KADAPAKKAM ON ECR(LHS)	chengalpattu	REGULAR	120	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
496	ACHARAPAKKAM TOWN	Chengalpattu	REGULAR	100	Open	DC	35	35	1225	32	55	DRAW OF LOTS	15	5
497	THIRUKAZHUKUNDRAM TO KOTHIMANGALAM ON SH 49B	Chengalpattu	REGULAR	120	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
498	CHENGALPATTU TO MADURANTHGAM (LHS ON NH-32)	Chengalpattu	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
499	CHENNAI CITY (WITHIN GCC LIMITS)-7	CHENNAI	REGULAR	200	Open	CC	20	20	400	32	12	BIDDING	30	5
500	ANNANAGAR ROUNTANA TO KILPAUK GARDEN	CHENNAI	REGULAR	150	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
501	ARCOT ROAD (KODAMBAKKAM BRIDGE TO VADAPALANI SIGNAL)	CHENNAI	REGULAR	250	OBC	CC	17	20	340	32	12	BIDDING	30	4
502	VADAPALANI TO PORUR ON ARCOT ROAD (LHS)	CHENNAI	REGULAR	300	Open	CC	20	20	400	32	12	BIDDING	30	5
503 504	KUNDRATHUR MAIN ROAD (PORUR JN TO INNER RING ROAD) ON LHS CHENNAI CITY (WITHIN GCC LIMITS)-4	CHENNAI	REGULAR	150 300	SC OBC	CFS CC	20 20	20 20	400	0 32	0	DRAW OF LOTS BIDDING	0 30	3
504	MUGAIYUR TO THENPATTINAM (LHS ON ECR)	Chengalpattu	REGULAR REGULAR	300	OBC Open CC-1	DC	35	35	400 1225	32	75	DRAW OF LOTS	30 15	5
505	VELACHERRY	CHENNAI	REGULAR	120	Open Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
507	MOUNT POONAMALEE ROAD FROM KATHIPARA FLYOVER TO PORUR JN( LHS)	CHENNAI	REGULAR	200	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
508	CHENNAI CITY (WITHIN GCC LIMITS)-1	CHENNAI	REGULAR	200	OBC	CC	20	20	400	32	12	BIDDING	30	4
509	ADYAR	CHENNAI	REGULAR	150	Open	CC	20	20	400	32	12	BIDDING	30	5
510	MANAPAKKAM	CHENNAI	REGULAR	200	Open	CC	20	20	400	32	12	BIDDING	30	5
511	CHENNAI CITY (WITHIN GCC LIMITS)-3	CHENNAI	REGULAR	230	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
512	TIRUVALLUR (KAKKALUR TO ARANVOYAL ROAD)	Tiruvallur	REGULAR	180	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
513	CHENNAI CITY (WITHIN GCC LIMITS)-2	CHENNAI	REGULAR	220	Open	CC	20	20	400	32	12	BIDDING	30	5
514	ENNORE	Chennai	REGULAR	150	Open CC-2	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
515	MANAVALANAGAR TO POLIVAKKAM (LHS ON SH57 )	Tiruvallur	REGULAR	120	OBC CC-1	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
516 517	NOCHILI ON SH108 CHENNAI CITY & PERIPHERY (WITHIN CMDA LIMITS)-2	Tiruvallur Tiruvallur	REGULAR REGULAR	120 250	SC CC-1	CFS CC	35 20	35 20	1225 400	0 32	0 12	DRAW OF LOTS BIDDING	0 30	3
517	ANNANAGAR	CHENNAI	REGULAR	230	Open Open	CC	20	20	400	32	12	BIDDING	30	5
510	IKKADU TO NASARI ON SH114	Tiruvallur	REGULAR	150	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
520	CHENNAI CITY(WITHIN GCC LIMITS)-6	CHENNAI	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
521	NEW AVADI ROAD , KILPAUK	CHENNAI	REGULAR	160	Open	CC	17	17	289	32	12	BIDDING	30	5
522	PADI BRIDGE TO AYANAVARAM	CHENNAI	REGULAR	160	Open	CC	14	20	280	32	12	BIDDING	30	5
523	THIRUNINRAVUR TO ANNAMALAI NAGAR (LHS ON CTH ROAD TOWARDS TIRUVALLUR)	Tiruvallur	REGULAR	180	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
524	CHENNAI CITY (WITHIN GCC LIMITS)-5	Kanchipuram	REGULAR	200	Open	CC	20	20	400	32	12	BIDDING	30	5
525	TIRUTTANI TO PONPADI ON (LHS ON NH205)	Tiruvallur	REGULAR	200	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
526 527	ARUNGULAM TO RAMANJERI (LHS ON NH205 ) THIRUNINRAVUR TO MULLAI NAGAR (RHS ON CTH ROAD TOWARDS CHENNAI)	Tiruvallur Tiruvallur	REGULAR	280 140	Open OBC	CC DC	35 35	35 35	1225 1225	32	12 55	BIDDING DRAW OF LOTS	30 15	5
				200	Open CC 1		25		1005	20	05		15	E
528 529	ARCOTKUPPAM TO TIRUTTANI ON NH205 ATHIMANJERIPET TO PALLIPATTU ROAD (LHS ON SH108 )	Tiruvallur Tiruvallur	REGULAR REGULAR	200 120	Open CC-1 SC	DC CFS	35 35	35 35	1225 1225	32	95 0	DRAW OF LOTS DRAW OF LOTS	15 0	5
529	RK PET TO VARSAMPET (RHS ON SH108)	Tiruvallur	REGULAR	120	OBC	CFS	35	35	1225	32	12	BIDDING	30	4
530	TIRUTTANI TO MURUKKAMBATTU (RHS ON NH205)	Tiruvallur	REGULAR	200	Open	CC	35	35	1225	32	12	BIDDING	30	5
532	PANAPAKKAM TO UTHUKOTTAI (RHS ON SH51 )	Tiruvallur	REGULAR	150	Open	CC	35	35	1225	32	12	BIDDING	30	5
533	PERUNGALATHUR TOWN	Chengalpattu	REGULAR	150	OBC	CC	20	20	400	32	12	BIDDING	30	4
534	VENGATHUR ON SH-50	Tiruvallur	REGULAR	140	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
535	ARUNGULAM TO RAMANJERI (RHS ON NH205)	Tiruvallur	REGULAR	200	Open	CC	35	35	1225	32	12	BIDDING	30	5
536	TIRUVALLUR TOWN	Tiruvallur	REGULAR	180	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
537	KATTANKULATHUR (NOT ON NH)	Chengalpattu	REGULAR	150	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension e site (in Sq	(in M.)/Area . M.). *		e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC / SC CC-1 SC PH ST ST CC-1 ST PH	CC / DC / CFS	, C	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	Rs in Lakhs	Rs in Lakhs
538	ARCOT TO GREEN CIRCLE (LHS ON NH48)	Ranipet	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
539	THIRUNINRAVUR TO MULLAI NAGAR (LHS ON CTH ROAD TOWARDS CHENNAI)	Tiruvallur	REGULAR	180	Open	СС	35	35	1225	32	12	BIDDING	30	5
540	MAPPEDU JN TO THODUKADU JN ON SH50B	Tiruvallur	REGULAR	140	Open	CC	35	35	1225	32	12	BIDDING	30	5
541	KANCHIPURAM TO GOVINDAVADI ON KANCHIPURAM- THIRUPATHI HIGHWAY	Kanchipuram	REGULAR	100	OBC PH	DC	35	35	1225	32	55	DRAW OF LOTS	15	4
542	TOZHUPPEDU TO ATHUR TOLL PLAZA ON (LHS ON NH 32)	Chengalpattu	REGULAR	150	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
543	PUDUPET TO PALLIPATTU ON SH	Tiruvallur	REGULAR	120	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
544 545	THIRUMAZHAISAI TO VELLAVEDU (LHS ON SH50 ) VANDALUR TO KUNDRATHUR ON ORR (RHS ON SH234)	Tiruvallur	REGULAR REGULAR	120 210	Open OBC	DC DC	35 35	35 35	1225 1225	32 32	75 75	DRAW OF LOTS DRAW OF LOTS	15 15	5
545 546	TIRUTTANI TO SARASWATI NAGAR ON SH58	Kanchipuram Tiruvallur	REGULAR	110	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4 5
547	MYLAPORE TO SEETHANJERI (LHS ON SH50 )	Tiruvallur	REGULAR	120	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
548	SARASWATI NAGAR TO ARAKKONAM ROAD ON SH58	Tiruvallur	REGULAR	110	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
549	MAHINDRA CITY	Chengalpattu	REGULAR	150	OBC	CC	20	20	400	32	12	BIDDING	30	4
550	KAKKALUR ON SHU148	Tiruvallur	REGULAR	130	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
551	VANDALUR TO MALAYAMBAKKAM ON ORR (LHS ON SH234)	kanchipuram	REGULAR	210	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
552 553	MARAIMALAI NAGAR MUNICIPAL LIMITS PATTABIRAMAPURAM TO KARTHIKEYAPURAM NEW BYEPASS ROAD	Chengalpattu Tiruvallur	REGULAR REGULAR	150 120	OBC Open	CC DC	20 35	20 35	400 1225	32 32	12 75	BIDDING DRAW OF LOTS	30 15	4
	CONNECTING NH205 JN TO SH 58 JN		REGULAR			DC	20	20	400	32		DRAW OF LOTS		
554 555	MUDICHUR TOWN PADAPPAI TO ORAGADAM ON SH48	Chengalpattu Kanchipuram	REGULAR	150 150	Open CC-1 OBC	DC	20 35	35	400	32	75 75	DRAW OF LOTS	15 15	5
556	ORAGADAM JUNCTION TO SRIPERUMBUDUR ON SH57	Kanchipuram	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
557	ARANVOYAL ON SH50	Tiruvallur	REGULAR	140	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
558	PALLIPATTU TO NAGARI ON SH108	Tiruvallur	REGULAR	120	Open	CC	35	35	1225	32	12	BIDDING	30	5
559	THIRUMUDIVAKKAM TOWN ON THIRUMUDIVAKKAM TO KUNDRATHUR ROAD	Kanchipuram	REGULAR	150	OBC	сс	20	20	400	32	12	BIDDING	30	4
560	MM NAGAR TO CHENGELPET ON NH32 (LHS)	Chengalpattu	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
561	ASWARAVANTHAPURAM ON SH54	Tiruvallur	REGULAR	120	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
562 563	TAMBARAM TO NANDAMBAKKAM ON KISHKINTA ROAD APPUR TO ORAGADAM ON SH57	Chengalpattu Kanchipuram	REGULAR REGULAR	300 150	Open Open	CC DC	20 35	20 35	400 1225	32 32	12 75	BIDDING DRAW OF LOTS	30 15	5 5
564	CHROMPET TO THIRUNEERMALAI ON THIRUNEERMALAI MAIN ROAD	Chengalpattu	REGULAR	150	OBC CC-1	DC	20	20	400	32	75	DRAW OF LOTS	15	4
565	PALLAVARAM TO VANDALUR ON NH32 (RHS)	Chengalpattu	REGULAR	150	SC CC-1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
566	PALLAVARAM	Chengalpattu	REGULAR	150	Open PH	DC	20	20	400	32	75	DRAW OF LOTS	15	5
567	URAPAKKAM-WALAJABAD LINK ROAD	Kanchipuram	REGULAR	150	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
568	TAMBARAM TO GUDUVANCHERRY ON (LHS ON NH32 )	Chengalpattu	REGULAR	200	Open	CC	35	35	1225	32	12	BIDDING	30	5
569 570	SRIPERUMBDUR TOWN (ON SH 113) SINGAPERUMAL KOIL TO APPUR ON SH57	Kanchipuram	REGULAR REGULAR	150 150	SC Open	CFS DC	35 35	35 35	1225 1225	0 32	0 75	DRAW OF LOTS DRAW OF LOTS	0	3
570	MARAIMALAI NAGAR TO KALIVANTHAPATTU ON ANNA SALAI ROAD	Chengalpattu Chengalpattu	REGULAR	150	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	5 4
572	GUDUVANCHERY TOWN ( NOT ON NH )	Chengalpattu	REGULAR	150	Open	CC	20	20	400	32	12	BIDDING	30	5
573	KOLAPAKKAM TO PERUNGLATHUR VIA GANDHI ROAD (NOT ON NH/SH)	Chengalpattu	REGULAR	150	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
574	GUDUVANCHERY TO MM NAGAR ON NH32(LHS)	Chengalpattu	REGULAR	150	ŚC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
575	URAPAKKAM (NOT ON NH)	Chengalpattu	REGULAR	150	OBC	CC	20	20	400	32	12	BIDDING	30	4
576	URAPAKKAM TO NALLAMBAKKAM ON MDR 597	Chengalpattu	REGULAR	150	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
577 578	ARAKKONAM TO KUMPINIPETAI (RHS ON SH61) SRIPERUMBDUR TO KUNDRATHUR ON SH 113	Ranipet Kanchipuram	REGULAR REGULAR	120 150	Open CC-1 SC	DC CFS	35 35	35 35	1225 1225	32	75 0	DRAW OF LOTS DRAW OF LOTS	15 0	5
579	PADAPPAI TO POTHERI ON ORATHUR ROAD	Chengalpattu	REGULAR	150	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
580	PALLAVARAM TO GUDUVANCHERRY ON (RHS ON NH32 )	Chengalpattu	REGULAR	150	Open	CC	35	35	1225	32	12	BIDDING	30	5
581	MM NAGAR TO CHENGELPET ON (RHS ON NH32)	Chengalpattu	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
582	TAMBARAM TO NANDAMBAKKAM ON DHARKAS ROAD	Kanchipuram	REGULAR	300	OBC	CC	20	20	400	32	12	BIDDING	30	4
583	SRIPERUMBDUR TO MANIMANGALAM ON SH 110	Kanchipuram	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
584	NANDHIVARAM ON GUDUVANCHERRY TO NELLIKUPPAM ROAD	Chengalpattu	REGULAR	150	Open	CC	20	20	400	32	12	BIDDING	30	5
585	TAMBARAM & PERIPHERY(WITHIN TAMBARAM CORPORATION LIMITS)-1	Chengalpattu	REGULAR	150	Open	<u> </u>	20	20	400	32	12	BIDDING	30	5
586 587	PUDUPADI TO MULLUVADI ON SH5 PALLAVARAM TO MARAIMALAINAGAR ON NH32 (LHS )	Ranipet	REGULAR REGULAR	120 200	OBC SC	DC CFS	35 35	35 35	1225 1225	32 0	75 0	DRAW OF LOTS DRAW OF LOTS	15 0	4
	PALLAVARAWI TO WARAIWALAINAGAR UN NH32 (LHS )	Chengalpattu	I REGULAR	1 200	1 30	1 65	35	1 35	1220	I U	1 U	I DRAW UP LUIS	U U	3

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension e site (in Sq	(in M.)/Area ı. M.). *		e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC / SC CC-1 SC PH ST ST CC-1 ST PH	CC / DC / CFS		Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	Rs in Lakhs	Rs in Lakhs
589	MUDICHUR TO MANNIVAKKAM ON SH48	Chengalpattu	REGULAR	150	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
590	WITHIN 2KM FROM THIRUMALAI CHEMICALS TOWARDS PONNAI ON SH124A	Ranipet	REGULAR	210	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
591	K V KUPPAM TO LATTERI ON NH75	Vellore	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
592	CHROMPET	Chengalpattu	REGULAR	150	Open	CC	20	20	400	32	12	BIDDING	30	5
593	THIRUVALAM TO MELPADI ON SH124	Vellore	REGULAR	120	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
594	VADAGAL ON SH 57	Kanchipuram	REGULAR	150	Open	CC	35	35	1225	32	12	BIDDING	30	5
595	PALLAVARAM TO KUNDRATHUR ON SH 113A	Chengalpattu	REGULAR	150	Open	CC	20	20	400	32	12	BIDDING	30	5
596	SATHUVACHARI TO MELVISHARAM (LHS ON NH48)	Vellore	REGULAR REGULAR	150 120	SC OBC	CFS DC	35 35	35 35	1225 1225	0 32	0 75	DRAW OF LOTS	0	3
597 598	WITHIN 3 KM FROM KALAVAI TOWN TO VAZHAPANDAL (ON SH 123) NAGALKENI (TAMBARAM CORPORATION LIMITS)	Ranipet	REGULAR	120		CC	20	20	400	32	12	DRAW OF LOTS BIDDING	15 30	4 5
599	GUDUVANCHERRY TO NEELAMANGALAM ON MADAMBAKKAM- NEELAMANGALAM ROAD	Chengalpattu Chengalpattu	REGULAR	150	Open Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
600	LATTERI TO PANAMADANGI ON SH125	Vellore	REGULAR	120	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
601	LALAPET TO PONNAI (ON SH124A)	Ranipet	REGULAR	120	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
602	PADAPPAI TO MANIMANGALAM ON KARASANGAL-MANIMANGALAM SRIPERUMDUR ROAD	Kanchipuram	REGULAR	150	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
603	THIRUPATHUR TO KUNICHI ON SH60	Tirupathur	REGULAR	110	Open CC-1	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
604	KATPADI TO AMMUNDI (LHS ON SH 59)	Vellore	REGULAR	120	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
605	PALLIKONDA TOLL GATE TO POIGAI ON NH48	Vellore	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
606	THIRUNEERMALAI TOWN LIMITS ON NH32 (SERVICE ROAD)	Chengalpattu	REGULAR	150	Open	CC	30	30	900	32	12	BIDDING	30	5
607	TAMBARAM TO KUNDRATHUR ON NH 32(SERVICE ROAD)	Chengalpattu	REGULAR	150	Open	CC	30	30	900	32	12	BIDDING	30	5
608	POIGAI TO VELLORE ON NH48	Vellore	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
609	GREEN CIRCLE TO ARAPAKKAM (LHS ON NH48)	Vellore	REGULAR	190	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
610	VANDALUR TO PADAPPAI ON WALAJABAD MAIN ROAD	Kanchipuram	REGULAR	150	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
611 612	VELLORE TOWN (NOT ON NH)	Vellore	REGULAR REGULAR	160 150	Open	CC DC	20 35	20 35	400 1225	32 32	12 95	BIDDING DRAW OF LOTS	30	5
612	TT MOTTUR TO PERUMBADI ON NH75 KATPADI TOWN(NOT ON NH/SH)	Vellore Vellore	REGULAR	160	OBC Open	DC	20	20	400	32	95 75	DRAW OF LOTS	15 15	5
614	MOOLAIGATE TO PULIMEDU ON SH	Vellore	REGULAR	110	SC CC-1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
615	PARNUR TOLL TO MAMANDUR (LHS ON NH32 )	Chengalpattu	REGULAR	150	Open CC-2	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
616	KANNAMANGALAM TO ARCOT ON SH129	Ranipet	REGULAR	120	OBC CC-1	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
617	LATTERI (NOT ON NH/SH)	Vellore	REGULAR	100	Open	DC	35	35	1225	32	55	DRAW OF LOTS	15	5
618	THIRUPATHUR TO RACHAMANGALAM ON SH18A	Tirupathur	REGULAR	110	ŚC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
619	PALLIKONDA TO MADHANUR (LHS ON NH 48)	Vellore	REGULAR	150	OBC	CC	35	35	1225	32	12	BIDDING	30	4
620	VELLORE TO BAAGAYAM ON NH	Vellore	REGULAR	200	Open	CC	30	30	900	32	12	BIDDING	30	5
621	KATPADI TO CHITTOOR (RHS ON SH9)	Vellore	REGULAR	200	Open	CC	35	35	1225	32	12	BIDDING	30	5
622	MOOLAIGATE TO ANAICUT ON SH	Vellore	REGULAR	110	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
623 624	JOLARPET TOWN ON NH PONNAI TO SHOLINGUR ON SH54	Tirupathur	REGULAR REGULAR	150 120	SC	CFS DC	30 35	30 35	900 1225	0 32	0 75	DRAW OF LOTS DRAW OF LOTS	0	3
625	WALAJAH TOLL TO ARCOT (LHS ON NH48)	Vellore Ranipet	REGULAR	120	Open Open	CC	35	35	1225	32	12	BIDDING	15 30	5
626	PARADARAMI TO PERUMALPALLI ON SH (GUDIYATHAM - CHITTOOR ROAD )	Vellore	REGULAR	110	OBC	cc	35	35	1225	32	12	BIDDING	30	4
627	ARAKKONAM TO KANCHIPURAM ON SH 58	Vellore	REGULAR	110	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
628	PONNAI TO MELPADI ON SH124	Vellore	REGULAR	120	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
629	KANCHIPURAM TOWN-1 (WITHIN MUNICIPAL LIMITS)	Kanchipuram	REGULAR	160	Open CC-1	DC	20	20	400	32	55	DRAW OF LOTS	15	5
630	ELAGIRI HILLS	Tirupathur	REGULAR	120	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
631	VALARPURAM TO MANNUR ON SH 50B	Kanchipuram	REGULAR	370	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
632	KANGEYANALLUR	Vellore	REGULAR	150	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
633	ARCOT TOWN (NOT ON SH/NH)	Ranipet	REGULAR	120	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
634	MADHANUR TO AMBUR (LHS ON NH48)	Tirupathur	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
635	ARCOT TOWN ON SH	Ranipet	REGULAR	120	Open	CC	20	20	400	32	12	BIDDING	30	5
636	THIRUPATHUR TO JOLARPET ON NH	Tirupathur	REGULAR	160	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
637	WALAJAH TOWN ALANGAYAM TOWN ON ALANGAYAM TO POLUR ROAD	Ranipet Tirupathur	REGULAR REGULAR	120 110	Open OBC	DC DC	20 35	20 35	400 1225	32 32	55 75	DRAW OF LOTS DRAW OF LOTS	15 15	5
638													1 15	4

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension e site (in Sq	(in M.)/Area . M.). *		e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in KLs	6 SC / SC CC-1 SC PH ST ST CC-1 ST PH	7 CC / DC / CFS		8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11 Rs in Lakhs	12 Rs in Lakhs
640	MAPPEDU TO PANNUR ON SH120	Tiruvallur	REGULAR	120	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
641	KARUMBAKKAM TO THIRUPORUR	Chengalpattu	REGULAR	110	OBC PH	DC	35	35	1225	32	55	DRAW OF LOTS	15	4
642 643	BAAGAYAM TO KANNAMANGALAM ON NH38 RANIPET TO CHITTOOR ON NH40	Vellore Vellore	REGULAR REGULAR	150 150	Open Open	CC DC	35 35	35 35	1225 1225	32 32	12 95	BIDDING DRAW OF LOTS	30 15	5
644	KAULAPADI TO RANGASAMUDRAM (ON SH, GUDIATTAM- CHITTOOR ROAD)	Vellore	REGULAR	110	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
645	WALAHJABAD TO PALAYASEEVARAM ON NH132B	Kanchipuram	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
646	LATTERI TO KATPADI (ON NH75)	Vellore	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
647	THUTHIPET ON SH (AMBUR TALUK)	Tirupathur	REGULAR	110	Open	CC	35	35	1225	32	12	BIDDING	30	5
648	PERNAMBUT ( ON SH)	Vellore	REGULAR	110	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
649	SRIPERUMBUDUR TO SENGADU ON SH 57	Kanchipuram	REGULAR	120	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
650	AMBUR TOWN (AMBUR TO PERNAMBUT ROAD )	Tirupathur	REGULAR	110 150	Open	DC DC	20	20 35	400 1225	32	55	DRAW OF LOTS DRAW OF LOTS	15	5
651 652	GUDIYATHAM TO SETHUVANDAI ( ON NH) AMBUR TO VANIYAMBADI ON NH48	Vellore Tirupathur	REGULAR REGULAR	150	Open Open	DC	35 35	35	1225	32 32	95 95	DRAW OF LOTS	15 15	5 5
653	MEVALLURKUPPAM TO VALARPURAM ON SH 50B	Kanchipuram	REGULAR	370	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
654	PANRUTTI TO UTHUKADU (ON SH48)	Kanchipuram	REGULAR	135	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
655	TAMBARAM - VELACHERY MAIN ROAD BETWEEN TAMBARAM RAILWAY STATION AND MEDAVAKKAM(LHS)	Chengalpattu	REGULAR	250	Open CC-1	DC	20	20	400	32	75	DRAW OF LOTS	15	5
656	WALAHJABAD TO KANCHIPURAM ON NH132B	kanchipuram	REGULAR	208	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
657	GUDIYATHAM TOWN (NOT ON NH)	Vellore	REGULAR	140	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
658	NANGANALLUR	Chennai	REGULAR	210	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
659		Tirupathur	REGULAR	110	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
660 661	KANCHIPURAM TOWN-2 (WITHIN MUNICIPAL LIMITS) VANIYAMBADI TOWN (NOT ON NH /SH)	Kanchipuram Tirupathur	REGULAR REGULAR	160 120	OBC Open	DC DC	20 20	20 20	400 400	32 32	55 55	DRAW OF LOTS DRAW OF LOTS	15 15	4
662	VANITAMBADI TOWN (NOT ON NH /SH) VANIAMBADI TO GIRISAMUDRAM ON SH	Tirupathur	REGULAR	120	Open	CC	20	20	400	32	12	BIDDING	30	5
663	KANCHIPURAM TO PERUNAGAR (ON SH116)	Kanchipuram	REGULAR	120	SC CC-1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
664	NATRAMPALLI TO VELAKALNATHAM ON NH48	Tirupathur	REGULAR	160	OBC CC-1	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
665	VANIAMBADI TO CHETTIYAPPANUR ON SH	Tirupathur	REGULAR	120	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
666 667	VELLORE TOWN ON OLD BYPASS ROAD EACHANKADU JUNCTION TO DR.KAMAKSHI MEMORIAL HOSPITAL JUNCTION	Vellore Chengalpattu	REGULAR REGULAR	150 400	Open PH SC	DC CFS	20 20	20 20	400 400	32 0	75 0	DRAW OF LOTS DRAW OF LOTS	15 0	5
668	(RHS) SRIPERUMBUDUR TO MANIMANGALAM ON SH110	Kanchipuram	REGULAR	173	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
669	PENNALUR TO CHEMBARAMBAKKAM ON (LHS ON NH48)	Kanchipuram	REGULAR	455	Open	CC	35	35	1225	32	12	BIDDING	30	5
670	KANCHIPURAM TO THAMAL ON (LHS ON NH-4)	Kanchipuram	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
671	PALLIKARANAI TO MEDAVAKKAM ON VELACHERY - TAMBARAM MAIN ROAD (LHS)	Chennai	REGULAR	350	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
672	KANCHIPURAM TO THAMAL ON NH-4 (RHS)	Kanchipuram	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
673	MEVALLURKUPPAM TO THIRUMAZHISAI (LHS ON NH48)	Kanchipuram	REGULAR	180	Open	CC	35	35	1225	32	12	BIDDING	30	5
674	SUNGUVARCHATHRAM TO AYMICHERI ON SH120	Kanchipuram	REGULAR	120	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
675 676	AYMICHERI TO KATTAVAKKAM ON SH120 KEELKATALAI JUNCTION TO MEDAVAKKAM ON MEDAVAKKAM MAIN ROAD	Kanchipuram Chengalpattu	REGULAR REGULAR	120 220	OBC SC	DC CFS	35 20	35 20	1225 400	32 0	75 0	DRAW OF LOTS DRAW OF LOTS	15 0	4
677	SUNGUVARCHATHRAM TO PARANDUR	Kanchipuram	REGULAR	120	Open	DC	35	35	1225	32	55	DRAW OF LOTS	15	5
678	SKOLATHUR	Chengalpattu	REGULAR	150	Open CC-1	DC	20	20	400	32	75	DRAW OF LOTS	15	5
679	PALLAVARAM TO EACHANKADU JUNCTION ON 200 FT RADIA ROAD (LHS)	Chengalpattu	REGULAR	400	OBC	CC	20	20	400	32	12	BIDDING	30	4
680 681	KOVILAMBAKKAM WITHIN 3 KM FROM SUNGUVARCHATRAM BUS STAND & PERIPHERY (NOT ON	Chengalpattu Kanchipuram	REGULAR REGULAR	230 120	SC Open	CFS DC	20 35	20 35	400 1225	0 32	0	DRAW OF LOTS	0 15	3
682	NH) SIRUSERI TO AARASANKALANI ON MAIN ROAD	•	REGULAR	150	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
682	UTHIRAMERUR TOWN ON BHUKATHURAI ROAD	Chengalpattu Kanchipuram	REGULAR	150	OBC	DC	35	35	400	32	75	DRAW OF LOTS	15	4 5
684	KANCHIPURAM TO SEVILIMEDU	Kanchipuram	REGULAR	120	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
685	MEDAVAKKAM MAIN ROAD BETWEEN ULLAGARAM AND KEELKATALAI JUNCTION	Chengalpattu	REGULAR	250	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
686	ALANDUR TO VELACHERY ON INNER RING ROAD	Chennai	REGULAR	300	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
687	KANCHIPURAM TO MAGARAL ON SH 118A	Kanchipuram	REGULAR	200	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		e site (in Sq	(in M.)/Area . M.). *		e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6 SC /	7		8	1	9a Estimated	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC CC-1 SC PH ST ST CC-1 ST PH	CC / DC / CFS	, C	Depth	Area	working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	Rs in Lakhs	Rs in Lakhs
688	ORAGADAM TO WALAHJABAD ON SH48 ON LHS	Kanchipuram	REGULAR	135	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
689	MEDAVAKKAM TO SITHALAPAKKAM ON MAMBAKKAM MAIN ROAD	Chengalpattu	REGULAR	200	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
690 691	ADAMBAKKAM MOOVARASANPET MAIN ROAD	Chennai	REGULAR REGULAR	150 250	OBC Open	DC CC	20 20	20 20	400 400	32 32	75 12	DRAW OF LOTS BIDDING	15 30	4
691	PALLAVARAM TO EACHANKADU JUNCTION ON 200 FT RADIA ROAD (RHS)	Chengalpattu Chengalpattu	REGULAR	400	Open	CC	20	20	400	32	12	BIDDING	30	5
693	CHITLAPAKKAM	Chengalpattu	REGULAR	160	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
694	CHROMEPET TO KOVILAMPAKKAM ON NANMANGALAM ROAD	Chengalpattu	REGULAR	250	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
695	PALLAVARAM TO KEELKATTALAI ON DHARGA ROAD/VAITHIYALINGAM STREET	Chengalpattu	REGULAR	150	Open	CC	20	20	400	32	12	BIDDING	30	5
696	KELAMBAKKAM TO THAIYUR	Chengalpattu	REGULAR	160	Open	CC	20	20	400	32	12	BIDDING	30	5
697	KELAMBAKKAM TO THIRUVIDANDHAI	Chengalpattu	REGULAR	160	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
698	SEMMANCHERI	Chennai	REGULAR	230	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
699	NAVALUR TO THALAMBUR	Chengalpattu	REGULAR	200	Open	CC	20	20	400	32	12	BIDDING	30	5
700	EACHANKADU JUNCTION TO DR.KAMAKSHI MEMORIAL HOSPITAL JUNCTION (LHS)	Chengalpattu	REGULAR	400	Open	сс	20	20	400	32	12	BIDDING	30	5
701	NAVALUR TO KELAMBAKKAM ON OMR (LHS)	Chengalpattu	REGULAR	230	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
702	PALLIKARANAI TO MEDAVAKKAM ON VELACHERY - TAMBARAM MAIN ROAD (RHS)	Chennai	REGULAR	350	Open	сс	20	20	400	32	12	BIDDING	30	5
703	SANTHOM HIGH ROAD	Chennai	REGULAR	160	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
704	SHOLINGANALLUR TO MEDAVAKKAM ON PERUMBAKKAM MAIN ROAD	Chengalpattu	REGULAR	200	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
705 706	ARANI (WITHIN TOWN LIMITS) TAMBARAM - VELACHERY MAIN ROAD BETWEEN TAMBARAM RAILWAY STATION AND MEDAVAKKAM(RHS)	Tiruvannamalai Chengalpattu	REGULAR REGULAR	110 350	Open CC-1 Open	DC CC	20 20	20 20	400 400	32 32	55 12	DRAW OF LOTS BIDDING	15 30	5
707	SHOLLINGANALLUR TO NAVALUR TOLL PLAZA ON OMR (LHS)	Chennai	REGULAR	180	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
708	THAIYUR	Chengalpattu	REGULAR	110	OBC	DC	35	35	1225	32	55	DRAW OF LOTS	15	4
709	THORAIPAKKAM	Chennai	REGULAR	200	Open	CC	20	20	400	32	12	BIDDING	30	5
710	SRP TOOLS JUNCTION TO SHOLINGANALLUR ON OMR	Chennai	REGULAR	400	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
711	KILPENNATHUR OUTER BYPASS ROAD NH 179B	Tiruvannamalai	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
712	THIRUVIDANTHAI TO DEVANERI ON ECR	Chengalpattu	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
713 714	SHOLLINGANALLUR TO NAVALUR TOLL PLAZA ON OMR (RHS)	Chennai	REGULAR	300	Open	CC	20	20	400	32	12	BIDDING	30	5
714	PANNUR TO GOVINDAMEDU (LHS ON SH120 ) PANAIYUR TO UTHANDI TOLL PLAZA ON ECR	Tiruvallur Chennai	REGULAR REGULAR	120 180	Open CC-2 OBC CC-1	DC DC	35 20	35 20	1225 400	32 32	75 75	DRAW OF LOTS DRAW OF LOTS	15 15	5
715	VANDAVASI BYPASS ROAD	Tiruvannamalai	REGULAR	120	SC CC-1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
717	PALAVAKKAM TO VGP UNIVERSAL KINGDOM ON ECR	Chennai	REGULAR	230	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
718	DR.KAMAKSHI MEMORIAL HOSPITAL JUNCTION TO OMR ON 200 FT RADIAL ROAD	Chennai	REGULAR	400	Open	СС	20	20	400	32	12	BIDDING	30	5
719	TIRUVANCHERY TO VENGAPAKKAM	Chengalpattu	REGULAR	150	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
720	CHITTERI TO VINNAMANGALAM ON SH4	Tiruvannamalai	REGULAR	120	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
721		Chengalpattu	REGULAR	150	Open	CC	30	30	900	32	12	BIDDING	30	5
722	KOVILANCHERY TO TIRUVANCHERY	Chengalpattu	REGULAR	160	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
723 724	SANTHAVSAL TO KANNAMANGALAM(ON NH 38 ) KAYAR TO MAMBAKKAM	Tiruvannamalai Chengalpattu	REGULAR REGULAR	150 100	OBC Open	DC DC	35 35	35 35	1225 1225	32 32	95 55	DRAW OF LOTS DRAW OF LOTS	15 15	4
724	AVOOR TO VETTAVALAM ON NH38	Tiruvannamalai	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
726	MADIPAKKAM	Chennai	REGULAR	150	Open	CC	20	20	400	32	12	BIDDING	30	5
727	MARUDHADU TO SALAVEDU ON SH115	Tiruvannamalai	REGULAR	120	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
728	PORUR TO MADHURAVOYAL ON CHENNAI BYEPASS SERVICE ROAD(RHS)	Chennai	REGULAR	150	Open CC-1	DC	20	20	400	32	75	DRAW OF LOTS	15	5
729	TIRUVANAMALAI TO NEIKUPPAM ON NH38	Tiruvannamalai	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
730	POLUR TO DEVIKAPURAM (ON SH115)	Tiruvannamalai	REGULAR	120	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
731	MAMBAKKAM TO KELAMBAKKAM ON SH121	Chengalpattu	REGULAR	180	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
732	MEDAVAKKAM	Chengalpattu	REGULAR	230	Open	CC	20	20	400	32	12	BIDDING	30	5
733	POLUR TOWN ON SH 133	Tiruvannamalai	REGULAR	120	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
	CHEYYAR BYPASS (ON SH5)	Tiruvannamalai	REGULAR	120	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
734 735	NAVALUR TO KELAMBAKKAM ON OMR (RHS)	Chengalpattu	REGULAR	200	Open	CC	35	35	1225	32	12	BIDDING	30	5

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension e site (in Sq	(in M.)/Area . M.). *		e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in KLs	6 SC / SC CC-1 SC PH ST ST CC-1 ST PH	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11 Rs in Lakhs	12 Rs in Lakhs
737	PAPPANTHANGAL TO RANTHAM (ON SH5)	Tiruvannamalai	REGULAR	120	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
738	JOLARPET TO PONNERI ON NH	Tirupathur	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
739	SELAIYUR TO PUTHUR ON NEW AGARAM MAIN ROAD/CAMP ROAD	Chengalpattu	REGULAR	250	Open	CC	20	20	400	32	12	BIDDING	30	5
740	NOOTHENCHERI TO GOWRIWAKKAM ON VENGAIVASAL MAIN ROAD	Chengalpattu	REGULAR	160	Open	CC	20	20	400	32	12	BIDDING	30	5
741	MELAKOTTIYUR	Chengalpattu	REGULAR	100	OBC PH	DC	35	35	1225	32	55	DRAW OF LOTS	15	4
742	MARIMALAIANAGAR TO VALLANCHERY ON VALLANCHERY MAIN ROAD	Chengalpattu	REGULAR	150	SC PH	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
743	SITHALAPAKKAM TO KARANAI ON OTTIYAMBAKKAM MAIN ROAD	Chengalpattu	REGULAR	180	Open	CC	20	20	400	32	12	BIDDING	30	5
744	TIRUVANAMALAI TOWN	Tiruvannamalai	REGULAR	120	Open	CC	20	20	400	32	12	BIDDING	30	5
745	NAMMBEDU TO CHETPET (ON SH115)	Tiruvannamalai	REGULAR	120	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
746	CHETPET TOWN TO NEMILI(SH4)	Tiruvannamalai	REGULAR	120	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
747	IRUMBEDU TO VELLERI (SH4)	Tiruvannamalai	REGULAR	120	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
748	KILNACHIPATTU TO DRUGIAMMIANDAL ON NH 38 OUTER BYPASS ROAD	Tiruvannamalai	REGULAR	150	Open	CC	35	35	1225	32	12	BIDDING	30	5
749	POLUR TOWN	Tiruvannamalai	REGULAR	130	OBC	CC	20	20	400	32	12	BIDDING	30	4
750	CHEYYAR TOWN	Tiruvannamalai Tiruvannamalai	REGULAR	100 150	Open	DC CFS	20 35	20 35	400 1225	32 0	55 0	DRAW OF LOTS DRAW OF LOTS	15 0	5
751 752	NEIKUPAM TO THAVALAKULAM ON NH 38 PUDUPATTU TO MAMPAKKAM (ON SH133)	Tiruvannamalai	REGULAR REGULAR	120	SC OBC	CC	35	35	1225	32	12	BIDDING	30	3
753	TIRUVANAMALAI TOWN (ANNSALAI RD)	Tiruvannamalai	REGULAR	120	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
754	AVADI TO PATTABHIRAM ON CHENNAI-THIRUPATHI HIGHWAY	Tiruvallur	REGULAR	200	Open CC-1	DC	20	20	400	32	75	DRAW OF LOTS	15	5
755	SEVVOR TO KUNNATHUR SH 132	Tiruvannamalai	REGULAR	120	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
756	NAZARATHPET TO THIRUMAZHISAI JUNCTION ON NH-48	Tiruvallur	REGULAR	500	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
757	TIRUVANNAMALAI TOWN ON AVALURPET ROAD	Tiruvannamalai	REGULAR	100	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
758	CHETPET ( OUTER BYPASS ROAD)	Tiruvannamalai	REGULAR	130	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
759	MELATHIKKAN TO KOLAKKUDI (SH9)	Tiruvannamalai	REGULAR	120	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
760	THIRUMULAIVOYAL TO AVADI ON CHENNAI TIRUVALLUR HIGH ROAD	Tiruvallur	REGULAR	220	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
761	PADI TO AMBATTUR ON CHENNAI-TIRUPATHI HIGH ROAD (LHS)	Chennai	REGULAR	270	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
762 763	THIRUMULAIVOYAL ON CHENNAI-TIRUPATHI HIGH ROAD POONAMALLEE TO REDHILLS ON CHENNAI OUTER RING ROAD (LHS ON SH 234	Tiruvallur Tiruvallur	REGULAR	220 200	Open Open	CC DC	20 35	20 35	400 1225	32 32	12 75	BIDDING DRAW OF LOTS	30 15	5
764	) MUTHUVENDRAM TO SANTHAVASAL (ON NH 38)	Tiruvannamalai	REGULAR	150	OBC CC-1	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
765	NERKUNDRAM TO MADURAVOYAL ON NH-48	Chennai	REGULAR	270	SC CC-1	CFS	30	30	900	0	95	DRAW OF LOTS	0	3
765	THORAPADI TO BAAGAYAM ON VELLORE CENTRAL JAIL ROAD	Vellore	REGULAR	150	Open PH	DC	20	20	400	32	75	DRAW OF LOTS	15	5
767	THIRUMAZHISAI JUNCTION TO PAPPANCHATTRAM ON NH 48	Tiruvallur	REGULAR	300	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
768	AVADI TO MORAI BEFORE CHENNAI OUTERRING ROAD SUBWAY ON (RHS ON MDR-575)	Tiruvallur	REGULAR	100	Open	DC	25	25	625	32	55	DRAW OF LOTS	15	5
769	VELAPANCHAVADI TO NAZARATHPET ON NH48	Tiruvallur	REGULAR	250	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
770	AVADI TO MORAI BEFORE CHENNAI OUTERRING ROAD SUBWAY ON MDR- 575(LHS)	Tiruvallur	REGULAR	100	Open	DC	25	25	625	32	55	DRAW OF LOTS	15	5
771	MADAVARAM JUNCTION TO SURAPATTU TOLL ON CHENNAI BYPASS	Chennai	REGULAR	150	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
772	AVADI & PERIPHERY (WITHIN AVADI CORPORATION LIMITS)-1 PORUR TO MADHURAVOYAL ON CHENNAI BYEPASS SERVICE ROAD(LHS)	Tiruvallur Chennai	REGULAR	150 250	Open Open	CC CC	20 20	20 20	400 400	32 32	12 12	BIDDING	30 30	5
774	VELAPANCHAVADI TO MADURAVOYAL (RHS ON NH-48)	Tiruvallur	REGULAR	200	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
775	SURAPATTU TOLL TO VANAGARAM TOLL ON CHENNAI BYPASS	Chennai	REGULAR	150	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
776	PARUTHIPATTU TO KARAYANCHAVADI ON SH 55 ON RHS	Tiruvallur	REGULAR	200	Open	CC	20	20	400	32	12	BIDDING	30	5
777	KARAKKU MAIN ROAD, KORATTUR	Chennai	REGULAR	150	Open CC-1	DC	20	20	400	32	75	DRAW OF LOTS	15	5
778	NAZARATHPET TO KARAYANCHAVADI ON SH ON LHS	Tiruvallur	REGULAR	200	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
779	THIRUMAZHISAI JUNCTION TO PAPPANCHATTRAM (RHS ON NH 48)	Tiruvallur	REGULAR	300	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
780	AMBATTUR INDUSTRIAL ESTATE, AMBATTUR TALUK	Chennai	REGULAR	200	Open	CC	20	20	400	32	12	BIDDING	30	5
781	PILLYAR KOVIL STREET, PULIAMBEDU, VELAPANCHAVADI	Tiruvallur	REGULAR	150	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
782	ORAGADAM TO PUZHAL VIA AMBATTUR REDHILLS ROAD (SH-205)	Chennai	REGULAR	200	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
783	100 FEET ROAD TO KADAPPA RD ON WATER CANAL ROAD, KOLATHUR	Chennai	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
784	ORAGADAM TO PUZHAL VIA AMBATTUR REDHILLS ROAD (RHS ON SH205)	Chennai	REGULAR	200	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
785	PARIVAKKAM TO PATTABHIRAM ON SH-206	Tiruvallur	REGULAR	200	Open	CC	35	35	1225	32	12	BIDDING	30	5
786	VANAGARAM TO AMBATTUR OT BUS STAND ON (LHS ON SH-205)	Chennai	REGULAR	200	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
787	ANNANUR, AVADI TALUK	Tiruvallur	REGULAR	150	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq	(in M.)/Area . M.). *		e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC / SC CC-1 SC PH ST ST CC-1 ST PH	CC / DC / CFS		Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	Rs in Lakhs	Rs in Lakhs
788	VELAPANCHAVADI TO MADURAVOYAL (LHS ON NH-48)	Tiruvallur	REGULAR	200	Open	DC	30	30	900	32	95	DRAW OF LOTS	15	5
789	REDHILLS TO POOCHIATHIPEDU ON (LHS ON SH)	Tiruvallur	REGULAR	150	Open	CC	35	35	1225	32	12	BIDDING	30	5
790	AYANAMBAKKAM ROAD, AYAPAKKAM	Tiruvallur	REGULAR	200	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
791	PORUR TO IYYAPPANTHANGAL ON SH55 MADHANANG KUPPAM ROAD CONNECTING WATER CANAL ROAD AND SH-205,	Kanchipuram	REGULAR	200	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
792	KORATTUR (LHS)	Chennai	REGULAR	150	Open	CC	20	20	400	32	12	BIDDING	30	5
793	ALAPAKKAM MAIN ROAD	Chennai	REGULAR	200	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
794	PUDUR MAIN ROAD, AMBATTUR	Chennai	REGULAR	200	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
795		Chennai	REGULAR	200 170	Open	CC CFS	20 20	20 20	400	32 0	12 0	BIDDING	30 0	5
796 797	AVADI & PERIPHERY (WITHIN AVADI CORPORATION LIMITS)-2 PERIYA KOLADI RD, KOLADI VILLAGE, KIL AYANAMBAKKAM	Tiruvallur Tiruvallur	REGULAR REGULAR	170	SC OBC	CFS	20	20	400 400	32	12	DRAW OF LOTS BIDDING	30	3
797	CHENNAI CITY & PERIPHERY (WITHIN CMDA LIMITS)-1	Kanchipuram	REGULAR	150	Open	CC	20	20	400	32	12	BIDDING	30	5
790	VALAYAPATHI ROAD, MOGAPPAIR	Chennai	REGULAR	150	Open	CC	20	20	400	32	12	BIDDING	30	5
800	TAMBARAM& PERIPERHY (WITHIN TAMBARAM CORPORATION LIMT)-3	Chengalpattu	REGULAR	130	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
801	GOPARASANALLUR MAIN ROAD, KATUKUPPAM	Tiruvallur	REGULAR	200	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
802	TAMBARAM& PERIPERHY (WITHIN TAMBARAM CORPORATION LIMIT)-2	Chengalpattu	REGULAR	170	Open	CC	20	20	400	32	12	BIDDING	30	5
803	ENNORE EXPRESS ROAD( WITHIN THIRUVOTTIYUR)	Chennai	REGULAR	150	Open CC-1	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
804	RETTERI JUNCTION TO PADI ON SH-2	Chennai	REGULAR	200	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
805	CHENNAI CITY & PERIPHERY (WITHIN CMDA LIMITS)-3	Tiruvallur	REGULAR	170	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
806	TIRUNELVELI NEW BUSTAND TO NH 44 JUNCTION ON TRIVANDRAM ROAD (LHS)	TIRUNELVELI	REGULAR	150	Open	сс	20	20	400	32	12	BIDDING	30	5
807	NH 44 JUNCTION ON TRIVANDRAM ROAD TO TIRUNELVELI NEW BUS STAND (LHS)	TIRUNELVELI	REGULAR	150	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
808	WITHIN 6 KMS FROM AVIYUR POLICE STATION TOWARDS KARIAPATTI LHS ON NH 38	VIRUDHUNAGAR	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
809 810	KOLLANGUDI TO ULAVOORANI BUS STOP ON NH-85 TIRUNELVELI TOWN TO PETTAI (ON SH 41A)	SIVAGANGA TIRUNELVELI	REGULAR REGULAR	150 150	SC Open	CFS DC	35 20	35 20	1225 400	0 32	0 75	DRAW OF LOTS DRAW OF LOTS	0 15	3
	ROSE MARY IDEAL PUBLIC SCHOOL TO SUTHAMALI ON SH-41A (WITHIN													
811	CORPORATION LIMITS)	TIRUNELVELI	REGULAR	150	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
812	ECR JN TO NATHIPALAM JN ON NH-87	RAMANATHAPURAM	REGULAR	150	OBC	00	35	35	1225	32	12	BIDDING	30	4
813 814	PANAKUDI TO KAVALKINARU (ON NH 44, LHS) NAGERCOIL TO SUNCHINDRAM ON NEW NH66 LHS (NEW 4 LANE ROAD)	TIRUNELVELI KANYAKUMARI	REGULAR REGULAR	150 150	Open SC CC-1	CC CFS	35 35	35 35	1225 1225	32 0	12 0	BIDDING DRAW OF LOTS	30 0	3
815	JEBA GARDEN TO REDDIARPATTI ON MOOLAIKARAIPATTI ROAD	TIRUNELVELI	REGULAR	150	Open CC-2	DC	20	20	400	32	75	DRAW OF LOTS	15	5
816	VANDIYUR (MADURAI CORPORATION)	MADURAI	REGULAR	150	OBC CC-1	DC	20	20	400	32	75	DRAW OF LOTS	15	4
817	NH-85 & NH-183 INTERSECTION TO BODINAYAKANUR ON NH-85	THENI	REGULAR	150	Open	CC	35	35	1225	32	12	BIDDING	30	5
818	MOONDRUMAVADI CIRCLE TO KADACHANENTHAL ON SH 72A (RHS)	MADURAI	REGULAR	160	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
819	THARUVAIKULAM TO PATTINAMARUTHUR ON ECR	TUTICORIN	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
820	MANAGIRI TO NACHIAPURAM ON NH-383	SIVAGANGA	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
821	TIRUNELVELI CITY (WITHIN CORPORATION LIMITS)	TIRUNELVELI	REGULAR	150	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
822	THULUKAPATTI TO VIRUDHUNGAR ON NH 44 RHS	VIRUDHUNAGAR	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
823	CHEKKANURANI TO USILAMPATTI ON NH 85	MADURAI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
824 825	ACHCHUNDANVAYAL TO ECR JN ON NH87 THEEYANUR TO LANTHAI ON NH 87 ON LHS	RAMANATHAPURAM RAMANATHAPURAM	REGULAR REGULAR	150 150	Open Open	DC DC	35 35	35 35	1225 1225	32 32	95 95	DRAW OF LOTS DRAW OF LOTS	15 15	5
826	THEPAKULAM TO VIRAGANUR ON OLD RAMNAD ROAD	MADURAI	REGULAR	150	Open	CC	30	30	900	32	95	BIDDING	30	4
827	CHINNAMANUR TO PUDUPATTI ON NH-183 (VIA UTHAMAPALAYAM BYPASS	THENI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
828	ROAD) KAPPALUR TOLL GATE TO MELAKOTTAI ON (NH 44) LHS	MADURAI	REGULAR	150	Open	CC	35	35	1225	32	12	BIDDING	30	5
829	V.M CHATRAM TO REDIYARPATTI (ON NH44 RHS )	TIRUNELVELI	REGULAR	150	Open CC-1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
830	MELAPALYAM JUNCTION TO SOUTH BY PASS MADURAI ROAD JUNCTION	TIRUNELVELI	REGULAR	150	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
831	MELAKOTTAI TO KALLIGUDI ON NH 44 (LHS)	MADURAI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
832	PALAYAMKOTTAI ( WITHIN CORPORATION LIMITS)	TIRUNELVELI	REGULAR	150	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
833	WITHIN 4 KMS FROM ARUPPUKOTAI RTO OFFICE ON NH 38 ATHIKULAM MAIN ROAD AND NATHAM ROAD INTERSECTION TO UMACHIKULAM-	VIRUDHUNAGAR	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
834 835	KADACHENTHAL ROAD INTERSECTION ON NH 72 (LHS) SATTUR TOWN ON PADANTHAL ROAD (WITHIN SATTUR MUNICIPAL LIMITS)	MADURAI	REGULAR	150 150	OBC Open	DC CC	20 20	20 20	400	32 32	75 12	DRAW OF LOTS BIDDING	15 30	4

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension site (in Sq	(in M.)/Area . M.). *		e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC / SC CC-1 SC PH ST ST CC-1 ST PH	CC / DC / CFS		Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	Rs in Lakhs	Rs in Lakhs
836	MATTUTHAVANI TO NARASINGAM, RHS ON MELUR MAIN ROAD	MADURAI	REGULAR	150	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
837	TIRUNELVELI GOVT COLLEGE OF ENGINEERING TO REDDIARPATTI (ON REDDIARPATTI ROAD)	TIRUNELVELI	REGULAR	150	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
838	DEVAKOTTAI BYPASS ON NH-536	SIVAGANGA	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
839	VIRUDHUNAGAR TOWN ON SH 184	VIRUDHUNAGAR	REGULAR	150	Open	CC	20	20	400	32	12	BIDDING	30	5
840	KODAIKANAL GHAT ROAD & NH-183 INTERSECTION TO DEVADANAPATTI ON NH- 183 LHS	THENI	REGULAR	150	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
841	PERUNGULAM TO UCHIPULI ON NH 87	RAMANATHAPURAM	REGULAR	180	OBC PH	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
842	SAMMATTIPURAM TO NAGAMALAI PUDUKOTTAI (WITHIN MADURAI CORP LIMITS)	MADURAI	REGULAR	150	Open	сс	30	30	900	32	12	BIDDING	30	5
843	ENDAPULI PUDHUPATTI TO DHARMALINGAPURAM ON NH 183	THENI	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
844	NEW CHINNAMANUR BYPASS ROAD (NEW NH-183)	THENI	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
845	CHECKANURANI TO NAGAMALAI PUDUKOTAI, NH 85	MADURAI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
846	NORTH BYEPASS ROAD (WITHIN TIRUNELVELI CORPORATION LIMITS)	TIRUNELVELI	REGULAR	150	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
847	SOUTH BYEPASS ROAD (WITHIN TIRUNELVELI CORPORATION LIMITS)	TIRUNELVELI	REGULAR	150	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
848	KOTTUR TO VEERAPANDI ON NH 183 LHS	THENI	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
849 850	CHOKKAMPATTI TO PULIYANGUDI ON NH-744(LHS) SINTHALAKATTAI TO KEEL ERAL ON NH 38 RHS	TENKASI TUTICORIN	REGULAR REGULAR	150 150	SC Open	CFS CC	35 35	35 35	1225 1225	0 32	0 12	DRAW OF LOTS BIDDING	0 30	3
850	USILAMPATTI TO TYCOON RESORT ON NH 85 RHS	MADURAI	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
852	MANALUR TO TIRUPPUVANAM ON NH-87 LHS	SIVAGANGA	REGULAR	155	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
853	SURVEYOR COLONY TO MATTUTHAVANI ON 120 FT ROAD	MADURAI	REGULAR	150	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
854	SATTUR TO KANJAMPATTI ON NH 44 LHS	VIRUDHUNAGAR	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
855	SEIDUNGANALLUR TO ALWARTHIRUNAGARI VIA NEW SH 40 BYPASS	TUTICORIN	REGULAR	100	Open CC-1	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
856	SATTANKULAM BUS STAND TO SATTANKULAM COURT ON SH 93	TUTICORIN	REGULAR	150	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
857	MANALUR TO TIRUPPUVANAM ON NH-87 RHS	SIVAGANGA	REGULAR	155	Open	CC	35	35	1225	32	12	BIDDING	30	5
858	KOVILPATTI BYPASS ON NH 44	TUTICORIN	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
859	DEIVACHEYALPURAM TO KUMARAGIRI ON NH 138 LHS	TUTICORIN	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
860 861	SUCHINDRAM TO EDALAKKUDY JN ON NH66 ON RHS	KANYAKUMARI TENKASI	REGULAR REGULAR	150 150	OBC	DC CC	35 35	35 35	1225 1225	32 32	95 12	DRAW OF LOTS BIDDING	15 30	4
861	SENCOTTAI TO PUTHUR ON NH-744 MALAYATHANPATTI TO NARASINGAMPATTI ON NH 38 (LHS)	MADURAI	REGULAR	150	Open	CC	35	35	1225	32	12	BIDDING	30	5
863	RADHAPURAM (ON SH 92)	TIRUNELVELI	REGULAR	100	Open SC CC-1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
864	SURANGUDI TO VEMBAR ON ECR	TUTICORIN	REGULAR	150	OBC CC-1	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
865	NALLAMANAYAKKANPATTI JUNCTION TO KALLIGUDI POLICE STATION ON NH 44	MADURAI	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
866	WITHIN 3 KMS FROM SETTUR SUB REGISTRAR OFFICE ON NH 744	VIRUDHUNAGAR	REGULAR	150	Open PH	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
867	KADAYANALLUR ON NH-744	TENKASI	REGULAR	150	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
868	RAJAPALYAM TO KOLLANKONDAN ON NH 744	VIRUDHUNAGAR	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
869	VILLAPURAM TO PALANGANATHAM ON JAIHINDPURAM MAIN ROAD	MADURAI	REGULAR	150	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
870	THEPPAKULAM TO OLD KUYAVAR PALAYAM ROAD (NEW RAMNAD ROAD)	MADURAI	REGULAR	150	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
871	SATTANKONVALASAI TO VEDALAI ON NH-87 ON LHS	RAMANATHAPURAM	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
872	NH 183 & CUMBUM METTU ROAD INTERSECTION TO PUDUPATTI ON NH-183	THENI	REGULAR	150	Open	сс	35	35	1225	32	12	BIDDING	30	5
873	VADAVEERANAYAKANPATTI TO VEERAPANDI ON NH 183 VIA NEW THENI BYPASS ROAD	THENI	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
874	ENDAPULI TO VADAVEERANAYAKANPATTI ON NH 183 VIA NEW PERIYAKULAM BYPASS ROAD	THENI	REGULAR	150	Open	сс	35	35	1225	32	12	BIDDING	30	5
875	MANDELA NAGAR (AIRPORT JUNCTION) TO VELAMMAL MEDICAL COLLEGE ON RING ROAD LHS	MADURAI	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
876	RISHIMANGALA TO MANNAKUDI ON NH-383	SIVAGANGA	REGULAR	155	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
877	WITHIN 4 KMS FROM VIRAGANOOR JUNCTION ON NH-85 (RAMESWARAM ROAD)	MADURAI	REGULAR	150	Open	cc	35	35	1225	32	12	BIDDING	30	5
878	NAGERCOIL TO THOVALAI ON OLD NH944 (LHS)	KANYAKUMARI	REGULAR	150	Open CC-1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
879	ANDIPATTI TO THENI COLLECTOR OFFICE ON NH-85 LHS	THENI	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
880	TAMILNADU-KERALA BORDER TO VILATHURAI (RHS) ON NEW NH 66	KANYAKUMARI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		e site (in Sq	(in M.)/Area . M.). *	applicant	e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in KLs	6 SC / SC CC-1 SC PH ST	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement	9b Estimated fund required for development of	10 Draw of Lots / Bidding	11 Rs in Lakhs	12 Rs in Lakhs
					ST CC-1 ST PH					for operation of RO	infrastructure at RO	_		
881	MOONDRUMAVADI TO IYER BUNGALOW ON IYER BUNGALOW ROAD	MADURAI	REGULAR	150	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
882	AVANIAPURAM TO MADURAI AIRPORT VIA PERUNGUDI	MADURAI	REGULAR	150	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
883	EPPODUVENDRAN TO ETTAYAPURAM ON NH 38 LHS	TUTICORIN	REGULAR	150	Open	CC	35	35	1225	32	12	BIDDING	30	5
884	PULIYARAI ON NH-744	TENKASI	REGULAR	150	Open	CC	35	35	1225	32	12	BIDDING	30	5
885 886	VILIKKURI OLD AND NEW NH JN TO AATHIVILAI ON NEW NH 66 ( LHS) MADURAI CORPORATION OFFICE TO MEENAKSHI MISSION HOSPITAL ON	KANYAKUMARI MADURAI	REGULAR	150	SC OBC	CFS DC	35 20	35	1225 400	0	0 75	DRAW OF LOTS	0 15	3
887	MELUR MAIN ROAD THEPPAKULAM TO VILAKATHOON JUNCTION (VIA KAMARAJAR SALAI)	MADURAI	REGULAR	150 150	Open	CC	30	20 30	900	32	12	DRAW OF LOTS BIDDING	30	4
888	PALANGANATHAM JUNCTION TO PASUMALAI ON MAIN ROAD	MADURAI	REGULAR	150	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
889	NAGERCOIL TO SUNCHINDRAM ON NEW NH66 RHS (NEW 4 LANE ROAD)	KANYAKUMARI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
890	RACE COURSE ROAD JUNCTION TO MOONDRUMAVADI CIRCLE ON SH72A	MADURAI	REGULAR	150	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
891	PERIYAR BUS TERMINUS TO BYEPASS ROAD VIA ELLIS NAGAR MAIN ROAD	MADURAI	REGULAR	150	Open	cc	20	20	400	32	12	BIDDING	30	5
892	KABADI SILAI JUNCTION TO FATHIMA COLLEGE JUNCTION ON SELLUR ROAD	MADURAI	REGULAR	150	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
893	SUCHINDRAM TO EDALAKKUDY JN ON NH66 ON LHS	KANYAKUMARI	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
894	KULATHUR TO MELMANTHAI ON ECR	TUTICORIN	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
895	BELL MATRICULATION HIGHER SR. SCHOOL TO NH 44 JUNCTION ON TIRUCHENDUR ROAD	TIRUNELVELI	REGULAR	150	Open	сс	20	20	400	32	12	BIDDING	30	5
896	KUNNATHUR TO KULAMANGALAM ON NEW NH 744A	MADURAI	REGULAR	150	Open	CC	35	35	1225	32	12	BIDDING	30	5
897	JEBA GARDEN TO SHARADHA TEMPLE (ON POTHIGAI NAGAR ROAD)	TIRUNELVELI	REGULAR	150	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
898	MELAPALAYAM JUNCTION TO CSI CHURCH ON NETHAJI ROAD (WITHIN CORPORATION LIMITS)	TIRUNELVELI	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
899	PERIYAKIRAMANKALAM TO SAKKANTHI ON NH-536	RAMANATHAPURAM	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
900	ANJUGRAMAM TO MAHADHANAPURAM JN ON NH 44 (RHS )	KANYAKUMARI	REGULAR	150	Open	CC	35	35	1225	32	12	BIDDING	30	5
901	RS MANGALAM TO CK MANGALAM ON NH 536	RAMANATHAPURAM	REGULAR	160	OBC	CC	35	35	1225	32	12	BIDDING	30	4
902	IDAISEVAL TO AKILANDAPURAM ON NH 44 LHS	TUTICORIN	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
903 904	KARIAPATTI TO KALKURUCHI ON NH 38 PANDIYUR TO NAINARKOIL ON SH-34	VIRUDHUNAGAR RAMANATHAPURAM	REGULAR	150 110	SC OBC	CFS DC	35 35	35 35	1225 1225	0 32	0 75	DRAW OF LOTS	0	3
904	ILAYANGUDI TO PULIYANKULAM ON SH-34	SIVAGANGA	REGULAR REGULAR	100	Open CC-1	DC	35	35	1225	32	75	DRAW OF LOTS DRAW OF LOTS	15	5
905	PALAYAMKOTTAI ROAD - WITHIN TUTICORIN CORPORATION LIMITS(SHU 92)	TUTICORIN	REGULAR	120	Open CC-1	DC	20	20	400	32	75	DRAW OF LOTS	15	5
907	ITHAMBADAL TO KOTHANKULAM ON ECR	RAMANATHAPURAM	REGULAR	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
908	THALAMUTHUNAGAR MAIN ROAD - WITHIN TUTICORIN CORPORATION LIMITS	TUTICORIN	REGULAR	100	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
909	VK PURAM TO AMBASAMUDRAM RAILWAY CROSSING ON SH-178	TIRUNELVELI	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
910	LOWER CAMP TO GUDALUR ON NH-183 (LHS)	THENI	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
911	KADAYANALLUR TO KASIDHARMAM ON MDR 439A WITHIN MUNICIPALITY LIMIT	TENKASI	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
912	ILAYARASANENTHAL TO MUKKUTTUMALAI ON SH 44	TUTICORIN	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
913	MADURAI MEENAKSHI MISSION HOSPITAL JUNCTION TO VIKRAM MULTISPECIALITY HOSPITAL JUNCTION ON PANDI KOVIL ROAD	MADURAI	REGULAR	150	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
914	MADURAI KAMARAJ UNIVERSITY TO NAGAMALAIPUDUKOTTAI ON NH-85	MADURAI	REGULAR	150	Open CC-2	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
915	SRIVILLIPUTHUR TO ALAGAPURI ON NH 744 LHS	VIRUDHUNAGAR	REGULAR	150	OBC CC-1	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
916	SHOLAVANDHAN TO THIRUVEDAGAM BRIDGE ON SH-73	MADURAI	REGULAR	100	SC CC-1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
917	CK MANGALAM TO MUPPAIYUR ON NH-85	RAMANATHAPURAM	REGULAR	155	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
918	KEELAKANDANI TO MANAMADURAI ON NH-36	SIVAGANGA	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
919	POTTALPUDHUR ON SH-41A	TENKASI	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
920	ARUPPUKOTTAI TO THIRUCHULI ON ON SH 42 TIRUPATTUR TO THIRUKOSTIYUR ON NH-36	VIRUDHUNAGAR	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
921	TIRUPATTUR TO THIRUKOSTIYUR ON NH-36 KANNIYAKUMARI ON NEW NH44 (LHS FROM KANYAKUMARI TOWARDS	SIVAGANGA	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
922	TIRUNELVELI)	KANYAKUMARI	REGULAR	150	Open	CC	35	35	1225	32	12	BIDDING	30	5
923	NARNAMMALPURAM JUNCTION TO SANKAR NAGAR-(ON NH44)	TIRUNELVELI KANYAKUMARI	REGULAR REGULAR	150 150	OBC Open	DC CC	35 35	35 35	1225 1225	32 32	95 12	DRAW OF LOTS BIDDING	15 30	4 5
924	NAGERCOIL TO KUMARAPURAM ON NEW NH 944 (RHS)													

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension e site (in Sq	(in M.)/Area . M.). *		e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC / SC CC-1 SC PH ST ST CC-1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	Rs in Lakhs	Rs in Lakhs
926	ANJUGRAMAM TO MAHADHANAPURAM JN ON NH 44 (LHS ON KANYAKUMARI DISTRICT)	KANYAKUMARI	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
927	MAHARAJAPURAM TO WATRAP ON SH 182	VIRUDHUNAGAR	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
928	VIRUVEEDU TO PASUMPONNAGAR ON SH 154	MADURAI	REGULAR	110	Open CC-1	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
929	V.M CHATRAM TO KRISHNAPURAM LHS (ON SH40)	TIRUNELVELI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
930	KOSAKULAM TO KOODALNAGAR ON ANAIYUR ROAD	MADURAI	REGULAR	150	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
931	IYER BUNGALOW TO PT RAJAN EXTENSION ROAD JUNCTION ON UCHAPARAMBUMEDU ROAD*	MADURAI	REGULAR	150	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
932	TATAMPATTI TO KULAMANGALAM ON NEW NH 744 A	MADURAI	REGULAR	150	Open	CC	35	35	1225	32	12	BIDDING	30	5
933	TAMILNADU-KERALA BORDER TO VILATHURAI ( LHS) ON NEW NH 66	KANYAKUMARI	REGULAR	150	OBC	CC	35	35	1225	32	12	BIDDING	30	4
934	KONDANAGARAM TO SUTHAMALI (ON SH 41 A)	TIRUNELVELI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
935	DEVAKOTTAI BUS STAND TO DEVAKOTTAI NH BYPASS JN VIA SBI COLONY	SIVAGANGA	REGULAR	105	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
936	KANYAKUMARI TO MANAKUDY JN ON SH 179	KANYAKUMARI	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
937	KALAKAD (NOT ON SH) WITH IN MUNICIPAL LIMITS	TIRUNELVELI	REGULAR	100	OBC	DC	35	35	1225	32	55	DRAW OF LOTS	15	4
938	KALLIDAIKURICHI TO VELLANGULI (ON SH 40)	TIRUNELVELI	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
939	COLACHEL ON SH (WITHIN MUNICIPAL LIMITS)	KANYAKUMARI	REGULAR	100	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
940	UVARI NADAR TO KARIKOVIL JUNCTION (ON SH 176)	TIRUNELVELI	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
941	THIRUVENGADAM TO NADUVAPPATTI ON SH-44	TENKASI	REGULAR	100	OBC PH	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
942	OTHAKADAI	MADURAI	REGULAR	150	SC PH	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
943	VIRUDHUNAGAR TOWN, ON RAILWAY FEEDER ROAD	VIRUDHUNAGAR	REGULAR	120	Open	CC	20	20	400	32	12	BIDDING	30	5
944	VIRUDHUNAGAR TOWN LIMITS ON SH 42	VIRUDHUNAGAR	REGULAR	100	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
945	POTTAKULAM TO PERIYANAIKULAM ON SH-47	RAMANATHAPURAM	REGULAR	105	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
946	KUTHUKALVALASAI NH JUNCTION TO TENKASI OLD BUS STAND ON SH-43	TENKASI	REGULAR	100	Open	CC	35	35	1225	32	12	BIDDING	30	5
947	DEVADANAPATTI TO KANAVILAKKU VIA VAIGAI DAM ON SH-101	THENI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
948	THABAL THANTHI NAGAR (MADURAI CORPORATION)	MADURAI	REGULAR	150	Open	CC	20	20	400	32	12	BIDDING	30	5
949	KALUGUMALAI ON SH	TUTICORIN	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
950	KK NAGAR (MADURAI CORPORATION)	MADURAI	REGULAR	150	Open	DC	20	20	400	32 0	75	DRAW OF LOTS	15	5
951	SIVAGANGA BUS STAND TO KOLLANGUDI ON NH-85	SIVAGANGA	REGULAR	160 100	SC OBC	CFS DC	35 35	35	1225	32	0	DRAW OF LOTS	0	3
952 953	V.M CHATRAM TO KRISHNAPURAM RHS (ON SH40) VALASAMUTHARAM TO EPPODUVENDRAN ON NH 38 LHS	TIRUNELVELI TUTICORIN	REGULAR REGULAR	150		CC	35	35 35	1225 1225	32	75 12	DRAW OF LOTS BIDDING	30	4 5
953 954	MANGALREVU ON SH154	MADURAI	REGULAR	100	Open Open CC-1	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
955	AMBASAMUDRAM NEW BYPASS ROAD	TIRUNELVELI	REGULAR	150	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
956	MUTHULAPURAM TO MELAKARANDHAI ON NH 38 LHS	TUTICORIN	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
957	ABIRAMAM TO KAMUTHI ON SH-47	RAMANATHAPURAM	REGULAR	110	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
958	AMMA PARK TO RAMANATHAPURAM PALACE VIA ARANMANAI SALAI	RAMANATHAPURAM	REGULAR	105	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
959	VIRAGANUR JUNCTION TO SILAIMAN ON OLD RAMESWARAM ROAD	MADURAI	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
960	CHINNAPATTI TO CHATRAPATTI ON NH 72	MADURAI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
961	KARAIKUDI TOWN-PERIYAR STATUE TO RAILYWAY STATION ROAD JN ON 100 FEET ROAD	SIVAGANGA	REGULAR	110	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
962	KARAIKUDI OLD BUSTAND TO TRAVELLER'S BUNGALOW VIA SEKKALAI ROAD	SIVAGANGA	REGULAR	110	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
963	MELA AUTHOOR TO DCW GATE ON SH 176	TUTICORIN	REGULAR	120	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
964	THERKKU VASAL SIGNAL TO AVANIAPURAM VIA VILLAPURAM	MADURAI	REGULAR	150	OBC CC-1	DC	20	20	400	32	75	DRAW OF LOTS	15	4
965	USILAMPATTI TO VELLALAPATTI ON SH 154	MADURAI	REGULAR	120	SC CC-1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
966	POOVANTHI TO PANAIYUR ON NH-85	SIVAGANGA	REGULAR	150	Open PH	CC	35	35	1225	32	12	BIDDING	30	5
967	PERUMALPURAM (TIRUNELVELI CORPORATION)	TIRUNELVELI	REGULAR	150	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
968	SIVAKASI TOWN LIMITS ON SH 187	VIRUDHUNAGAR	REGULAR	125	Open	CC	20	20	400	32	12	BIDDING	30	5
969	ALAMPATTI TO NEDUMMADURAI ON NEW NH 744A	MADURAI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
970	WITHIN 4 KMS FROM NEW RAJAYAPALAYAM BUS STAND TOWARDS CHOLAPURAM ON SH 41	VIRUDHUNAGAR	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
971	KAYALPATINAM TO VEERAPANDIANPATINAM ON TIRUCHENDUR ROAD (SH 176)	TUTICORIN	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
972	ELLIYARPATHI TOLL PLAZA TO RING ROAD INTERSECTION ON NH-38 (OLD NH 45B)	MADURAI	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension e site (in Sq	(in M.)/Area . M.). *		e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC / SC CC-1 SC PH ST ST CC-1 ST PH	CC / DC / CFS		Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	Rs in Lakhs	Rs in Lakhs
973	VOC PORT TO NH 38 & NH 138 JUNCTION ON NH 138 RHS	TUTICORIN	REGULAR	150	Open	CC	30	30	900	32	12	BIDDING	30	5
974	NH 38 & NH 138 JUNCTION TO KORAMPALLAM ON NH 138 LHS	TUTICORIN	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
975 976	MALLI TO SRIVILLIPUTHUR ON SH 42 MEELAVITTAN TO SANKARAPERI ON NH 38	VIRUDHUNAGAR TUTICORIN	REGULAR REGULAR	100 150	OBC	DC CC	35 35	35 35	1225 1225	32 32	75 12	DRAW OF LOTS BIDDING	15 30	4
976	SAKKARAKKOTTAI TO KUDAKKOTTAI ON SH 49	RAMANATHAPURAM	REGULAR	120	Open Open CC-1	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
977	KORAMPALLAM TO KUMARAGIRI ON NH 138 RHS	TUTICORIN	REGULAR	120	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
979	VILANGUDI (MADURAI CORPORATION)	MADURAI	REGULAR	150	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
980	THENI ON CUMBUM ROAD (WITH IN THENI MUNICIPAL LIMITS)	THENI	REGULAR	150	Open	DC	30	30	900	32	95	DRAW OF LOTS	15	5
981	MILLERPURAM MAIN ROAD - TUTICORIN CORPORATION LIMITS	TUTICORIN	REGULAR	120	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
982	THATHANERI TO SELLUR ON THATHANERI MAIN ROAD	MADURAI	REGULAR	150	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
983	VIRUDHUNAGAR TO K.USILAMPATTI ON NH 44 LHS	VIRUDHUNAGAR	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
984	KAYALPATINAM WITHIN MUNCIPALITY LIMITS	TUTICORIN	REGULAR	100	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
985	THIRUMANGALAM TOWN (WITHIN MUNICIPAL LIMITS)	MADURAI	REGULAR	110	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
986	T.KUNNATHUR TO T.KALLUPATTI ON NH 744	MADURAI	REGULAR	150	OBC	CC	35	35	1225	32	12	BIDDING	30	4
987	CHINNAMANUR TO KOTTUR ON NH 183 LHS	THENI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
988	KARAIKUDI OLD BUS STAND TO KOVILOOR ON SH-29	SIVAGANGA	REGULAR	115	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
989	KARAIKUDI OLD BUS STAND TO KALANIVASAL JN ON SH-29	SIVAGANGA	REGULAR	110	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
990	TIRUPATTUR TO SHENBAGAMPETTAI TOLL ON NH-36 NAGALAPURAM TO PUDUR ON SH 75	SIVAGANGA	REGULAR	155 100	OBC	DC CFS	35	35	1225	32	95 0	DRAW OF LOTS	15	4
991 992	DCW GATE TO ARUMUGANERI ON SH 176	TUTICORIN TUTICORIN	REGULAR REGULAR	100	SC Open	CFS	35 35	35 35	1225 1225	32	12	DRAW OF LOTS BIDDING	0 30	5
992	MATUTHAVANI TO TEPPAKULAM ON 80 FEET ROAD	MADURAI	REGULAR	120	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
994	USILAMPATTI TOWN	MADURAI	REGULAR	100	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
995	VENGALAKKURICHCHI TO THENPOTUVAKKUDI ON SH-29	RAMANATHAPURAM	REGULAR	105	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
996	WITHIN 3 KMS FROM POLICE PARADE GROUND, SIVAKASI TOWARDS SRIVILLIPUTHUR ON SH 42 LHS	VIRUDHUNAGAR	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
997	GOMATHIPURAM (MADURAI CORPORATION)	MADURAI	REGULAR	150	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
998	TIRUCHENDUR WITHIN TOWN LIMITS*	TUTICORIN	REGULAR	140	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
999	THINGAL NAGAR (MONDAY MARKET) TO THOTTIYODU NH/SH JN ON SH 91	KANYAKUMARI	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1000	AMBASAMUDRAM TOWN LIMITS	TIRUNELVELI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1001	VATCHAKARAPATTI TO SATTUR ON NH 44 LHS	VIRUDHUNAGAR	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1002	AATTOOR TO THIRUVATTAR ON SH 90	KANYAKUMARI	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1003	ARUPPUKOTAI TO KALLURANI ON SH 47	VIRUDHUNAGAR	REGULAR	100	Open CC-1	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1004	PANDIARAJAPURAM TO THATHAMPATTI ON NH-44 LHS	MADURAI	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1005	SAMPARAYANENDAL TO MUTHANENDHAL ON NH 87 ON RHS	SIVAGANGA	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1006 1007	SIVAKASI WITHIN CORPORATION LIMITS MELACHOKKANATHAPURAM TO THEVARAM ON SH-100	VIRUDHUNAGAR THENI	REGULAR REGULAR	100 100	Open	DC DC	20 35	20 35	400 1225	32 32	55 75	DRAW OF LOTS DRAW OF LOTS	15 15	5
1007	KAMUTHI TO KEELARAMANADHI ON SH-100 KAMUTHI TO KEELARAMANADHI ON SH-47	RAMANATHAPURAM	REGULAR	110	Open OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	3
1000	KANYAKUMARI TO SUCHINDRAM ON NEW NH66 LHS (NEW 4 LANE ROAD)	KANYAKUMARI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1000	MADURAI CITY (WITHIN MADURAI CORPORATION LIMITS)	MADURAI	REGULAR	150	Open	CC	20	20	400	32	12	BIDDING	30	5
1011	BIBIKULAM JUNCTION TO P&T NAGAR ON PT RAJAN ROAD	MADURAI	REGULAR	150	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
1012	KARAIKUDI NEW BUS STAND TO CECRI ARCH VIA COLLEGE ROAD	SIVAGANGA	REGULAR	110	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
1013	ANNA NAGAR (MADURAI CORPORATION)	MADURAI	REGULAR	150	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
1014	MELAIYUR ON SH 38	VIRUDHUNAGAR	REGULAR	100	SC CC-1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1015	MARTHANDAM JN TO MELPURAM JN ON SH 181	KANYAKUMARI	REGULAR	100	Open CC-2	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1016	PARVATHIPURAM JN TO CHETTIKULAM JN ON NH 66	KANYAKUMARI	REGULAR	150	OBC CC-1	DC	30	30	900	32	95	DRAW OF LOTS	15	4
1017	RAMANATHAPURAM BUS STAND TO ECR JN	RAMANATHAPURAM	REGULAR	105	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1018	KODIKKURICHI TO IDAIKAL ON NH-744 (KM STONE 104 TO KM STONE 108)	TENKASI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1019	VELLAMADAM TO ST LUKES HOSPITAL ON SH 93	TUTICORIN	REGULAR	120	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1020	SAMPARAYANENDAL TO MUTHANENDHAL ON NH 87 ON LHS	SIVAGANGA	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1021	KANYAKUMARI TO SUCHINDRAM ON NEW NH66 RHS (NEW 4 LANE ROAD)	KANYAKUMARI	REGULAR	150	Open	CC	35	35	1225	32	12	BIDDING	30	5
1022 1023	SIVALARKULAM TO MARANDHAI ON SH-39(LHS) KAVANUR TO PANDIYUR ON SH-34	TENKASI RAMANATHAPURAM	REGULAR REGULAR	100 130	OBC SC	DC CFS	35 35	35 35	1225 1225	32	75 0	DRAW OF LOTS DRAW OF LOTS	15 0	4
1023	THERKU SANKARANKOVIL TO PERIYAKOVILANKULAM ON SH41	TENKASI	REGULAR	130	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1024	PALAVANATHAM TO ARUPPUKOTAI ON SH 42	VIRUDHUNAGAR	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
	KUMARAGIRI ON SH	TUTICORIN	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4

1		Revenue District	Type of RO	monthly Sales Potential #	Category	Type of Site*		Dimension ( site (in Sq.	(in M.)/Area . M.). *		e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC / SC CC-1 SC PH ST ST CC-1 ST PH	CC / DC / CFS		Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	Rs in Lakhs	Rs in Lakhs
1027	PUDUR TO EINSTIEN COLLEGE LHS ( ON SH 39)	TIRUNELVELI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1028	VVD SIGNAL TO RAILWAY FOURTH GATE ON VVD ROAD - WITHIN TUTICORIN CORPORATION LIMITS	TUTICORIN	REGULAR	120	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1029	SHOLAVANDAN ON PALLAPATTI ROAD (SH-73)	MADURAI	REGULAR	100	Open CC-1	DC	20	20	400	32	75	DRAW OF LOTS	15	5
1030	PERAIYUR TO USILAMPATTI ON SH 154	MADURAI	REGULAR	150	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1031	KOTTAIYUR TO KANDANUR ON SH-29	SIVAGANGA	REGULAR	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1032	VICTORIA EXTENSION ROAD - WITHIN TUTICORIN CORPORATION LIMITS	TUTICORIN	REGULAR	100	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1033	NEYOOR TO AZHAGIYAMANDAPAM JN ON SH 180	KANYAKUMARI	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1034	VOC PORT TO SH 176 JUNCTION ON NH 138 LHS	TUTICORIN	REGULAR	150	OBC	CC	30	30	900	32	12	BIDDING	30	4
1035	AZHAGIYAPANDIYAPURAM TO PONMANAI ON SH 194	KANYAKUMARI	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1036	KALLIGUDI TO T KALLUPATTI ON SH 154 KARIAPATTI TO KALLIGUDI ON SH 154	MADURAI MADURAI	REGULAR	100 110	ST	CFS DC	35 35	35 35	1225 1225	0 32	0 75	DRAW OF LOTS DRAW OF LOTS	0	<u>3</u> 5
1037	VADASSERY TO VEPPAMOODU ON SH 154	KANYAKUMARI	REGULAR REGULAR	110	Open OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	5
1038	ANU VIJAY TOWNSHIP TO PONNARKULAM JUNCTION (ON SH 176)	TIRUNELVELI	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1033	VALLIYUR TO THERKU VALIYUR JUNCTION (ON SH 92.)	TIRUNELVELI	REGULAR	100	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1041	RASTHA TO MANUR (ON SH41)	TIRUNELVELI	REGULAR	100	OBC PH	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1042	PANDANUR TO KUYAVANENTHAL ON SH34A	RAMANATHAPURAM	REGULAR	110	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1043	ERVADI ON ECR	RAMANATHAPURAM	REGULAR	130	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1044	RAJAKKAMANGALAM TO PAKTHANKADU ROAD & SH46 INTERSECTION VIA SH179 & SH46	KANYAKUMARI	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1045	KILACHAKKULAM TO KADALADI ON SH-29	RAMANATHAPURAM	REGULAR	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1046	PANDANUR TO KAVANOOR ON SH-34A	RAMANATHAPURAM	REGULAR	105	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1047	VILATHIKULAM TO ARIYANAYAGIPURAM ON SH 44	TUTICORIN	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1048	PAPPANKULAM TO ADAICHANI ON SH-41A	TENKASI	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1049	JAYARAJ ROAD - WITHIN TUTICORIN CORPORATION LIMITS	TUTICORIN	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1050 1051 S	ETTAYAPURAM TO VILATHIKULAM ON SH 44 ST THOMAS SCHOOL TO SH32 JUNCTION VIA STATE BANK COLONY MAIN ROAD	TUTICORIN	REGULAR	100 100	Open Open	DC CC	35 20	35 20	1225 400	32 32	75 12	DRAW OF LOTS BIDDING	15 30	5
4050		TENKAOL	DECULAR	440		<b>D0</b>	25	25	4005	32	75		45	
1052 1053	TENKASI TO MELAGARAM ON SH-40 SATTANKULAM TO ELUVARAIMUKKI ON SH 93	TENKASI TUTICORIN	REGULAR REGULAR	140 100	Open OBC	DC DC	35 35	35 35	1225 1225	32	75 75	DRAW OF LOTS DRAW OF LOTS	15 15	5
1053	THENUR TO SAMAYANALLUR ON SH-73A	MADURAI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1054	PAVOORCHATHIRAM BUSSTAND TO ALANGULAM ON LHS ON SH-39	TENKASI	REGULAR	100	Open CC-1	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1056	VEERADHANUR TO VALAYANKULAM ON SH-195	MADURAI	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1057	OTTAPIDARAM TO KULASEKARANALLUR ON SH 75	TUTICORIN	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1058	BALAKRISHNAPURAM TO AMBASAMUDRAM ON SH-228	THENI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1059	KANDAMANUR TO KANAVILAKKU ON SH-101	THENI	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1060	KALAKANMAI TO KALLAL ON SH-29	SIVAGANGA	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1061	GREAT COTTON ROAD - WITHIN TUTICORIN CORPORATION LIMITS(SHU92) NH 138 & SH 176 JUNCTION TO MULLAKADU ON SH 176 - WITHIN TUTICORIN	TUTICORIN	REGULAR	100	Open	DC	35 20	35	1225	32 32	75 75	DRAW OF LOTS	15	5
1062		TUTICORIN	REGULAR	120	Open	DC		20	400			DRAW OF LOTS	15	-
1063 1064	KOVILPATTI TOWN ON SH 288(KOVILPATTI TO PANDAVARMANGALAM ROAD) TIRUPATTUR TO SS KOTTAI ON NH -338	TUTICORIN	REGULAR	100 155	SC CC-1 OBC CC-1	CFS CC	35 35	35 35	1225 1225	0	0	DRAW OF LOTS BIDDING	0 30	3
1065	WITHIN 2KM FROM AASATH NAGAR SH JUNCTION TOWARDS PAVOORCHATHIRAM ON SH-39 ON LHS	TENKASI	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1066	ALWARKURICHI ON SH-39 ON LITS	TENKASI	REGULAR	100	Open PH	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1067	UTHAMAPALAYAM TO SURULIPATTI ON SH-102	THENI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1068	KALAYARKOIL TO KALAKANMAI ON SH-29	SIVAGANGA	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1069	THIRUKKURUNGUDI (ON SH177)	TIRUNELVELI	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1070	MANIYACHI TO AKKANAYAKKANPATTI ON SH 75	TUTICORIN	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1071	VALASAI TO RENGARAJAPURAM ON SH (ALANGANALLUR ROAD)	MADURAI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1072	ARUPPUKOTTAI TOWN ON SOUTH STREET WITHIN 5 KMS FROM NH 44 AND SH 187 JUNCTION TOWARDS SIVAKASI ON SH		REGULAR	110	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1073 1074	187 LHS ALANGANALLUR TO PALAMEDU MAIN ROAD (SH282)	VIRUDHUNAGAR	REGULAR	100 100	Open Open	DC DC	35 35	35 35	1225 1225	32 32	75	DRAW OF LOTS	15 15	5 5

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension e site (in Sq	(in M.)/Area . M.). *		e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in KLs	6 SC / SC CC-1 SC PH ST ST CC-1 ST PH	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11 Rs in Lakhs	12 Rs in Lakhs
1075	KOVILOOR TO PILAYARPATTI ON SH-35	SIVAGANGA	REGULAR	110	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1076	MUKKANI TO ERAL ON SH288	TUTICORIN	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1077	KOVILPATTI RAILWAY STATION TO LAKSHMI MILL ON SHU26	TUTICORIN	REGULAR	120	Open	CC	35	35	1225	32	12	BIDDING	30	5
1078	VILATHIKULAM ON SH	TUTICORIN	REGULAR	100	Open CC-1	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1079	VVD SIGNAL TO BRYANT NAGAR 12TH STREET ON CHIDAMBARA NAGAR MAIN ROAD - WITHIN TUTICORIN CORPORATION LIMITS	TUTICORIN	REGULAR	100	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
1080	CHERANMADEVI TO KANNAKULAM (ON SH 177)	TIRUNELVELI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1081	MELUR TO TRICHY ROAD ON SHU104	MADURAI	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1082	LEVINJIPURAM TO ANJUGRAMAM-VARIYUR NH JN (WITHIN KANYAKUMARI DIST) ON SHU181	KANYAKUMARI	REGULAR	150	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1083	VALLIYOOR (WITHIN TOWN LIMITS)	TIRUNELVELI	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1084	WITHIN 4KM FROM ARUPPUKOTTAI NEW BUSTAND ON MADURAI ROAD	VIRUDHUNAGAR	REGULAR	100	Open	CC	20	20	400	32	12	BIDDING	30	5
1085	RAJAPALYAM TO MELRAJAKULARAMAN ON SH 186	VIRUDHUNAGAR	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1086	KUTHUKKALVALASAI NH JUNCTION TO KANAKKAPILLAIVALASAI ON SH43	TENKASI	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1087		MADURAI	REGULAR	100	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1088	MANTHITHOPPE ROAD - WITHIN KOVILPATTI MUNICIPAL LIMITS	TUTICORIN	REGULAR	100	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1089 1090	THENI ON PERIYAKULAM ROAD (WITH IN THENI MUNICIPAL LIMITS) MUNEERPALLAM (ON SH 40)	THENI TIRUNELVELI	REGULAR REGULAR	100 100	SC OBC	CFS DC	20 35	20 35	400 1225	0 32	0 75	DRAW OF LOTS DRAW OF LOTS	0 15	3 4
1091	KOVILPATTI RAILWAY STATION TO SSDM ARTS & SCIENCE COLLEGE GATE ON SHU26	TUTICORIN	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1092	ETTAYAPURAM ROAD ON SH32 - WITHIN TUTICORIN CORPORATION LIMITS	TUTICORIN	REGULAR	120	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
1093	MALAYANKULAM TO ALANGULAM(KAZHUGUMALAI ROAD) ON SH-76	TENKASI	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1094	PERIYAKULAM TO KAILASAPATTY ON SHU-45	THENI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1095	THERKUMADATHUR ON SH 40A	TENKASI	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1096	WITHIN 3KMS FROM TIRUTANGAL NEW BUS STAND TOWARDS VIRUDHUNAGAR ON SH 42 LHS	VIRUDHUNAGAR	REGULAR	100	Open	сс	35	35	1225	32	12	BIDDING	30	5
1097	VEMBAKOTTAI ON SH	VIRUDHUNAGAR	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1098	LADY OF SNOWS BASILICA (MATHA KOIL) TO BUCKLE CANAL ON BEACH ROAD*	TUTICORIN	REGULAR	120	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1099	RAJAPALAYAM ON TP MILLS ROAD	VIRUDHUNAGAR	REGULAR	100	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1100	THENI AGRICULTURAL ENGINEERING CAMPUS TO ANNANJI VILAKKU (THENI NEW BUSSTAND ROAD) - WITHIN THENI MUNICIPAL LIMITS	THENI	REGULAR	100	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1101	KARIAPATTI TOWN LIMITS ON SHU	VIRUDHUNAGAR	REGULAR	100	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
1102	AVM HOSPITAL TO KAMARAJAR ARTS COLLEGE ON TIRUCHENDUR ROAD*	TUTICORIN	REGULAR	100	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1103	KAMARAJAR ARTS COLLEGE TO BELL HARBOUR HOTEL ON GEORGE ROAD (MDR 115)	TUTICORIN	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1104	MELAKKAL ROAD & NH44 INTERSECTION TO THUVARIMAN ON SH (LHS)	MADURAI	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1105	CUMBUM METTU ROAD (WITHIN CUMBUM MUNICIPAL LIMITS)	THENI	REGULAR	100	Open CC-1	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1106	KURUKKALPATTI TO MELMARUDAPPAPURAM ON SH 286	TENKASI	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1107	PUTHUKADAI JN TO NITHRAVILAI JN ON SH 179 (RHS)	KANYAKUMARI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1108 1109	VETTURNIMADAM JN TO WCC JN WITHIN 5 KMS FROM EDALAKUDY NH 66 JN ON MDR 188 TOWARDS PARAKKAI	KANYAKUMARI KANYAKUMARI	REGULAR REGULAR	100 100	OBC Open	DC DC	20 20	20 20	400 400	32 32	55 55	DRAW OF LOTS	15 15	4 5
1110	WITHIN 3 KM FROM ANNA STATUE NEAR YERCAUD LAKE TOWARDS SALEM ON SALEM - YERCAUD GHAT ROAD	Salem	REGULAR	100	Open	СС	35	35	1225	32	12	BIDDING	30	5
1111	UTHAMASOLAPURAM TO NALLIKALAPATTY PIRIVU (ON NALLIKALPATTI UTHAMASOLAPURAM MAJOR DISTRICT ROAD)	Salem	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1112	KALUGUR VILLAGE, KULITHALAI TALUK ON SH	Karur	REGULAR	100	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
1112	AGASIPALLI TO KAVERIPATNAM ON NH 44 LHS	Krishnagiri	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1113	KOMARAPALAYAM TOWN LIMITS (NOT ON NH)	Namakkal	REGULAR	130	Open CC-2	DC	35	35	1225	32	55	DRAW OF LOTS	15	5
1115	A.REDDIHALLI, DHARMAPURI TALUK ON SH60	Dharmapuri	REGULAR	100	OBC CC-1	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1116	MAGUNDANCHAVADI TO VAIGUNDAM KALIPATTY PIRIVU - LHS ON NH47	Salem	REGULAR	160	SC CC-1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1117	TIRUVALLUVAR STATUE BUS STOP TO SEELANAICKENPATTI BYEPASS	Salem	REGULAR	150	Open	CC	20	20	400	32	12	BIDDING	30	5

Image: Provide and the second secon	SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq	(in M.)/Area . M.). *	applicant	e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
Image: Process and proces and proces and process and process and process and process and pr	1	2	3	4	5	6	7		8		9a	9b	10	11	12
ITTR         Descent registry         Descent registry         Descent registry         R				Regular / Rural	1 1	SC CC-1 SC PH ST ST CC-1	CC / DC / CFS	Frontage	Depth	Area	working capital requirement for operation	required for development of infrastructure at			Rs in Lakhs
Inter         WITHIN SAME PROMINENT TOWARD RATURE NAME         Network         REGULAR         150         SC         CFR         35         151         122         0         0         DRAW FLOTT         0           1110         DIVEMMENT TOWN ENTITIES AND COMMENTATION SET AND	1118		Dharmapuri	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
Intel         Mathrage         Couldward         Iso         Cors         As         Iso         O         O         Developed         Iso           119         Developed         Developed         Developed         Doveloped	1119	PARAMATHI TOWN LIMITS (NOT ON NH)	Namakkal	REGULAR	100	OBC	CC	35	35	1225	32	12	Bidding	30	4
Init         Rescuest         Init         Rescuest         Init         Percuest         Init         Rescuest         Init <td>1120</td> <td>RHS</td> <td>Krishnagiri</td> <td>REGULAR</td> <td>150</td> <td>SC</td> <td>CFS</td> <td>35</td> <td>35</td> <td>1225</td> <td>0</td> <td>0</td> <td>DRAW OF LOTS</td> <td>0</td> <td>3</td>	1120	RHS	Krishnagiri	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1120         ENTIFIES INCADESAMINATIT NO PAPARAPYTIT ON SH         Dimmegral         REGULAR         100         Opc         35         35         1228         22         175         DRAW OF LOTS         15           1124         WTIN 2 ARFOND SMULTATIT MAY UNDERSON DENSITIES IN INCT         Kishnegit         REGULAR         100         Opc         35         35         1225         0         0         DRAW OF LOTS         15           1125         MELAGA ANULLACOST IN LAN CARDEN LINE ACCOST ILLA CONST ILLA C		REGISTRATION OFFICE ON SV ROAD)													5
Internal         Witten 2 Kale FROM MARAINETT RALIAM VIDE/EPKS ON ELSTING NH (NOT ON Ker SKRAPATTI PYRS ROAD)         Kinhagil         REGULAR         150         Open         DC         35         35         122         0         0         DRW OF LOTS         0           1175         WILLAGUAMULT PALCODE TAULIC NUMBER         Dimemory of REGULAR         X00         SC         C/S         35         122         0         0         DRW OF LOTS         0           1178         PVRLAGUAMULT PALCODE TAULIC NUMBER         Statem         REGULAR         100         Open         C/S         35         122         22         75         DRW OF LOTS         15           1178         PVRLAGUAMULT PALCODE ON PALCON															5
1124         ON NEW SAME ATT BYARS ROAD         Withing in Medularia         100         Open         U.C.         35         35         1226         22         95         DRAW OF LOTS         10           1125         VELAMALATI MACCOS FLAVAN NO IL ANALYOFE LAND DE TATURU         REGULAR         100         Open         DC         35         35         1226         0         0         DRAW OF LOTS         0           1126         PAVILATI MACCOS FLAVAN NO IL ANALYOFE ALM DE TYPES SKIP         Skien         REGULAR         100         Open         DC         35         35         1226         32         75         DRAW OF LOTS         15           1127         AMARYALINCH INSTO         Skien         REGULAR         100         Open C-1         DC         35         35         1226         32         75         DRAW OF LOTS         15           1128         AVALARICH INATO         Skien         REGULAR         100         Open C-2         DC         35         1226         32         75         DRAW OF LOTS         15           1138         MARINATIC INDESCOLON MARAMENT INCOLONEL ANALYON MARAMENT INCOLONEL ANALYON         Namakal         REGULAR         100         Open         DC         35         1226         32         75<	1123		Dharmapuri	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
118         PAVALATH-NOOR ROURDANA ON TRAMANGALAM BYRAS ROLD TO KORAMAPARATIO NS HIS (IN ETHER SDE).         Salem         REGULAR         100         Open         DC         35         125         32         75         DRAW OF LOTS         15           1127         ADASISMANT TO KULAMPATT DN SHI (KORAMAPARATION SHI)         SALEm         REGULAR         100         Open         DC         35         35         1226         32         75         DRAW OF LOTS         15           1128         FROM ADAVARCED TTO DS HIGH DET TO DS AVERPATTOR SHI ADAVARCED TO TO SAVERPATTOR SHIP SCH TENDEST OFFICE         Salem         REGULAR         100         Open         DC         35         1225         32         75         DRAW OF LOTS         15           1139         VAVARPATTOR MANARATINE TO ADAVERPATTORS OFFICE         Salem         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1131         MONARETO STATINATURE ON BRAMAPUR - TRUPATURA         Dhamapur         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1131         MONRETO STATINATURA UNA NEW TRUPATURA MANARA         REGULAR         100	1124	ON NEW SAMALPATTI BYPASS ROAD)	Krishnagiri			· · ·							DRAW OF LOTS	15	5
11:00         KROMANIAPATTO NS HIS (ON ETHER SDE)         Same         Reculuter         100         Open         UC         35         122         122         123         ARASISMAND TO KLILLARMENT TO KS H         See         Fit           1127         ARASISMAND TO KLILLARMENT TO KS H         See         REGULAR         100         Open CC1         0.0         35         35         1225         32         75         DRAVO FUIDS         15           1138         MARAFE CORPORATION ZONG CAPATIPOST OFFICE         Same         REGULAR         100         Open         CC         35         35         1225         32         75         DRAVO FUIDS         15           1130         VARAPAD TO TAMANARAANANA CAN ADA ATANA         REGULAR         100         Open         DC         38         38         1225         32         75         DRAVO FUIDS         15           1131         MORUR TO SATIMANARAANANA CAN ADA ATANA         REGULAR         100         Open         DC         38         35         1225         32         75         DRAVO FUIDS         15           1132         BETWEIN HIMMANSTALLARANANA         REGULAR         100         Open         DC         38         35         1225         32         12	1125		Dharmapuri	REGULAR	200	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
FROM ARAWARDICH TISTC BLIS DEPORT ON NH4 JUNCTION ON PLAYAM- ARAWARD COMPORTION CONN. OFFRCE TO UDAYAPATI POST OFFICE         Sale         The Second		KORANAMPATTI ON SH 86 (ON EITHER SIDE)													5
ILIS         ABAUXABURCH ROAD         Natur         RESULAR         100         Open C-1         0.00         33         34         L23         34         DAAM OF LOTS         15           1128         MMARET CORPORTING XONL OFFEC TO DUAYOPATIOST OFFICE         Salem         REGULAR         100         OBC         CC         58         35         1225         32         75         DRAVOF LOTS         15           1131         MUNAPET CORPORTION DUAYOPATION ON HIGHTHER SIDE.         Salem         REGULAR         100         Open         CC         35         35         1225         32         75         DRAVOF LOTS         15           1131         MUNAPET CONTRACTOR MALTINE (NO INCAMPUTH. TRUCHENDOLE BYPASS ROAD         Namakial         REGULAR         100         Open         DC         35         35         1225         32         75         DRAVOF LOTS         15           1134         DENNAMICAL MALTINE MALTINE CONDUCTION DEL TRUCHENDOLE BYPASS ROAD         Namakial         REGULAR         100         Open         DC         35         125         32         75         DRAVOF LOTS         15           1135         TRUCHENDOE TO TALLIPALAYMAN ON BH         Station         REGULAR         100         Open         DC         35         <	1127		Salem	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1130         WAZMAPADI TO THURKYMPALAYAM ON SH CITTLER SIDE)         Selem         REGULAR         100         ORe         DC         35         35         122         32         75         DRAW OF LOTS         15           1131         MWAMPATT TO KONGRUN MYAMPARTH. THOURAPLIRT         Dharmapuri         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1132         BETWEEN THIFMAURCH MAN DISKINGOUE SYPASS ROAD ON SH         Namakal         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1133         MORUR TO SATINANCKENPALAYAM ON NEW TRUCHENGOLE SYPASS ROAD ON SH         Namakal         REGULAR         100         Open         DC         35         35         1225         0         0         DRAW OF LOTS         15           1135         TRUCHENDE TOP ALLIPANA MON NEW TRAVIENT MANDALAWAM DASI NEW STADE         Keinagain         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1136         FROM CALLOTS MANDANSHEERTHAN         NIMA 20 NEAD STALE HOLMANA AND AND AND AND AND AND AND AND AND		ARAVAKURICHI ROAD													5
1131         IMPLAMPAIT TO KOSUR ON MYLAMPATTI. ThOGAMALI ROAD         Kenur         PEEGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1132         BETWEN INFEMAPTUR NO INLAMILING NO INFOMMENT. TRUCHENGOE EVPASS ROAD ON SH         Dharmapul         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1133         BETWENT INFOLVENCE         REDICE EVPASS ROAD ON SH         Nemakal         REGULAR         100         OBC         CC         35         35         1225         0         0         DRAW OF LOTS         0           1134         DENAMURAL AVE ROUB BUS STAND         Krithragin         REGULAR         100         Open         DC         35         35         1225         0         0         DRAW OF LOTS         15           1135         FRINCIALUR TRANAMURAL AVE ROUB BUS STAND         Krithragin         REGULAR         100         Open         DC         35         35         1225         0         0         DRAW OF LOTS         15           1136         FRINCIALUR TRANAMURAL AVER COM SUB STAND         Safern         REGULAR         100         Ope											-				3
1132         BETWEEN THIPAMEATTI ADD IRUMATURE (ND DIRAMAPURI - TIRUPATUR STATE HIGHWAY)         Dearmapuri NSTATE HIGHWAY)         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1133         MORUR TO SATHINACKERPALAYAN ON NEW TRUCHENCODE BYASS ROAD ON SH         Namakkal         REGULAR         100         OBC         CC         35         35         1225         32         12         Bidding         30           1134         DEMAGNICOTTAI WITHIN 2 (MR FROM EUS STAND ON SH         Namakkal         REGULAR         140         SC         CFS         35         1225         32         75         DRAW OF LOTS         0           1135         TRUCHENDOE TO ALLIPALAYAN ON NEH         Namakkal         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1136         FROM CMALUR TRANAMAGLAMINGAL MINU N TO KNOSANAPURAM MEN WE YERASS (PRIVU LIEG ON SHB)         Salem         REGULAR         100         OBC         DC         35         35         1225         32         75         DRAW OF LOTS         15           1137         SANKARI CHEMICAL PIRVU JN TO KONCANAPURAMINE STRUP         Salem         <															4
1132         STATE HIGHWAY)         Untimpun         REGULAR         100         Open         DC         35         35         1225         32         175         DRAW OF LOTS         155           1133         MORUR TO SATHIMUCRENAZIVA (ON KEN TRUCK-IENGOE BYASS ROAD ON SH         Namakaal         REGULAR         100         0.06C         CC         35         35         1225         0.0         DRAW OF LOTS         15           1134         DEKKNINGALAMMECRETANAGALAM MECHEN STAND         Kishnagin         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1136         TRUCHENGOE TO PALLIPALAYMON SH         Namakaal         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1137         SANKAR CHEMULTAN TO NEAR MANUTANT NEW WEY PASS PIRIVU         Salem         REGULAR         100         OBC         DC         35         125         0         0         DRAW OF LOTS         15           1138         THANGART TEATMANUTANT STAND FRONTUN TO NOT STONGAMANA STATUE         Kishnagin         REGULAR         150         Open         CC         35         35 <td>1131</td> <td></td> <td>Karur</td> <td>REGULAR</td> <td>100</td> <td>Open</td> <td>DC</td> <td>35</td> <td>35</td> <td>1225</td> <td>32</td> <td>75</td> <td>DRAW OF LOTS</td> <td>15</td> <td>5</td>	1131		Karur	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1133         ON SH.         Namakal         Network         Note of the state of the stat	1132	STATE HIGHWAY)	Dharmapuri	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1138         TERUCHENGODE TO PALLIPALAYMA ON SH         Namakia         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1138         FROM OMAULER TARAMAGAAM-MEMEMPER IPINIV DOR ON BER (OW EITHER SIDE)         Salem         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1137         SANKARI CHEMICAL PIRIVU. UN TO KONKANAPUKAM NEW BYE PASS PIRIVU (LIS ON SH86)         Salem         REGULAR         100         OBC         DC         35         35         1225         32         75         DRAW OF LOTS         15           1138         UTHANGARAI TO HANUMATHEERTHAM. WITHIN XINS FROM ANNA STATUE (LIS ON SH86)         Krishnagiri         REGULAR         150         ST         CFS         35         35         1225         0         0         DRAW OF LOTS         0           1139         NH 42 ON KUPPAM ROAD WITHIN XINS FROM ANNA STATUE (KISHNAGRI)         Krishnagiri         REGULAR         150         Open         CC         35         35         1225         0         0         DRAW OF LOTS         15           1140         FROM TANURASTITI ON HARDIN MINARGIN         Krishnagiri		ON SH													4
Instruct         FROM OMALURE TARAMANGALAMECHER PIRTU ROAD, NEAR OMALUR) TO PAVALETHANOR ROUMDAND OR SYB 60, OR THERE SIDE)         Salem         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1137         SANKARI CHEMICAL PIRVUU IN TO KONGANAPURAM NEW BYE PASS PIRIVU ULS ON SM86)         Salem         REGULAR         100         OBC         DC         35         35         1225         32         75         DRAW OF LOTS         15           1138         UTHANGARAI TO HANUMANTHEERTHAM- WITHIN SMMS FROM ANNA STATUE JUNCTION TOWARDS HANUMANTHEERTHAM ON NHTPSA         Krishnagiri         REGULAR         150         Open         CC         35         35         1225         0         0         DRAW OF LOTS         0           1139         NH42 ON KUPPAR NOM OVT PUTCHONIC COLLEGE, Krishnagiri         Krishnagiri         REGULAR         150         Open         DC         35         1225         32         95         DRAW OF LOTS         15           1141         NAMAKKAL TO VALAYAPATTI TO THOURD NU NU LIMITS         Namakkal         REGULAR         150         Open         DC         35         1225         32         95         DRAW OF LOTS         15           1141         NAMAKKAL TO VALAYAPATTI TO MANDR			<u> </u>												3
1137         SAMARAI CHEMICAL PRIVULINT OK KONGANAPURAM NEW BYE PASS PIRIVU (LIK) ON 9H80)         Salem         REGULAR         100         OBC         DC         35         35         1225         32         75         DRAW OF LOTS         15           1138         UTHANGARAI TO HANUMATHEERTHAM. VITHIN 3KMS FROM ANNA STATUE (JUCTION TOWARDS HANUMATHEERTHAM ON HITTSA MINARY BEAM CAD WITHIN 1KMS FROM ANNA STATUE (Krishnagiri         Krishnagiri         REGULAR         150         Open         CC         35         35         1225         0         0         DRAW OF LOTS         0           1139         NH 42 ON KUPPAM ROAD WITHIN 1KMS FROM ANNA STATUE (Krishnagiri         Krishnagiri         REGULAR         150         Open         CC         35         35         1225         32         12         BIDDING         30           1140         NAMAKKAL TO VALAYAPATTI ON NH38'IB OUTSIDE NAMAKKAL TOWN LIMITS         Namakkal         REGULAR         150         OBC PH         DC         35         35         1225         0         O         DRAW OF LOTS         15           1141         NAMAKKAL TO VALAYAPATTI ON NH38'IB OUTSIDE NAMAKKAL TOWN LIMITS         Namakkal         REGULAR         150         OBC PH         DC         35         35         1225         0         O         DRAW OF LOTS         15		FROM OMALUR-TARAMANGALAM-MECHERI PIRIVU ROAD (NEAR OMALUR) TO													5
1138         UTHANGRAR TO HANUMANTHÉERTHAM. WITHIN 3XMS FROM ANINA STATUE JUNCTION TOWARDS HANUMANTHÉERTHAM. ON NH179A         Krishnagiri         REGULAR         150         ST         CFS         35         1225         0         0         DRAW OF LOTS         0           1139         NH 42 ON KUPPAM ROAD WITHIN 4XM FROM GONT POLYTECHNIC COLLEGE. KRISHNAGIRI         Krishnagiri         REGULAR         150         Open         DC         35         35         1225         32         12         BIDDING         30           1140         FROM PANNAPATITI OT THOPPUR ON NH-41 - ON LHS         Salem         REGULAR         150         Open         DC         35         35         1225         32         95         DRAW OF LOTS         15           1141         NAMAKKAL TO VALAYAPATTI ON THOPPUR ON NH-41 - ON LHS         Salem         REGULAR         150         Open         DC         35         35         1225         32         95         DRAW OF LOTS         15           1142         MAYANUR TO MAHADHANAPURAM ON NH 81         Karur         REGULAR         150         Open         CC         20         400         32         12         BIDDING         30           1143         FROM THRUNAGOUNDANUR JUNCTION TO SALEM MEW BUS STAND ON         Salem         REGULAR         100	1137	SANKARI CHEMICAL PIRIVU JN TO KONGANAPURAM NEW BYE PASS PIRIVU	Salem	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1139         KRISHNAGIRI         KRISHNAGIRI <thk< td=""><td>1138</td><td>UTHANGARAI TO HANUMANTHEERTHAM - WITHIN 3KMS FROM ANNA STATUE</td><td>Krishnagiri</td><td>REGULAR</td><td>150</td><td>ST</td><td>CFS</td><td>35</td><td>35</td><td>1225</td><td>0</td><td>0</td><td>DRAW OF LOTS</td><td>0</td><td>3</td></thk<>	1138	UTHANGARAI TO HANUMANTHEERTHAM - WITHIN 3KMS FROM ANNA STATUE	Krishnagiri	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1141         NAMAKKAL TO VALAYAPATTI ON NH381B OUTSIDE NAMAKKAL TOWN LIMITS         Namakkal         REGULAR         150         OBC PH         DC         35         35         1225         32         95         DRAW OF LOTS         15           1142         MAYANUR TO MAHADHANAPURAM ON NH 81         Karur         REGULAR         150         SC PH         CFS         35         35         1225         0         0         DRAW OF LOTS         0           1143         FROM THIRUVAGOUNDANUR JUNCTION TO SALEM NEW BUS STAND ON MEYANOOR BYPASS ROAD[ETHER SIDE]         Salem         REGULAR         150         Open         CC         20         400         32         12         BIDDING         30           1144         UDANAPALLIT O RAYAKOTTAH ON SH         Krishnagiri         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1144         UDANAPALLIT O RAYAKOTTAH ON SH         Krishnagiri         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1146         NAMAKKAL BUS STAND ON MOHANUR ROAD WITHIN NAMAKKAL TOWN LIMITS         Namakkal         REGULAR         100         Open	1139		Krishnagiri	REGULAR	150	Open	сс		35	1225			BIDDING	30	5
1142         MAYANUR TO MAHADHANAPURAM ON NH 81         Karur         REGULAR         150         SC PH         CFS         35         1225         0         0         DRAW OF LOTS         0           1143         FROM THIRUVAGOUNDANUR JUNCTION TO SALEM NEW BUS STAND ON MEYANOOR BYPASS ROAD(EITHER SIDE)         Salem         REGULAR         150         Open         CC         20         400         32         12         BIDDING         30           1144         UDANAPALLI TO RAYAKOTTAH ON SH         Krishnagiri         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1145         BETWEEN INDUR AND SOMENAHALLI (ON SH60)         Dharmapuri         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1146         NAMAKKAL BUS STAND TO MOHANUR ROAD WITHIN NAMAKKAL TOWN LIMITS ON SH (RHS)         Namakkal         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1146         NAMAKKAL DO NOHANUR ROAD WITHIN NAMAKKAL TOWN LIMITS NAMAKKAL TOW PAVLATHANDOOR ROUNDANO ON TARAMANGALAM BYPASS         Salem         REGUL	1140	FROM PANNAPATTI TO THOPPUR ON NH-44 - ON LHS	Salem	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1143         FROM THIRUVAGOUNDANUR JUNCTION TO SALEM NEW BUS STAND ON MEYANOOR BYPASS ROAD(EITHER SIDE)         Salem         REGULAR         150         Open         CC         20         400         32         12         BIDDING         30           1144         UDANAPALLI TO RAYAKOTTAH ON SH         Krishnagiri         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1144         UDANAPALLI TO RAYAKOTTAH ON SH         Krishnagiri         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1146         NAMAKKAL BUS STAND TO MOHANUR ROAD WITHIN NAMAKKAL TOWN LIMITS ON SH (RHS)         Namakkal         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1146         NAMAKKAL DUNDANA ON TARAMANGALAM BYPASS ROAD ON STEEL PLANT ROAD (ON EITHER SIDES)         Salem         REGULAR         100         SC         CFS         35         1225         32         75         DRAW OF LOTS         0           1148         NAMAKKAL TO MOHANUR ON SH OUTSHADA STANDANGALAM BYPASS ROAD ON STEEL PLANT ROAD (ON EITHER SIDE         Namak															4
1143         MEYANOOR BYPASS ROAD(EITHER SIDE)         Salem         REGULAR         150         Open         CC         20         20         400         32         12         BIDING         30           1144         UDANAPALLI TO RAYAKOTTAH ON SH         Krishnagiri         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1145         BETWEEN INDUR AND SOMENAHALLI (ON SH60)         Dharmapuri         REGULAR         100         OBC         DC         35         35         1225         32         75         DRAW OF LOTS         15           1146         NAMAKKAL BUS STAND TO MOHANUR ROAD WITHIN NAMAKKAL TOWN LIMITS ON SH (RHS)         Namakkal         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1147         KR THOPPUR TO PAVALATHANOOR ROUNDANA ON TARAMANGALAM BYPASS ROAD ON STEEL PLANT ROAD (ON EITHER SIDE)         Salem         REGULAR         100         SC         CFS         35         1225         32         75         DRAW OF LOTS         15           1148         NAMAKKAL TO MOHANUR ON SH OUTSIDE NAMAKKAL TOWN LIMITS ROAD ON SHO RETHER SIDE         Namakkal         REGULAR	1142		Karur	REGULAR	150	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1145         BETWEEN INDUR AND SOMENAHALLI (ON SH60)         Dharmapuri         REGULAR         100         OBC         DC         35         35         1225         32         75         DRAW OF LOTS         15           1146         NAMAKKAL BUS STAND TO MOHANUR ROAD WITHIN NAMAKKAL TOWN LIMITS ON SH (RHS)         Namakkal         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1146         NAMAKKAL BUS STAND TO MOHANUR ROAD WITHIN NAMAKKAL TOWN LIMITS ON SH (RHS)         Namakkal         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1147         KR THOPPUR TO PAVALATHANOOR ROUNDANA ON TARAMANGALAM BYPASS ROAD ON STEELP LANT ROAD (ON EITHER SIDES)         Salem         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1148         NAMAKKAL TO MOHANUR ON SH OUTSIDE NAMAKKAL TOWN LIMITS         Namakkal         REGULAR         100         OBC         DC         35         35         1225         32         75         DRAW OF LOTS         15           1149         BETWEEN MANIYAMBADI & THOPAMPATTI ON		MEYANOOR BYPASS ROAD(EITHER SIDE)													5
1146NAMAKKAL BUS STAND TO MOHANUR ROAD WITHIN NAMAKKAL TOWN LIMITS ON SH (RHS)NamakkalREGULAR100OpenDC353512253275DRAW OF LOTS151147KR THOPPUR TO PAVALATHANOOR ROUNDANA ON TARAMANGALAM BYPASS ROAD ON STELL PLANT ROAD (ON EITHER SIDES)SalemREGULAR100SCCFS3535122500DRAW OF LOTS01148NAMAKKAL TO MOHANUR ON SH OUTSIDE NAMAKKAL TOWN LIMITSNamakkalREGULAR100OpenDC353512253275DRAW OF LOTS151149BETWEEN MANIYAMBADI & THOPPAMPATTI ON SH ON EITHER SIDEDharmapuriREGULAR100OBCDC353512253275DRAW OF LOTS151150WITHIN 6 KMS FROM THOGAMALAI PRIMARY HELATH CENTRE TOWARDS KOSUR ON MYLAMPATTI - THOGAMALAI ROADKarurREGULAR100OpenDC353512253275DRAW OF LOTS151151KONGANAPURAM NEW BYE PASS ROADSalemREGULAR100OpenDC353512253275DRAW OF LOTS151152PENNAGARAM ON SH60 (BETWEEN KOOTHAPADI AND RAMBALAJI THEATRE)DharmapuriREGULAR100OBCDC3535122500DRAW OF LOTS01152PENNAGARAM ON SH60 (BETWEEN KOOTHAPADI AND RAMBALAJI THEATRE)DharmapuriREGULAR100OBCDC3535122500DRAW OF LOTS0 </td <td></td> <td>5</td>															5
Interpret		NAMAKKAL BUS STAND TO MOHANUR ROAD WITHIN NAMAKKAL TOWN LIMITS	•												4
Integration         NAMAKKAL TO MONAURON STEEL PLAN TROJA (ON ETITHER SIDES)         NAMAKKAL         NAMAKKAL TO MONAURON STEEL PLAN TROJA (ON ETITHER SIDE)         NAMAKKAL         NAMAKKAL TO MONAURON STEEL PLAN TROJANAKKAL TOWN LIMITS         NAmakkal         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1149         BETWEEN MANIYAMBADI & THOPAMPATTI ON SH ON ETITHER SIDE         Dharmapuri         REGULAR         100         OBC         DC         35         35         1225         32         75         DRAW OF LOTS         15           1149         BETWEEN MANIYAMBADI & THOPAMPATTI ON SH ON ETITHER SIDE         Dharmapuri         REGULAR         100         OBC         DC         35         35         1225         32         75         DRAW OF LOTS         15           1150         WITHIN 6 KMS FROM THOGAMALAI PRIMARY HELATH CENTRE TOWARDS KOSUR ON MYLAMPATTI - THOGAMALAI ROAD         Karur         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1151         KONGANAPURAM NEW BYE PASS ROAD         Salem         REGULAR         100         SC         CFS         35         35         1225         0		KR THOPPUR TO PAVALATHANOOR ROUNDANA ON TARAMANGALAM BYPASS													3
1149         BETWEEN MANIYAMBADI & THOPPAMPATTI ON SH ON EITHER SIDE         Dharmapuri         REGULAR         100         OBC         DC         35         35         1225         32         75         DRAW OF LOTS         15           1150         WITHIN 6 KMS FROM THOGAMALAI PRIMARY HELATH CENTRE TOWARDS KOSUR ON MYLAMPATTI - THOGAMALAI PRAMADA         Karur         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1151         KONGANAPURAM NEW BYE PASS ROAD         Salem         REGULAR         100         SC         CFS         35         35         1225         0         0         DRAW OF LOTS         0           1152         PENNAGARAM ON SH60 (BETWEEN KOOTHAPADI AND RAMBALAJI THEATRE)         Dharmapuri         REGULAR         100         OBC         DC         35         35         1225         0         0         DRAW OF LOTS         0           1152         PENNAGARAM ON SH60 (BETWEEN KOOTHAPADI AND RAMBALAJI THEATRE)         Dharmapuri         REGULAR         100         OBC         DC         35         35         1225         32         75         DRAW OF LOTS         15											20			-	
1150         WITHIN 6 KMS FROM THOGAMALAI PRIMARY HELATH CENTRE TOWARDS KOSUR ON MYLAMPATTI - THOGAMALAI ROAD         Karur         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1151         KONGANAPURAM NEW BYE PASS ROAD         Salem         REGULAR         100         SC         CFS         35         1225         0         0         DRAW OF LOTS         0           1152         PENNAGARAM ON SH60 (BETWEEN KOOTHAPADI AND RAMBALAJI THEATRE)         Dharmapuri         REGULAR         100         OBC         DC         35         35         1225         0         0         DRAW OF LOTS         0															5 4
1151         KONGANAPURAM NEW BYE PASS ROAD         Salem         REGULAR         100         SC         CFS         35         1225         0         0         DRAW OF LOTS         0           1152         PENNAGARAM ON SH60 (BETWEEN KOOTHAPADI AND RAMBALAJI THEATRE)         Dharmapuri         REGULAR         100         OBC         DC         35         35         1225         32         75         DRAW OF LOTS         15		WITHIN 6 KMS FROM THOGAMALAI PRIMARY HELATH CENTRE TOWARDS	•												5
1152         PENNAGARAM ON SH60 (BETWEEN KOOTHAPADI AND RAMBALAJI THEATRE)         Dharmapuri         REGULAR         100         OBC         DC         35         32         75         DRAW OF LOTS         15	1151		Salom		100	50	059	25	25	1225	0	0	DRAW OF LOTS	0	3
															4
	1153	SHOOLAGIRI (ON BERIGAI-SHOOLAGIRI ROAD)	Krishnagiri	REGULAR	100	Open	DC	35	35	1225	32	55	DRAW OF LOTS	15	5
1154         ANDHIVATION TO TVS FACTORY ON SH         Krishnagin         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15			0												5

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		e site (in Sq	(in M.)/Area . M.). *		e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC / SC CC-1 SC PH ST ST CC-1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	Rs in Lakhs	Rs in Lakhs
1155	DHARMAPURI TOWN (WITHIN 5 KMS FROM DISTRICT COLLECTORATE ON SALEM MAIN ROAD LHS TOWARDS NALLAMPALLI)	Dharmapuri	REGULAR	100	OBC	DC	35	35	1225	32	55	DRAW OF LOTS	15	4
1156	VALAPADY POLICE STATION TO NH79 JUNCTION ON VAZHAPADY - THIMMANACIKENPATTY ROAD	Salem	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1157	FROM FIVE ROADS JUNCTION (SALEM) TO CJ PALLAZIO HOTEL JUNCTION (AVR CIRCLE) EITHER SIDES	Salem	REGULAR	150	Open	сс	20	20	400	32	12	BIDDING	30	5
1158	PALLAPATTI TOWN LIMITS (NOT ON SH)	Karur	REGULAR	100	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1159	BETWEEN DOMALAHALLI AND THOTTLAMPATTI (ON PAPPARAPATTI - PALACODE STATE HIGHWAY)	Dharmapuri	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1160	GOVT ARTS COLLEGE HARUR TO MORAPPUR BUS STAND ON SH ON EITHER SIDE	Dharmapuri	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1161	WITHIN 4 KMS FROM KRISHNAGIRI NH44 JN ON RAYAKOTTAI ROAD SH225	Krishnagiri	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1162	WITHIN 3 KMS FROM BARGUR BUS STAND ON SH	Krishnagiri	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1163	FROM SUNGAGATE BUS STOP TO NH81 JUNCTION ON KARUR - GUJILIAMPARAI STATE HIGHWAY	Karur	REGULAR	100	Open	DC	35	35	1225	32	55	DRAW OF LOTS	15	5
1164	FROM PALLAKKAPALAYAM TO KOMARAPALAYAM ON NH 544 LEFT HAND SIDE WITHIN NAMAKKAL DIST	Namakkal	REGULAR	160	OBC CC-1	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1165	UDAYAPATTI BUS STOP TO AYODHYAPATTANAM RAILWAY CROSSING	Salem	REGULAR	160	SC CC-1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1166	EMOOR TO MANAVASI ON NH81 RHS	Karur	REGULAR	150	Open PH	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1167	FROM THERMAL BRIDGE IN METTUR TOWARDS POOLAMPATTI ( WITHIN 2 KMS FROM METTUR THERMAL POWER PLANT) (OUTSIDE METTUR MUNICIPAL LIMITS)	Salem	REGULAR	100	OBC	DC	35	35	1225	32	55	DRAW OF LOTS	15	4
1168	FROM HOSUR TNSTC DEPOT TO DENKANIKOTAI (ON SH - WITHIN HOSUR TOWN LIMITS)	Krishnagiri	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1169	GOBINATHAMPATTI X ROAD TO HARUR ON NH ON EITHER SIDE	Dharmapuri	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1170	FROM THALLY ROAD CIRCLE NEAR WALKER'S PARK TO ANDHIWADI ON SH (THALLY ROAD)	Krishnagiri	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1171	FROM ARIYANOOR TO VEERAPANDI ON TIRUCHENGODE ROAD (ON SH)	Salem	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1172	RASIPURAM TOWN LIMITS (NOT ON NH)	Namakkal	REGULAR	100	Open	DC	35	35	1225	32	55	DRAW OF LOTS	15	5
1173	AYILPATTY TO MANGALAPURAM ON SH	Namakkal	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1174	WITHIN 2 KM FROM SANKARI TAHSILDAR OFFICE ON SANKARI TO TIRUCHENGODE ROAD (SH 86)	Salem	REGULAR	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1175	FROM MAGUDANCHAVADI TO KONGANAPURAM (ON SH) - WITHIN 4KMS FROM MAGUDANCHAVADI NH JN.	Salem	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1176	WITHIN 4 KMS FROM NH 81 JUNCTION NEAR KARUR MUNIYAPPAN KOVIL TOWARDS ERODE ON SH	Karur	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1177	WITHIN 5 KMS FROM KARUR BUS STAND WITHIN KARUR TOWN LIMITS (NOT ON NH)	Karur	REGULAR	110	Open CC-1	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1178	EDAPADY OUTER RING ROAD (FROM EDAPADI - SANKARI ROAD JN TO EDAPADI - BHAVANI ROAD JN.)	Salem	REGULAR	120	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1179	BETWEEN THALAPPALAM AND NAGADASAMPATTI ON SH 60	Dharmapuri	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1180	THIMMAPURAM TO ERAHALLI NH44 JUNCTION IN KAVERIPATNAM ON SH	Krishnagiri	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1181	FROM KS CINEPLUX TO MUTHALAIPATTY ON SALEM MAIN ROAD WITHIN NAMAKKAL TOWN LIMITS	Namakkal	REGULAR	100	Open	DC	35	35	1225	32	55	DRAW OF LOTS	15	5
1182	BETWEEN SOLAIKOTTAI AND ODASALPATTI X-ROAD ON SH60A	Dharmapuri	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1183	FROM GORIMEEDU JUNCTION TOWARDS KURUMBAPATTI ON KURUMBAPATTI ZOO ROAD WITHIN CORPORATION LIMITS	Salem	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1184	KALAPPANAICKENPATTY TO MUTHUKAPPATTY ON SH	Namakkal	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1185	NAMAKKAL FORT TO CHINNAMUTHALAIPATTY ON R.P PUDUR MAIN ROAD WITHIN NAMAKKAL TOWN LIMITS	Namakkal	REGULAR	100	Open	DC	35	35	1225	32	55	DRAW OF LOTS	15	5
1186	THIRUVAGOUNDANOOR ROUNDABOUT TO SALEM RAILWAY JN	Salem	REGULAR	150	OBC	CC	25	16	400	32	12	Bidding	30	4
1187	FROM PANNAPATTI TO THOPPUR ON NH-44 - ON RHS	Salem	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1188	KONERIPATTY TO SEERAPPALLI ON SH	Namakkal	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1189	MANGALAPURAM TO MALLIAKARAI WITHIN NAMAKKAL DIST ON SH	Namakkal	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension e site (in Sq	(in M.)/Area . M.). *		e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC / SC CC-1 SC PH ST ST CC-1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	Rs in Lakhs	Rs in Lakhs
1190	WITHIN 5 KMS FROM MGR CROSS TOWARDS BHAVANI ON METTUR - BHAVANI ROAD (RHS ON NH 544 H)	Salem	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1191	SAMIAPURAM KOOT ROAD TO ALAMELUPURAM - ON NH RHS	Dharmapuri	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1192	TIRUCHENGODE NEW BUS STAND TO NAMAKKAL WITHIN TIRUCHENGODE TOWN LIMITS ON TIRUCHENGODE - NAMAKKAL STATE HIGHWAY	Namakkal	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1193	NH48 AND NH44 JUNCTION (TCR CIRCLE) TO KRISHNAGIRI TOLL GATE ON NH44	Krishnagiri	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1194	BELLUKKURCHI TO KONERIPATTY ON SENDAMANGALAM - RASIPURAM STATE HIGHWAY	Namakkal	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1195	NAMAKKAL FORT TO VETTAMBADI ROAD ON NAMAKKAL - SENDAMANGALAM STATE HIGHWAY	Namakkal	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1196	SEELANAICKENPATTI TO AMMAPET ON NH79 (LHS)	Salem	REGULAR	150	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
1197	KANDHIKUPPAM TO ANKINAYANAPALLI, ON NH48 LHS	Krishnagiri	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1198	FROM ASHOKA PILLAR JUNCTION IN HOSUR TO BEERJEPALLI ON SH	Krishnagiri	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1199	TIRUCHENGODE TOWN LIMITS	Namakkal	REGULAR	100	Open	DC	35	35	1225	32	55	DRAW OF LOTS	15	5
1200	METTUPATTI TOLL GATE TO VAZHAPADI ON NH 79 (ON LHS) FROM SALEM OLD BUS STAND TO HASTHAMPATTI BULL STATUE ON CHERRY	Salem	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1201	ROAD FROM FIVE ROADS JUNCTION (SALEM) TO HASTHAMPATTI BULL STATUE ON	Salem	REGULAR	150	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	
1202	SARADHA COLLEGE ROAD (ON EITHER SIDE) FROM AKKAMAPETTAI TO NARAYANAPPAN CHAVADI (ON NEW SANKARI BYE	Salem	REGULAR	150	Open	CC	20	20	400	32	12	BIDDING	30	5
1203 1204	PASS ROAD) FROM KONERIPALLI TO PERANDAPALLI ON NH 44 LEFT HAND SIDE	Salem Krishnagiri	REGULAR	140 150	Open CC-1 OBC	DC DC	35 35	35 35	1225 1225	32 32	75 95	DRAW OF LOTS	15 15	5
1204	FROM SUKKALIYUR ROAD NH JUNCTION TO MANAVASI ON NH81 LHS	Karur	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1200	MATHIGIRI TO NAGONDAPALLI ON SH	Krishnagiri	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1200	NAMAKKAL BUS STAND TO GREEN PARK MATRIC SCHOOL ON BODHUPATTY ROAD IN NAMAKKAL TOWN LIMITS	Namakkal	REGULAR	100	Open	DC	35	35	1225	32	55	DRAW OF LOTS	15	5
1208	FROM KUNDARAPALLI TO CHINNAR ON NH 44 RIGHT HAND SIDE	Krishnagiri	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1209	WITH IN 5KMS FROM MANMANGALAM BUS STOP ON NH TOWARDS NAMAKKAL ON NH44 RHS	Karur	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1210	ULIMANGALAM TO ANNIYALAM ON SH	Krishnagiri	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1210	PARAMATHI TO ARTHANARIPALAYAM ON SH	Namakkal	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1212	FROM KUNDARAPALLI TO CHINNAR ON NH 44 LEFT HAND SIDE	Krishnagiri	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1213	FROM HOTEL RADISSON (SALEM) TO OMALUR TOLLGATE ON NH-44 - ON LHS	Salem	REGULAR	150	Open	DC	30	30	900	32	75	DRAW OF LOTS	15	5
1214	SANKARI TOWN (ON STATE HIGHWAY - BETWEEN ATC BUS DEPOT AND NH47 JUNCTION NEAR AVARANGAPALAYAM)	Salem	REGULAR	180	SC CC-1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1215	MECHERI TO THOPPUR ON NH-544H (ON EITHER SIDE)	Salem	REGULAR	150	Open CC-2	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1216	FROM MALLUR TO RASIPURAM ON NH44 LEFT HAND SIDE	Namakkal	REGULAR	160	OBC CC-1	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1217	FROM VENGAMEDU FLY OVER TO NH44 JUNCTION ON SALEM MAIN ROAD (NOT ON NH)	Karur	REGULAR	100	Open	DC	35	35	1225	32	55	DRAW OF LOTS	15	5
1218	IRULAPATTI TO NAMBIPATTI ON NH179A ON EITHER SIDE	Dharmapuri	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1219 1220	FROM ZUZUWADI TO PERANDAPALLI ON NH44 LEFT HAND SIDE FROM CHETTINAD COLLEGE MAIN ENTRY GATE TO UPPIDAMANGALAM NH	Krishnagiri Karur	REGULAR	150 100	OBC Open	DC DC	35 35	35 35	1225 1225	32 32	95 75	DRAW OF LOTS	15 15	4
1220	JUNCTION ON PULIYUR - UPPIDAMANGALAM ROAD. VELUR TOWN LIMITS (NOT ON NH)	Namakkal	REGULAR	100	Open	DC	35	35	1225	32	55	DRAW OF LOTS	15	5
1222	FROM CITY POLICE STATION HOSUR TO RAYAKOTTAH ON SH - WITHIN TOWN LIMITS	Krishnagiri	REGULAR	150	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1223	NH48 AND NH44 JUNCTION (TCR CIRCLE) TO ORAPPAM ON NH48 LHS	Krishnagiri	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1224	ANDIPALAYAM TO KOKKARAYANPETTAI ON KOKKARAYANPETTAI ROAD FROM VELAGOUNDAMPATTI POLICE STATION TO PULLAGOUNDAMPATTY ON	Namakkal	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1225	SH SIPCOT, KURUBARAPALLI TO GOVERNMENT MEDICAL COLLEGE, KRISHNAGIRI	Namakkal	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1226	SIPCOT, KUKUBARAPALLI TO GOVERNMENT MEDICAL COLLEGE, KRISHNAGIRI ON NH 44 LHS	Krishnagiri	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq	(in M.)/Area . M.). *	applicant	e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC / SC CC-1 SC PH ST ST CC-1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	Rs in Lakhs	Rs in Lakhs
1227	FROM HASTHAMPATTI BULL STATUE TOWARDS KANNANKURCHI MAIN ROAD WITHIN CORPORATION LIMITS	Salem	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1228	TIRUCHENGODE GOVERNMENT HOSPITAL TO ATHIPALAYAM ON SH	Namakkal	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1229	KITCHIPALAYAM POLICE STATION TO SANYASIGUNDU DARGAH -NOT ON NH WITHIN SALEM CORPORATION LIMIT	Salem	REGULAR	150	Open CC-1	DC	20	20	400	32	75	DRAW OF LOTS	15	5
1230	KRISHNAGIRI TOLL PLAZA TO KUNDARAPALLI ON NH 44 LHS	Krishnagiri	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1231	THERMAL PIRIVU CITY ARCH IN METTUR TO VEERAKKALPUDUR (ON NH)	Salem	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1232	NAMAKKAL FORT TO COASTAL GRAND RESIDENCY HOTEL ON SH	Namakkal	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1233	THOGAMALAI TOWN (ON KULITHALAI - MANAPARAI STATE HIGHWAY)	Karur	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1234	KUNDARAPALLI TO KURUBARAPALLI ON NH 44 LHS	Krishnagiri	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1235	KELAMANGALAM TO NAGAMANGALAM ON SH	Krishnagiri	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1236	KEERIPATTI TO NAGIYAMBATTI ON SH (EITHER SIDE)	Salem	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1237	KULITHALAI TOWN LIMITS (NOT ON NH)	Karur	REGULAR	110	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1238	BOGANAPALLI TO SENDHARAPALLI ON NH 77 - WITHIN 3KMS FROM NH 48 JN	Krishnagiri	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1239	PALLIPALAYAM TOWN LIMITS (NOT ON NH)	Namakkal	REGULAR	110	Open	DC	35	35	1225	32	55	DRAW OF LOTS	15	5
1240	SANKARI ATC BUS DEPOT TO SANKARI - ERODE - COIMBATORE ROAD JN ON LHS	Salem	REGULAR	150	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1241	FROM ANDAGALUR TO MALLUR ON NH 44 LEFT HAND SIDE WITHIN NAMAKKAL DIST	Namakkal	REGULAR	160	OBC PH	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1242	TIRUCHENGODE NEW BUS STAND TO SANKARI WITHIN TIRUCHENGODE TOWN LIMITS ON SH	Namakkal	REGULAR	120	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1243	TIRUCHENGODE NEW BUS STAND TO CHINNATHAMBIPALAYAM ON SH	Namakkal	REGULAR	140	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1244	FROM NAMAKKAL TO KARUR ON NH 44 LEFT HAND SIDE WITH IN NAMAKKAL DISTRICT	Namakkal	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1245	ARIYANOOR TO NEIKKARAPATTI ON NH544 (LHS)	Salem	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1246	BETWEEN ALLIYUR AND PODUTHAMPATTI ON NH844	Dharmapuri	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1247	FROM ELAMPILLAI - KAKAPALAYAM PIRIVU ROAD TO KADATHUR AGRAHARAM ON NH (LHS)	Salem	REGULAR	150	Open	сс	35	35	1225	32	12	BIDDING	30	5
1248	NAMAKKAL BUSSTAND TO TRICHY ON NH381B WITHIN NAMAKKAL TOWN LIMITS	Namakkal	REGULAR	150	OBC	сс	35	35	1225	32	12	Bidding	30	4
1249	ATTUR TO SARVAI PUDUR ON NH 79 (ON LHS)	Salem	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1250	OLAKKACHINNANUR TO TANGAYUR (RHS ON SH86)	Salem	REGULAR	150	Open	CC	35	35	1225	32	12	BIDDING	30	5
1251	VAIKUNTAM KALIPATTI PIRIVU TO SANKARI BYPASS JUNCTION (NEAR TVS ASHOK LEYLAND SERVICE CENTER) - LHS ON NH47	Salem	REGULAR	160	Open	сс	35	35	1225	32	12	BIDDING	30	5
1252	WITHIN 3 KMS EITHER SIDES OF VELANCHETTIYUR TOLL PLAZA ON NH 44 RHS TOWARDS DINDIGUL (WITHIN KARUR DISTRICT)	Karur	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1253	BAGALUR ROAD CIRCLE TO KALASTHIPURAM ON NH	Krishnagiri	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1254	FROM DASANAICKENPATTI TO MALLUR ON NH 44(RHS)	Salem	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1255	FROM SHOOLAGIRI TO CHINNAR ON NH 44 LEFT HAND SIDE	Krishnagiri	REGULAR	150	Open CC-1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1256	NH48 AND NH44 JUNCTION (TCR CIRCLE) TO KAVERIPATNAM ON NH 44 RHS	Krishnagiri	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1257	SALEM CORPORATION LIMIT	Salem	REGULAR	150	Open	CC	20	20	400	32	12	BIDDING	30	5
1258	NH47 AVARANGAMPALAYAM TO KUPPANUR BYE PASS JUNCTION (RHS)	Salem	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1259	A.REDDIHALLI, DHARMAPURI TALUK ON NH44	Dharmapuri	REGULAR	150	Open	CC	35	35	1225	32	12	BIDDING	30	5
1260	BHARATRATNA MGR MEMORIAL ARCH TO ERUMAPALAYAM -NOT ON NH WITHIN CORPORATION LIMITS	Salem	REGULAR	150	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
1261	FROM SALEM OLD BUS STAND TO SEELANAICKENPATTI BYEPASS	Salem	REGULAR	150	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
1262 1263	MANMANGALAM TO CAUVERY RIVER BRIDGE ON NH44 LHS FROM SEELANAICKANPATTI BYPASS TO VANNIYAR MARRIAMMAN KOIL (NOT	Karur Salem	REGULAR	150 206	Open SC CC-1	DC CFS	35 20	35 20	1225 400	32 0	95	DRAW OF LOTS	15 0	5
	ON NH)													
1264	FROM RASIPURAM TO NAMAKKAL ON NH-44 LEFT HAND SIDE	Namakkal	REGULAR	160	OBC CC-1	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1265	BETWEEN KARIMANGALAM AND PACHIGANAPALLI ON NH44	Dharmapuri	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1266	FROM OMALUR TOLLGATE TO PANNAPATTI ON NH-44 - ON LHS	Salem	REGULAR	150	Open PH	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1267	ANKINAYANAPALLI TO ORAPAM ON NH48 LHS	Krishnagiri	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		e site (in Sq	(in M.)/Area . M.). *	applicant	e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC / SC CC-1 SC PH ST ST CC-1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	Rs in Lakhs	Rs in Lakhs
1268	FROM HASTHAMPATTI JN. TO SALEM TOWN RAILWAY STATION ( ON CHERRY ROAD)	Salem	REGULAR	150	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
1269	KULITHALAI TO PETTAVAITHALAI ON NH81 (WITHIN KARUR DISTRICT)	Karur	REGULAR	150	Open	CC	35	35	1225	32	12	BIDDING	30	5
1270	SALEM CITY NEAR COLLECTOR OFFICE (ON CHERRY ROAD CONNECTING TIRUVALLUVAR STATUE TO TOWN RAILWAY STATION ROAD)	Salem	REGULAR	150	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
1271	ERRAHALLI TO SAPPANIPATTI ON NH44 LHS	Krishnagiri	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1272	TOGARAPALLI CROSS ROAD TO KANNANDAHALLI ON NH 77	Krishnagiri	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1273	BETWEEN NALLAMPALLI AND THADANGAM ON NH44 (LHS TOWARDS HOSUR)	Dharmapuri	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1274	PONNAMMAPET RAILWAY CROSSING TO UDAYAPATI NOT ON NH-WITHIN CORPORATION LIMIT	Salem	REGULAR	150	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
1275	FROM HOTEL RADISSON (SALEM) TO OMALUR TOLLGATE ON NH-44 - ON RHS	Salem	REGULAR	150	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
1276	PAIYUR TO SAPPANIPATTI ON NH44 RHS	Krishnagiri	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1277	FROM PERANDAPALLI TO KAMANDODDI ON NH 44 LEFT HAND SIDE	Krishnagiri	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1278	FROM HOSUR TO ZUZUWADI ON NH 44 LEFT HAND SIDE	Krishnagiri	REGULAR	150	Open CC-1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1279	NAMAKKAL BUS STAND TO VALLIPURAM NH44 JUNCTION ON NH LEFT HAND SIDE	Namakkal	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1280	AYODHYAPATTANAM RAILWAY CROSSING TO METTUPATTITHATHANUR	Salem	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1281	UPUWADI NH-79 JUNCTION TO ATTUR TOWN ON PAITHUR ROAD (NOT ON NH - WITHIN ATTUR MUNICIPAL LIMITS)	Salem	REGULAR	100	Open	DC	35	35	1225	32	55	DRAW OF LOTS	15	5
1282	WITHIN 6 KMS FROM THENNILAI POLICE STATION ON NH 81 LHS TOWARDS VELLAKOVIL	Karur	REGULAR	150	OBC	сс	35	35	1225	32	12	Bidding	30	4
1283	CHINNAGOUNDAPURAM TO VAZHAPADY ON NH79 ON RHS	Salem	REGULAR	150	Open	CC	35	35	1225	32	12	BIDDING	30	5
1284	VAZHAPADY TO THULUKKANUR ON NH79 ON RHS	Salem	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1285	TEADAVUR TO RAYARPALAYAM ON NH 136 (ON LHS)	Salem	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1286	KUPPANUR JN TO CHINNAGOUNDANUR (LHS ON NH544) FROM KARUR MUNIYAPPAN KOVIL BUS STOP TO THANEERPHANDAL -	Salem	REGULAR	155	OBC	CC	35	35	1225	32	12	Bidding	30	4
1287	POLLACHI ROAD JN ON NH81	Karur	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1288	FIVE ROAD JN TO COLLECTOR OFFICE JN (VIA NEW BUS STAND ON RHS)	Salem	REGULAR	150	Open	CC	20	20	400	32	12	BIDDING	30	5
1289	WITHIN 3 KMS EITHER SIDES OF VELANCHETTIYUR TOLL PLAZA ON NH 44 LHS TOWARDS DINDIGUL (WITHIN KARUR DISTRICT)	Karur	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1290	FROM PARAMATHI BRIDGE (ON THIRUMANIMUTHARU RIVER) TO KARUR ON NH 44 RGHT HAND SIDE WITHIN NAMAKKAL DIST	Namakkal	REGULAR	160	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1291	KAKKAVADI TO MALAIKOVILUR RIVER BRIDGE ON NH 44	Karur	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1292 1293	BOMMANDAPALLI CIRCLE TO TVS MOTOR COMPANY ON TVS ROAD FROM NAMAKKAL TO ANDAGALUR ON NH44 LEFT HAND SIDE	Krishnagiri	REGULAR REGULAR	150 160	Open OBC	DC DC	35 35	35 35	1225 1225	32 32	95 95	DRAW OF LOTS DRAW OF LOTS	15 15	5 4
1293	FROM INAMAARAE TO ANDAGALON ON NH44 TO HOTEL ASHWA PARK ON STEEL PLANT ROAD	Namakkal Salem	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1295	FIVE ROADS JN TO SALEM RAILWAY JN (RHS)	Salem	REGULAR	150	Open	СС	20	20	400	32	12	BIDDING	30	5
1295	FROM ARAVAKURICHY TO MALAIKOVILUR RIVER BRIDGE ON NH 44 LHS	Karur	REGULAR	160	Open	CC	35	35	1225	32	12	BIDDING	30	5
1290	KRISHNAGIRI TOWN WITHIN 3 KM FROM NEW BUS STAND	Krishnagiri	REGULAR	100	OBC	DC	35	35	1225	32	55	DRAW OF LOTS	15	4
1298	SALEM RAILWAY DIVISONAL OFFICE JUNCTION TO KR THOPPUR ON STEEL PLANT ROAD (EITHER SIDES)	Salem	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1299	ESI RING ROAD - FROM ASHOKA PILLAR TO ESI HOSPITAL ON SH	Krishnagiri	REGULAR	180	Open	сс	35	35	1225	32	12	BIDDING	30	5
1300	FROM OMALUR TOLLGATE TO PANNAPATTI ON NH-44 - ON RHS	Salem	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1301	TARAMANGALAM (WITHIN TOWN LIMITS) ON TARAMANGALAM TO JALAKANDAPURAM MAIN ROAD	Salem	REGULAR	100	OBC	DC	30	30	900	32	55	DRAW OF LOTS	15	4
1302	SEELANAICKENPATTI TO KONDALAMPATTY (LHS) ON NH 44	Salem	REGULAR	150	Open	CC	30	30	900	32	12	BIDDING	30	5
1303	PAVITHRAM TO K.PARAMATHI BUS STOP ON NH 81 RHS	Karur	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1304	NETHIMEDU TO KONDALAMPATTI CIRCLE	Salem	REGULAR	150	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
1305	FROM THENNILAI POLCE STATION TO K.PARAMATHI BUS STOP ON NH 81	Karur	REGULAR	150	Open CC-1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1306	ERUMAPALAYAM TO AMMAPET ON NH (ON RHS)	Salem	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1307	VELUR TO SELUR ON SH	Namakkal	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1308	KATTUKOTTAI TO NATHAKARAI TOLL PLAZA ON NH 79 (RHS)	Salem	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension e site (in Sq	(in M.)/Area . M.). *		e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6 SC /	7		8	1	9a Estimated	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC CC-1 SC PH ST ST CC-1 ST PH	CC / DC / CFS		Depth	Area	working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	Rs in Lakhs	Rs in Lakhs
1309	KONDAMPATTI TO SINGARAPETTAI ON NH	Krishnagiri	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1310 1311	MOHANUR TOWN LIMITS KONDALAMPATTY ROUNDABOUT TO UTHAMASOLAPURAM ON SANKARI MAIN RD (ON RHS).	Namakkal Salem	REGULAR REGULAR	100 150	Open SC	DC CFS	35 20	35 20	1225 400	32 0	55 0	DRAW OF LOTS DRAW OF LOTS	15 0	5
1312	UTHANGRAI TOWN - WITHIN 3KMS FROM ANNA STATUE JUNCTION ON NH77	Krishnagiri	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1313	WITHIN 5KMS FROM NH48 AND NH44 JUNCTION (TCR CIRCLE) TOWARDS ORRAPAM ON NH48 RHS	Krishnagiri	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1314	BHARATRATNA MGR MEMORIAL ARCH TO NETHIMEDU ON PENSION LINE ROAD	Salem	REGULAR	150	Open CC-2	DC	20	20	400	32	75	DRAW OF LOTS	15	5
1315	BETWEEN KM STONE 39 & 46 ON NH532 (ON LHS FROM NEYVELI TOWARDS VIRUDHACHALAM)	CUDDALORE	REGULAR	150	OBC CC-1	сс	35	35	1225	32	12	BIDDING	30	4
1316	BETWEEN KM STONE 2 & 7 ON NH532 (FROM CUDDALORE OT TOWARDS VIRUDHACHALAM)	CUDDALORE	REGULAR	160	SC CC-1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1317	WITHIN 5 KM FROM VADALUR JUNCTION TOWARDS SETHIATHOPE ON NH45C ON LHS	CUDDALORE	REGULAR	160	Open	CC	35	35	1225	32	12	BIDDING	30	5
1318	ON VADALUR NEW BY-PASS BETWEEN KANNUTHOPPU BRIDGE AND MARUVAI	CUDDALORE	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1319	WITHIN 5 KM FROM PANRUTI JUNCTION (INTERSECTION OF NH&SH) TOWARDS KADAMPULIYUR ON NH45C ON RHS	CUDDALORE	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1320	WITHIN 5 KM FROM PINNALUR TOWARDS VADALUR ON NH45C ON LHS	CUDDALORE	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1321	WITHIN 5 KM FROM NLC ARCHGATE TOWARDS VADALUR ON NH45C ON LHS	CUDDALORE	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1322	WITHIN 5 KM FROM NLC ARCHGATE TOWARDS PANRUTI ON NH45C ON LHS	CUDDALORE	REGULAR	160	Open	CC	35	35	1225	32	12	BIDDING	30	5
1323	RAMAPURAM ON CUDDALORE NEW BY-PASS ROAD	CUDDALORE	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1324	WITHIN 5 KM FROM KADAMPULIYUR POLICE STATION TOWARDS PANRUTI ON NH45C ON RHS	CUDDALORE	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1325	WITHIN 3 KM FROM VADAPONPARAPPI SUB REGISTRAR OFFICE TOWARDS SANKARAPURAM ON SH (SANKARAPURAM TALUK)	KALLAKURICHI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1326	VIRUDHACHALAM BY-PASS ROAD ON SH213	CUDDALORE	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1327	BETWEEN KM STONE 22 & 27 ON NH532 (FROM KURINJIPADI BY-PASS TOWARDS VIRUDHACHALAM)	CUDDALORE	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1328	FROM THOZHUDUR TO AVATTI ON NH ON LHS	CUDDALORE	REGULAR	150	Open CC-1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1329	FROM UKKADAI TO SALIYAMANGALAM ON NH (VIA SALIYAMANGALAM BYPASS ROAD)	THANJAVUR	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1330	FROM VANAMADEVI TO MAMANGALAM ON NH45C ON RHS	CUDDALORE	REGULAR	160	OBC	<u> </u>	35	35	1225	32	12	Bidding	30	4
1331 1332	FROM KUMARATCHI TO LALPETTAI ON NH81 BETWEEN KM STONE 1 & 5 ON SH68 (CUDDALORE TO THIRUVANTHIPURAM ROAD)	CUDDALORE	REGULAR REGULAR	150 110	Open Open	DC DC	35 35	35 35	1225 1225	32 32	95 75	DRAW OF LOTS DRAW OF LOTS	15 15	5
1333	WITHIN 5KM FROM VIRUDHACHALAM BY-PASS EXIT TOWARDS VEPPUR ON NH532	CUDDALORE	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1334	SOZHAPURAM TOWN PANCHAYAT	THANJAVUR	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1335	FROM PANRUTI JUNCTION (INTERSECTION OF NH & SH) TOWARDS ARASUR WITHIN CUDDALORE DISTRICT ON SH68	CUDDALORE	REGULAR	120	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1336	BETWEEN KM STONE NO. 16 & 20 ON SH 216 (SRIMUSHNAM TALUK)	CUDDALORE	REGULAR	110	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1337 1338	WITHIN 3KM FROM V KOOT ROAD TOWARDS NAINARPALAIYAM ON NH KARUKADI VILLAGE TO RAYAMPATTI VILLAGE ON STATE HIGHWAY,	KALLAKURICHI	REGULAR	150 100	OBC ST	DC CFS	35 35	35 35	1225 1225	32 0	95	DRAW OF LOTS	15 0	4
1339	THIRUVAYARU TALUK ON CUSTOMS ROAD (CUDDALORE-PANRUTI ROAD) WITHIN CUDDALORE	CUDDALORE	REGULAR	120	Open	DC	35	35	1225	32	55	DRAW OF LOTS	15	5
1340	DISTRICT AADHANDAARKOLLAI TO NEYVELI NEW BUS STAND ON NLC TOWNSHIP ROAD	CUDDALORE	REGULAR	130	Open	DC	35	35	1225	32	55	DRAW OF LOTS	15	5
1341	VIA VADAKKUVELLUR VAIYACHERI - DHARASURAM (ON NEW NH)	THANJAVUR	REGULAR	150	OBC PH	DC	35	35	1225	32	95	DRAW OF LOTS	15	4

Bit Number of the second sec	SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		e site (in Sq	(in M.)/Area . M.). *	applicant	e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
Image:         Image:<	1	2	3	4	5		7		8	1		9b	10	11	12
IDM         TOMARDS SerVeD         CLAURIDUS         RELIGIAN         Rist         Dist         S         S         Dist         Dist <thdist< th=""> <thdist< th="">         Dist</thdist<></thdist<>				Regular / Rural		SC CC-1 SC PH ST ST CC-1	CC / DC / CFS	Frontage	Depth	Area	working capital requirement for operation	required for development of infrastructure at			Rs in Lakhs
194         NBL         NBL         VALUATION         1950         Open         200         38         38         1728         32         12         980         DATA           194         MADAMPUTLI OLUMINIES CH HITTAGUDAL CADE CO NUTLINIE         ALLANDELI         1930         Open         CC         58         36         125         32         17         DEBUNG FILL         15           194         MADAMPUTLI OLUMINIES TAR DYDANAL CADE CO NUTLINIE         ALLANDELI         1930         Open         CC         55         35         125         32         17         DEBUNG         30           194         MALANDELTO THRADUBATION MICRUINE         NULLAUREENT         REGLAR         190         Open         CC         35         36         125         12         180         DEBUNG         31           194         MALANDELICON TRADUBATION MICRUINE         NULLAUREENT         REGLAR         190         Open         CC         35         36         125         12         80         DEBUNG         30           194         MALANDELLETON TRADUBATION MICRUNE TRADUBATION		TOWARDS NEYVELI)												-	3
1986         AMAMPAGD VILLAGE ON SITTINGADE TALLIG         CUDBALORE         FEGULAR         190         Origin Col         38         T22         123         123 <t< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>5</td></t<>															5
1346         MAGAPATU TO LUNUNDERT TA ROLADA GRELE ON INFOLUS         MALARDEN         REGULAR         150         Open         CC         55         35         1225         12         BEDIME         131           1947         FORM WONDERT TO MARCH ON STRAME ON STATUTE TANALAS         THANANAR         FEBULAR         100         00															5
197         PROM_WARD/INFORMENT ON HUTTEN THANUARIE         THEMUARIE         REGULAR         160         C         CFS         35         232         0         0         DEMAND/FUT         0           1986         NILAMMERTAL MUSTION TOTAL COLLAR DEPARTMENT TALLE (N STATURE ON TOTAL DELABORTED TALLE)         NILAMMERTAL MUSTION TA															4
1970         DESTRUCT LINTS         IPPRIADURE         IPPRIADURE         100         Close         Close         20         0         UNMERTING CONTROLLING CONTROLLING         0           1986         MULANDREPHT TONGARDARGON MANNOLLIS         REGULAR         100         05         35         51         125         32         55         DRAVO FLOTS         15           1986         MULANDREPHT TONGARDREAD MANNOLLIS         MALLANDREPHT         REGULAR         100         05         15         15         15         16         16         16         17         16	1346		KALLAKURICHI	REGULAR	150	Open	CC	35	35	1225	32	12	BIDDING	30	5
1360         NILAWARALAY TO VIELGAR, RALLAURCH TALLING OR SIGNLIG         KALLAURCH         REGULAR         110         086         CC         35         85         125         12         PROV OF LOTS         15           1301         INLAWREAL MT TO VIELGAURG PALLAURCH TALLOG ON SIGNLIG         WILLAWREAR         REGULAR         100         065         C         35         125         12         12         BOING OF           1315         PRAMASULEARMAL MENDAL TO NON OVERBRUE CON         THALAWAR         REGULAR         100         065         C         35         125         95         DRAW OF LOTS         15           1326         PROMASULEARMAL MENDAL TO NOL         KALLAURCH         REGULAR         150         0pm C0         36         35         125         9         DRAW OF LOTS         15           1336         PROMASULEARMAL MENDAL TO NOL         KALLAURCH         REGULAR         150         086         25         25         25         DRAW OF LOTS         15           1336         PROMAURAURAU MENDAL TO SERVICE ON NOT OF SALLAWAREAL MENDAL ME		DISTRICT LIMITS													3
1350         NILAMARCALAR TO KALLAKISCH REVOLUED TO ANT ORDERED IN MADAWOT HALANO ALLAKISCH REVOLUED TO ANT ORDERED IN MADAWOT HALANO         KALLAKISCH REVOLUED TO ANT ORDERED IN MADAWOT HALANO         KALLAKISCH REVOLUED TO ANT ORDERED IN MADAWOT HALANO         NUMBER FEELLAR         160         Open         CC         35         35         1225         32         85         DRIV OF LOTS         0           1581         FROM EREDIA TO ALLAKISCH REVOLUED TO ANT ORDERED TO MADAWOT HALANO         THAULANIR REGULAR         168         Open         0C         35         35         125         22         85         DRIV OF LOTS         65           1883         FROM EREDIA TO ALLAKISCH REVOLUED TO THE TO ALLAN         THAULANIR REGULAR         169         Open         0C         35         35         125         22         85         DRIV OF LOTS         15           1386         FROM EREDIA TO ALLAKISCH REVOLUED TO ALL         WLIPPIAM         REGULAR         150         0pen         CC         35         35         125         22         95         DRAV OF LOTS         15           1387         RRAWIRGEN TO NUMARCALL TO STRUCTURED IN MOUNTS         KLILLAKIRCH REGULAR         160         0pen         CC         35         35         125         22         95         DRAV OF LOTS         15           1388 <td></td> <td>5</td>															5
FROM CARREL INFORMATURE SIGNING TO MILLYSERRIDGE ON MURANDATT RESULTS SIGNING THANAUAUR TO NELLYSERRIDGE ON MURANDATION AND THE TO STARTING ON MIT THANAUAUR. RESULTAR SIGNIA MARKANAUAUR PRESENT ON MIT THANAUAUR. RESULTAR SIGNIA MARKANAUAUR PRESENT SIGNIA MARKANAUAUR P		· · · · · ·													4
Inst         MAD-MARTIA ROAD         IMPAUAVICE         Resultate         Vol         C         S         A	1350		KALLAKURICHI	REGULAR	150	Open	CC	35	35	1225	32	12	BIDDING	30	5
1333         FROM ERAND SIDCO ADDISTING, ESTATE ARMUR ON INFOLUS         FROM MAAAURCAN TO VALUTURE ON INF         FROM MAAURCAN TO VALUTURE ON INF ON INF         FROM MAAURCAN TO VALUTURE ON INF ON INF ON INF         FROM MAAURCAN TO VALUTURE ON INF ON INF ON INF ON INF         FROM MAAURCAN TO VALUTURE ON INF ON INF ON INF ON INF         FROM MAAURCAN TO VALUTURE ON INF ON INF ON INF ON INF ON INF         FROM MAAURCAN TO VALUTURE ON INF ON INF ON INF ON INF         FROM MAAURCAN TO VALUTURE ON INF ON INF         FROM MAAURCAN TO VALUTURE ON INF ON INF ON INF ON INF         FROM MAAURCAN TO VALUTURE ON INF ON INF         FROM MAAURCAN TO VALUTURE ON INF ON INF ON INF         FROM MAAURCAN TO VALUTURE ON INF ON INF ON INF ON INF         FROM MAAURCAN TO VALUTURE ON INF ON I	1351		THANJAVUR	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
134         FROM MANARKOR TO VALUTING ON INT         THANLAVUR         REGULAR         150         Opc         235         2125         32         95         DRAW OF LOTS         15           1355         PUNNANULLIN REVENDMANDOL TEME TO STATTING PONT OF SALYAMANGAL MARPASS ON IN         THANLAVUR         REGULAR         150         0BC         35         1225         32         95         DRAW OF LOTS         15           1356         RVADPAULT TO TRUVAVAMOLAN INST ON LINS         VILLIPPIRAR         REGULAR         150         0pc         35         35         1225         32         95         DRAW OF LOTS         15           1357         RXAPPAULT TO TRUVAVAMOLAN CRCE TO SUDJICIO NI HO NI LIS         KALLAURCHH         REGULAR         150         0pc         35         35         1225         32         95         DRAW OF LOTS         15           1360         CHO2MPRAT MULLAGE TO MANUARA BIRDED CON INT UNISK         KALLAURCHH         REGULAR         160         0BC         DC         36         35         1225         32         96         DRAW OF LOTS         15           1380         FORTING MULLAR TO MULLARIST MULLAR MULLAR         KALLAURCHH         REGULAR         160         0pc         36         35         1225         32         96	1352	PAPANASAM VILLAGE IN PAPANASAM TALUK ON NH	THANJAVUR	REGULAR	150	OBC				1225			DRAW OF LOTS	15	4
135         PUNNANULIN MARYAMANANG LTEMP.E TO STATING POINT OF SIGURATION CHARMENT OF ALL MARY AND ALL MARKEN ALL MARY ALL MARKEN ALL		FROM ERANJI TO SIDCO INDUSTRIAL ESTATE ASANUR ON NH ON LHS				Open									5
1369         SALYAMANGALA BYPASS ON H         IMPACAVIA         REGULAR         100         UBC	1354		THANJAVUR	REGULAR	150	Open CC-1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
157         RAVEPARURE TO INDUI ON NE ON LIS         KALLAKURCH         REGULAR         150         Open         DC         35         35         1225         32         95         DRAW OF LOTS         15           138         FROM LUNDURPETIAI ROUNDAMA CIRCLE TO SENGURCII ON HON LIS         KALLAKURICH         REGULAR         150         Open         DC         35         35         1225         32         95         DRAW OF LOTS         15           1390         DEEVANUE TO SENGURACIS TO MANDAMA CIRCLE TO SENGURATI TALUAG         KALLAKURICH         REGULAR         100         SC         CFS         35         1225         0         DRAW OF LOTS         15           1381         EBANTER ON SEI LULINDERPETIAT TALUAG         KALLAKURICH         REGULAR         150         Open         DC         35         35         1225         32         55         DRAW OF LOTS         15           1381         THANUAMURAW-VARCHER ON MAKANT TO SENGPATTI TALUAG         KALARRICH         REGULAR         150         Open         DC         35         35         1225         32         55         DRAW OF LOTS         15           1383         THANUAWURAW-VARCHER ON MAKAND NEW MH         THANUAWUR         REGULAR         100         OBC         20         400 <td>1355</td> <td></td> <td>THANJAVUR</td> <td>REGULAR</td> <td>150</td> <td>OBC</td> <td>DC</td> <td>35</td> <td>35</td> <td>1225</td> <td>32</td> <td>95</td> <td>DRAW OF LOTS</td> <td>15</td> <td>4</td>	1355		THANJAVUR	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
138         FROM LLINDURPETTAI ROUNDANA CIRCLE TO SENGURICH ON NH ON LHS         KALLAKURICH         REGULAR         150         Open         DC         35         35         1225         32         95         DRAW OF LOTS         15           1390         CHO2DAPUIGAW VILLAGE TO ANAKORAB ISTOGE ON NH         THANAJVUR         REGULAR         100         OBC         CC         35         35         1225         32         95         DRAW OF LOTS         15           1361         EXATURE ON SH1 (LUNDURPETTAI TALK)         KALLAKURHUR         REGULAR         100         Open         DC         35         35         1225         32         95         DRAW OF LOTS         15           1362         FROM TRUMALSMURMURAN ON SIGNATION NH UNUS         THANAVUR         REGULAR         150         Open         DC         35         35         1225         32         95         DRAW OF LOTS         15           1363         THANJAVIR - VARACHER (ON NEW NH)         THANAVUR         REGULAR         150         Open         DC         35         35         1225         32         95         DRAW OF LOTS         15           1364         WITHIN THANAVUR         MARCHER CORPORTION UNITS         THANAVUR         REGULAR         100         OBC	1356	KOOTTERIPATTU TO TINDIVANAM ON NH132 ON LHS	VILUPPURAM	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1399         CHO2HAPURAN VILLAGE TO ANAKKARAI BRIDGE ON NH         THANLAVUR         REGULAR         150         OBC         DC         35         35         1225         S2         95         DRAW OF LOTS         15           1800         DEEVANAR TO DULYANAR ON SH 136         VILLIPPURAM         REGULAR         100         SC         CFS         35         35         1225         32         75         DRAW OF LOTS         15           1810         EARTING NSH (LUNCARCHTTA TALLIK)         KALLAKARICH         REGULAR         160         Open         CC         35         1225         32         95         DRAW OF LOTS         15           1830         THANLAVIAR         REGULAR         160         Open         CC         35         1225         32         95         DRAW OF LOTS         15           1383         THANLAVIAR         REGULAR         160         Open         CC         35         1225         32         95         DRAW OF LOTS         15           1384         FROM TANARAR COREGRATINALIKARUPPUR         THANLAVUR         REGULAR         100         Open         CC         36         35         1225         32         95         DRAW OF LOTS         0           1385         <	1357	RAYAPPANUR TO INDILI ON NH ON LHS	KALLAKURICHI	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1960         DEFXAVAILE TO PULNAVIRE ON \$116         VILUPPURAM         REGULAR         100         SC         CFS         35         1225         0         0         DRAW OF LOTS         0           1361         ERAVINE ON SH (LUBADRETATI TAUN)         KALLAKURICH         REGULAR         150         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1383         THANAVUR         VALUPURAN         REGULAR         150         Open         DC         35         35         1225         32         95         DRAW OF LOTS         15           1384         FROM KSK ENGINEERING COLLEGE KUMBAKOMAN TO KORNANTTUKARUPPUR         THANAVUR         REGULAR         100         06C CC1         DC         35         35         1225         32         95         DRAW OF LOTS         15           1385         WITHIN THANAVUR MUNICHAL KORDON NM         THANAVUR         REGULAR         100         Open H         DC         20         20         400         0         0         DRAW OF LOTS         15           1386         THRUMALSKUDL CARTHERAMEDICAL VIA KANAVUR         REGULAR         100         Open H         DC         35         35         1225         32         <	1358	FROM ULUNDURPETTAI ROUNDANA CIRCLE TO SENGURICHI ON NH ON LHS	KALLAKURICHI	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1361         ERAYUR CN SH (ULINDURFETTA TALIK)         KALLANIRCH         REGULAR         100         Open         DC         35         35         122         32         75         DRAW OF LOTS         15           1362         FROM TRIGHLANSAMTHRAM TO SUNS         THANAVUR         REGULAR         150         Open         DC         35         35         1225         32         95         DRAW OF LOTS         15           1363         THANAVUR-VANCHERI (ON NEW NH)         THANAVUR         REGULAR         150         Open         DC         35         35         1225         32         95         DRAW OF LOTS         15           1364         FROM KSK INNIERENCORDATION NH ON LINS NOT ON NH         THANAVUR         REGULAR         100         OBC CC-1         DC         35         35         1225         32         95         DRAW OF LOTS         0           1365         WITHIN THANAVUR-UNICPEL CORDATION INS NOT ON NH         THANAVUR         REGULAR         100         OBC C-1         DC         35         35         1225         32         75         DRAW OF LOTS         15           1366         WITHIN THANAVURAUKUNI-KATTORMANGALM VAN KANJANUR         REGULAR         100         Open         DC         35         35	1359	CHOZHAPURAM VILLAGE TO ANAKKARAI BRIDGE ON NH	THANJAVUR	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1952         FROM TRUMALAISAMUTHIGAN TO SENGENTI ON HEYON LINS         THANLAYUR         Network         150         Open         DC         35         35         1225         32         95         DRAW OF LOTS         15           1363         THANLAYR         VARCHERION NEW MHI         THANLAYUR         REGULAR         150         Open         DC         35         35         1225         32         95         DRAW OF LOTS         15           1364         FROM KSK ENGINEERING COLLOEK KIMEAKONAM TO KORANATTUKARUPPUR         THANLAYUR         REGULAR         100         Obc CC-1         DC         35         35         1225         32         95         DRAW OF LOTS         15           1365         WITHIN THANLAYUR MUNCPLIC CAPOPATION INITS, NOT ON NH         THANLAYUR         REGULAR         100         SC CC-1         CF         20         400         0         DRAW OF LOTS         15           1367         THIRUMANGALAKKIDI LANDERT ST, ANTHON'S CHURCH VIA         THANLAYUR         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1368         FROM OLD PLAKARAN ERIDER TA MAN YA KANLAYULA         REGULAR         100         Open         DC         3	1360		VILUPPURAM	REGULAR		SC							DRAW OF LOTS	0	3
1983         THANLAVUR         THANLAVUR         REGULAR         190         Open         DC         35         35         1225         32         95         DRAW OF LOTS         15           1386         FROM KSK ENGINEERIN COLLEGE KUMBARCNAMT KOARANTUKARUIPFUR         THANLAVUR         REGULAR         160         0BC CC-1         DC         35         35         1225         32         95         DRAW OF LOTS         15           1386         WITINT THANLAVUR MINICIPAL CORPORATION LIMITS, NOT ON NH         THANLAVUR         REGULAR         100         OSC C-1         CFS         20         400         0         DRAW OF LOTS         15           1386         CUDDALORE BEACH ROAD ON MOR         CUDDALORE         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1386         FROM KUD PLAKKADI KATHIRAMAGLAKUDI KATHIRAMAGLAN VIA KANLANUR         THANLAVUR         REGULAR         100         Open         DC         35         1225         0         DRAW OF LOTS         15           1388         BETWEEN KUMALAND VELINEDUPFETTA ON SH 5         VILUPPURAM         REGULAR         100         Open         DC         20         20         400         32						Open									5
1364         FROM KSK ENGINEEERING COLLEGE KUMBAKOMAM TO KORANATTUKARUPPUR ROUNDANA ON NH         THANLAVUR         REGULAR         150         OBC CC-1         DC         35         35         1225         32         95         DRAW OF LOTS         15           1386         WITHIN THANLAVUR MUNCIPAL COREPORTION LINTS, NOT ON NH         THANLAVUR         REGULAR         100         SC C-1         CF         20         400         0         0         DRAW OF LOTS         0           1386         CLIDDALORE BEACH ROAD ON MOR         CLIDDALORE         REGULAR         100         Open PH         DC         20         400         32         255         DRAW OF LOTS         15           1387         THIRUMARGALAKKUD - KATHRAMAGLAK VIA KANJANUR         THANLAVUR         REGULAR         100         OBC         DC         35         35         1225         32         75         DRAW OF LOTS         15           1388         FROM OLD PALAKKARA BRDGE TO ST. ANTHONYS CHURCH VIA KUMBAKOMAM COURT         THANLAVUR         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1370         BETWEEN KUMARGAMA OV ST. HEARTS COLLEGE CLID PALAKARAN         THANLAVUR         REGULAR         100															5
1364         ROUNDAWA ON NH         IHANARUR         RESULAR         100         000 C/C1         0.0         35         35         125         32         35         125         32         35         125         32         35         35         125         32         35         35         125         32         35         125         32         35         125         32         35         125         32         35         125         32         35         125         32         35         125         32         35         125         32         35         125         32         35         125         32         35         125         32         35         125         32         35         125         32         125         32         35         125         32         35         125         32         35         125         32         35         125         32         35         125         32         35         125         32         35         125         32         35         125         32         35         125         32         35         125         32         35         125         32         35         125	1363		THANJAVUR	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1366         CUDDALORE         RECULAR         110         Open PH         DC         20         20         400         32         55         DRW OF LOTS         15           1367         THIRUMANGALAKUDI-KATHIRMAMAGALM VIA KANLANUR         THANLAVUR         REGULAR         100         OBC         DC         35         35         1225         32         75         DRAW OF LOTS         15           1368         FROM OL PALAKKARAI RIDGE TO ST. ANTHONY'S CHURCH VIA KUBBACONAM COURT         THANLAVUR         REGULAR         100         OBC         CFS         35         1225         0         0         DRAW OF LOTS         15           1369         BETWEEN RUMA NOCULIEGE - OLD PALAKARAI         THANLAVUR         REGULAR         100         Open         DC         20         400         32         75         DRAW OF LOTS         15           1370         BETWEEN KUMBAKONAM COURT : INE ARTS COLLEGE - OLD PALAKARAI         THANLAVUR         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1371         BETWEEN KOMANALPURAM TO MATHAVAPURAM ON SH         THANLAVUR         REGULAR         100         Open         DC         35         35         1225 <td></td> <td>ROUNDANA ON NH</td> <td></td> <td>15</td> <td>4</td>		ROUNDANA ON NH												15	4
1367         THIRUMANGALAKKODI - KATHRRAMANGALAW VA KANJANUR         THANJAVUR         REGULAR         100         OBC         DC         35         35         1225         32         75         DRAW OF LOTS         15           1388         FROM OLD PALAKKARAJ BRIDGE TO ST. ANTHONY'S CHURCH VIA KUMBAKOMAM COURT         THANJAVUR         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1389         BETWEEN KALAND VELIMEDUPPETTAI ON SH 5         VILUPPURAM         REGULAR         100         Open         DC         20         400         32         75         DRAW OF LOTS         15           1370         BETWEEN KIMBAKOMAM COUT, FINE ARTS COLLEGE - OLD PALAKARAI BRIDGE ON SH         THANJAVUR         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1371         BETWEEN KIMBAKOMAM COULT NEW ASH ONSH         THANJAVUR         REGULAR         100         Open         DC         35         35         1226         32         75         DRAW OF LOTS         15           1373         ON THANJAVUR MEDICAL COLLEGE ROAD (BETWEEN SHONSHIL AND SUTH CONE CULTURAL CENTRE)         THANJAVUR         R															3
1368         FROM OLD PALAKKARAI BRIOGE TO ST. ANTHONYS CHURCH VIA KUMBAKONAM COURT         THANJAVUR         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         0           1369         BETWEEN URAL AND VELUMEOUPPETTAL ON SH 5         VILUPPURAM         REGULAR         100         SC         CFS         35         35         1225         0         0         DRAW OF LOTS         0           1370         BETWEEN KUMBAKONAM GOVT. FINE ARTS COLLEGE - OLD PALAKARAI BRIDGE ON SH         THANJAVUR         REGULAR         100         Open         DC         20         20         400         32         75         DRAW OF LOTS         15           1371         BETWEEN KUMBAKONAM GOVT. FINE ARTS COLLEGE - OLD PALAKARAI BRIDGE ON SH         THANJAVUR         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1373         ON THANJALPURAM TO MATHAVAPURAM ON SH         THANJAVUR         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1373         SOUTH ZONE COLTURAL CENTRE)         THANJAVUR NEUB REGULAR         10															5
1368         KUMBAKONAM COURT         IHAUAVOR         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1369         BETWEEN URAL AND VELLIMEDUPPETAI ON S15         VILUPPURAM         REGULAR         100         SC         CFS         35         35         1225         0         0         DRAW OF LOTS         0           1370         BETWEEN URAL AND VELIMEDUPPETAI ON S15         VILUPPURAM         REGULAR         100         Open         DC         20         20         400         32         75         DRAW OF LOTS         15           1370         BETWEEN KUMBAKONAM GOUT. FINE ARTS COLLEGE - OLD PALAKARAI BRIDGE ON SH         THANJAVUR         REGULAR         100         Open         DC         35         1225         32         75         DRAW OF LOTS         15           1371         BETWEEN KUMBAKONAM GOURT         THANJAVUR         REGULAR         100         Open         DC         35         1225         32         75         DRAW OF LOTS         15           1372         THINJANUR MEDICAL COLLEGE - COLD PALAKARD         THANJAVUR         REGULAR         100         Open         DC         20         400         32	1367		THANJAVUR	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1370         BETWEEN KUMBAKONAM GOVT. FINE ARTS COLLEGE - OLD PALAKARAI BRIDGE ON SH BIDGE ON SH BIDGE ON MATHAVAPURAM TO MATHAVAPURAM ON SH         THANJAVUR         REGULAR         100         Open         DC         20         400         32         75         DRAW OF LOTS         15           1371         BETWEEN UMAYALPURAM TO MATHAVAPURAM ON SH         THANJAVUR         REGULAR         100         OBC         DC         35         35         1225         32         75         DRAW OF LOTS         15           1371         BETWEEN UMAYALPURAM TO MATHAVAPURAM ON SH         THANJAVUR         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1373         ON THANJAVUR MEDICAL COLLEGE ROAD (BETWEEN SB HOSPITAL AND SOUTH ZONE CULTURAL CENTRE)         THANJAVUR         REGULAR         100         Open         CC         20         400         32         12         BIDDING         30           1374         BETWEEN KOOTTERIPATTU AND VENGANTHAVAN VULLAGE ON SH 136         VILUPPURAM         REGULAR         100         SC         CFS         35         1225         0         0         DRAW OF LOTS         15           1375         WTHIN 3 KM FROM MARUTHAY KOVIL BUS STOP TOWARDS ARIYALUR ON NH         PERAMBALUR	1368	KUMBAKONAM COURT		REGULAR	100				35		32	75	DRAW OF LOTS	15	5
1370         BRIDGE ON SH         THANAVUR         REGULAR         100         Open         DC         20         20         400         32         75         DRAW OF LOTS         15           1371         BETWEEN UMAIYALPURAM TO MATHAVAPURAM ON SH         THANJAVUR         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1372         THRUNAGESWARAM -S. PUDUR ON SH         THANJAVUR         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1373         ON THANJAVUR MEDICAL COLLEGE ROAD (BETWEEN SB HOSPITAL AND SOUTH ZONE CULTURAL CENTRE)         THANJAVUR         REGULAR         100         Open         CC         20         400         32         12         BIDDING         30           1374         BETWEEN KOOTTERIPATU AND VENGANTHUR VILLAGE ON SH 136         VILUPPURAM         REGULAR         100         Open         DC         35         35         1225         0         0         DRAW OF LOTS         15           1376         THANJAVUR NEW BUS STAND ROAD (FROM MAHARAJA MAHAL -RAJARAJAN MAIMANDAPAM)         THANJAVUR         REGULAR         100         Open	1369		VILUPPURAM	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1372         THIRUNAGESWARAM - S. PUDUR ON SH         THANJAVUR         REGULAR         100         Open         DC         35         35         1225         32         75         DRAW OF LOTS         15           1373         ON THANJAVUR MEDICAL COLLEGE ROAD (BETWEEN SB HOSPITAL AND SOUTH ZONE CULTURAL CENTRE)         THANJAVUR         REGULAR         100         Open         CC         20         20         400         32         12         BIDDING         30           1374         BETWEEN KOOTTERIPATTU AND VENGANTHUR VILLAGE ON SH 136         VILUPPURAM         REGULAR         100         SC         CFS         35         1225         0         0         DRAW OF LOTS         0           1375         WITHIN 3 KM FROM MARUTHAIYAN KOVIL BUS STOP TOWARDS ARIYALUR ON NH         PERAMBALUR         REGULAR         150         OBC         DC         35         35         1225         32         95         DRAW OF LOTS         15           1376         THANJAVUR NEW BUS STAND ROAD (FROM MAHARAJA MAHAL - RAJARAJAN MANIMANDAPAM)         THANJAVUR         REGULAR         100         Open CC-1         DC         35         35         1225         D         DRAW OF LOTS         15           1376         THANJAVUR NEW BUS STAND ROAD (FROM MAHARAJA MAHAL - RAJARAJAN MANIMANDAPAM)         THANJAVUR<	1370		THANJAVUR	REGULAR	100	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
1373         ON THANJAVUR MEDICAL COLLEGE ROAD (BETWEEN SB HOSPITAL AND SOUTH ZONE CULTURAL CENTRE)         THANJAVUR         REGULAR         100         Open         CC         20         400         32         12         BIDDING         30           1374         BETWEEN KOOTTERIPATTU AND VENGANTHUR VILLAGE ON SH 136         VILUPPURAM         REGULAR         100         SC         CFS         35         35         1225         0         0         DRAW OF LOTS         0           1374         BETWEEN KOOTTERIPATTU AND VENGANTHUR VILLAGE ON SH 136         VILUPPURAM         REGULAR         100         SC         CFS         35         35         1225         0         0         DRAW OF LOTS         0           1375         WITHIN 3 KM FROM MARUTHAIYAN KOVIL BUS STOP TOWARDS ARIYALUR ON NH         PERAMBALUR         REGULAR         150         OBC         DC         35         35         1225         32         95         DRAW OF LOTS         15           1376         THANJAVUR NEW BUS STAND ROAD (FROM MAHARAJA MAHAL - RAJARAJAN NAIMANDAPAM)         THANJAVUR         REGULAR         100         Open         DC         20         20         400         32         55         DRAW OF LOTS         15           1377         BETWEEN ANDIMADAM BUS STAND AND THIRUKALAPUR ON SH         AR	1371	BETWEEN UMAIYALPURAM TO MATHAVAPURAM ON SH	THANJAVUR	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1373         SOUTH ZONE CULTURAL CENTRE)         IHANAVUR         REGULAR         100         Open         CC         20         400         32         12         BIDDING         30           1374         BETWEEN KOOTTERIPATTU AND VENGANTHUR VILLAGE ON SH 136         VILUPPURAM         REGULAR         100         SC         CFS         35         35         1225         0         0         DRAW OF LOTS         0           1375         WITHIN 3 KM FROM MARUTHAIX KOVIL BUS STOP TOWARDS ARIYALUR ON NH         PERAMBALUR         REGULAR         150         OBC         DC         35         35         1225         32         95         DRAW OF LOTS         15           1376         THANJAVUR NEW BUS STAND ROAD (FROM MAHARAJA MAHAL - RAJARAJAN MANIMANDAPAM)         THANJAVUR         REGULAR         100         Open         DC         20         400         32         55         DRAW OF LOTS         15           1377         BETWEEN ANDIMADAM BUS STAND AND THIRUKALAPUR ON SH         ARIYALUR         REGULAR         100         Open CC-1         DC         35         35         1225         0         0         DRAW OF LOTS         15           1378         VAIPUR VILLAGE ON NAGORE VETTAR HIGHWAY         TIRUVARUR         REGULAR         100         SC															5
1375         WITHIN 3 KM FROM MARUTHAIYAN KOVIL BUS STOP TOWARDS ARIYALUR ON NH         PERAMBALUR         REGULAR         150         OBC         DC         35         35         1225         32         95         DRAW OF LOTS         15           1376         THANJAVUR NEW BUS STAND ROAD (FROM MAHARAJA MAHAL - RAJARAJAN MANIMANDAPAM)         THANJAVUR         REGULAR         100         Open         DC         20         400         32         55         DRAW OF LOTS         15           1376         THANJAVUR NEW BUS STAND ROAD (FROM MAHARAJA MAHAL - RAJARAJAN MANIMANDAPAM)         THANJAVUR         REGULAR         100         Open         DC         20         400         32         55         DRAW OF LOTS         15           1377         BETWEEN ANDIMADAM BUS STAND AND THIRUKALAPUR ON SH         ARIYALUR         REGULAR         100         SC         CFS         35         1225         32         75         DRAW OF LOTS         15           1378         VAIPUR VILLAGE ON NAGORE VETTAR HIGHWAY         TIRUVARUR         REGULAR         100         SC         CFS         35         1225         32         12         Bidding         30         2           1379         WITHIN 2 KM FROM PERAMBALUR RTO OFFICE TOWARDS TRICHY ON NH ON LHS         PERAMBALUR         REGULAR		SOUTH ZONE CULTURAL CENTRE)				· · ·									5
NH         NH<		WITHIN 3 KM FROM MARUTHAIYAN KOVIL BUS STOP TOWARDS ARIYALUR ON													4
Improvide         Improvide <thimprovide< th="">         Improvide         <thimprovide< th="">         Improvide         Improvide</thimprovide<></thimprovide<>		THANJAVUR NEW BUS STAND ROAD (FROM MAHARAJA MAHAL - RAJARAJAN													5
1378         VAIPUR VILLAGE ON NAGORE VETTAR HIGHWAY         TIRUVARUR         REGULAR         100         SC         CFS         35         1225         0         0         DRAW OF LOTS         0           1379         WITHIN 2 KM FROM PERAMBALUR RTO OFFICE TOWARDS TRICHY ON NH ON LHS         PERAMBALUR         REGULAR         150         OBC         CC         35         35         1225         32         12         Bidding         30           1380         KUMBAKONAM MAHAMAHAM TANK - ANNALAKRAKARAM         THANJAVUR         REGULAR         100         Open         DC         20         400         32         55         DRAW OF LOTS         15           1381         VANNARAPETTAI ADDL. REVENUE VILLAGE ON REDIPIALYAM ROAD         THANJAVUR         REGULAR         100         Open         DC         20         400         32         55         DRAW OF LOTS         15           1381         VANNARAPETTAI ADDL. REVENUE VILLAGE ON REDIPIALYAM ROAD         THANJAVUR         REGULAR         100         Open         DC         20         400         32         55         DRAW OF LOTS         15           1382         BETWEEN VKAIKATTI ADD MANAGETHI TOLL PLAZA ON NH         ARIVALUR         REGULAR         150         OBC         DC         35         35															
1379         WITHIN 2 KM FROM PERAMBALUR RTO OFFICE TOWARDS TRICHY ON NH ON LHS         PERAMBALUR         REGULAR         150         OBC         CC         35         1225         32         12         Bidding         30           1380         KUMBAKONAM MAHAMAHAM TANK - ANNALAKRAKARAM         THANJAVUR         REGULAR         100         Open         DC         20         400         32         55         DRAW OF LOTS         15           1381         VANNARAPETTAI ADDL. REVENUE VILLAGE ON REDDIPALAYAM ROAD         THANJAVUR         REGULAR         100         Open         DC         20         400         32         55         DRAW OF LOTS         15           1382         BETWEEN V.KAIKATTI AND MANAGETHI TOLL PLAZA ON NH         ARIYALUR         REGULAR         150         OBC         DC         235         35         1225         32         95         DRAW OF LOTS         15           1383         BETWEEN ADHIRAMPATTINAM AND SETHUBAVACHATRAM ON HIGHWAY         THANJAVUR         REGULAR         100         SC         CFS         35         1225         0         0         DRAW OF LOTS         0															5
1380         KUMBAKONAM MAHAMAHAM TANK - ANNALAKRAKARAM         THANJAVUR         REGULAR         100         Open         DC         20         400         32         55         DRAW OF LOTS         15           1381         VANNARAPETTAI ADDL. REVENUE VILLAGE ON REDDIPALAYAM ROAD         THANJAVUR         REGULAR         100         Open         DC         20         400         32         55         DRAW OF LOTS         15           1381         VANNARAPETTAI ADDL. REVENUE VILLAGE ON REDDIPALAYAM ROAD         THANJAVUR         REGULAR         100         Open         DC         20         400         32         55         DRAW OF LOTS         15           1382         BETWEEN V.KAIKATTI AND MANAGETHI TOLL PLAZA ON NH         ARIYALUR         REGULAR         150         OBC         DC         35         35         1225         32         95         DRAW OF LOTS         15           1383         BETWEEN ADHIRAMPATTINAM AND SETHUBAVACHATRAM ON HIGHWAY         THANJAVUR         REGULAR         100         SC         CFS         35         125         0         0         DRAW OF LOTS         0		WITHIN 2 KM FROM PERAMBALUR RTO OFFICE TOWARDS TRICHY ON NH ON													4
1381         VANNARAPETTAI ADDL. REVENUE VILLAGE ON REDDIPALAYAM ROAD         THANJAVUR         REGULAR         100         Open         DC         20         400         32         55         DRAW OF LOTS         15           1382         BETWEEN V.KAIKATTI AND MANAGETHI TOLL PLAZA ON NH         ARIYALUR         REGULAR         150         OBC         DC         35         35         1225         32         95         DRAW OF LOTS         15           1383         BETWEEN ADHIRAMPATTINAM AND SETHUBAVACHATRAM ON HIGHWAY         THANJAVUR         REGULAR         100         SC         CFS         35         1225         0         0         DRAW OF LOTS         0	1380		THANJAVUR	REGULAR	100	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1382         BETWEEN V.KAIKATTI AND MANAGETHI TOLL PLAZA ON NH         ARIYALUR         REGULAR         150         OBC         DC         35         35         1225         32         95         DRAW OF LOTS         15           1383         BETWEEN ADHIRAMPATTINAM AND SETHUBAVACHATRAM ON HIGHWAY         THANJAVUR         REGULAR         100         SC         CFS         35         1225         0         0         DRAW OF LOTS         0															5
1383 BETWEEN ADHIRAMPATTINAM AND SETHUBAVACHATRAM ON HIGHWAY THANJAVUR REGULAR 100 SC CFS 35 35 1225 0 0 DRAW OF LOTS 0															4
		BETWEEN ADHIRAMPATTINAM AND SETHUBAVACHATRAM ON HIGHWAY		REGULAR	100			35		1225		0		0	3
1384 WITHIN KUMBAKONAM MUNICIPAL CORPORATION LIMITS,NOT ON NH THANJAVUR REGULAR 100 Open CC 20 20 400 32 12 BIDDING 30	1384	WITHIN KUMBAKONAM MUNICIPAL CORPORATION LIMITS, NOT ON NH	THANJAVUR	REGULAR	100	Open	CC	20	20	400	32	12	BIDDING	30	5

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq	(in M.)/Area . M.). *	applicant	e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6 SC /	7		8		9a Estimated	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC CC-1 SC PH ST ST CC-1 ST PH	CC / DC / CFS		Depth	Area	working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	Rs in Lakhs	Rs in Lakhs
1385	ARIYALUR TOWN WITHIN MUNCIPAL LIMITS, NOT ON NH	ARIYALUR	REGULAR	100	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1386 1387	BETWEEN PONPARAPPI AND SENDURAI ON SH BETWEEN ARASAVANANGADU & THIRUKKANAMANGAI ON KUMBAKONAM HIGHWAY	ARIYALUR TIRUVARUR	REGULAR REGULAR	100 100	OBC SC	DC CFS	35 35	35 35	1225 1225	32 0	75 0	DRAW OF LOTS DRAW OF LOTS	15 0	4 3
1388	FROM VINAYAGA PUBLIC SCHOOL KEELAPALUR TO V KAIKATTI ON NH ON LHS	ARIYALUR	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1389	FROM VINAYAGA PUBLIC SCHOOL KEELAPALUR TO V KAIKATTI ON NH ON RHS	ARIYALUR	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1390	VALUDUREDDI TO VIKKIRAVANDI LHS ON NH 132	VILUPPURAM	REGULAR	150	OBC	CC	35	35	1225	32	12	Bidding	30	4
1391	FROM PIONEER PUBLIC SCHOOL, PATUKOTTAI TO SETHUBAVACHATTRAM JUNCTION ON SH146	THANJAVUR	REGULAR	120	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1392	FROM VALIKANDAPURAM SUB REGISTRAR OFFICE TO PERAMBALUR RTO OFFICE ON NH ON LHS	PERAMBALUR	REGULAR	150	Open	сс	35	35	1225	32	12	BIDDING	30	5
1393	PATTANAM TO KOLLAAR ON NH 77	VILUPPURAM	REGULAR	150	OBC	CC	35	35	1225	32	12	Bidding	30	4
1394 1395	FROM PAPPAKUDI TO MUTHUSEVAMADAM ON NH ON LHS FROM PERALI TO PERAMBALUR 4-ROAD JUNCTION ON NH ON LHS	ARIYALUR PERAMBALUR	REGULAR REGULAR	150 150	Open Open	DC DC	35 35	35 35	1225 1225	32 32	95 95	DRAW OF LOTS DRAW OF LOTS	15 15	5
1395	FROM MANNARGUDI TOWARDS PATTUKOTTAI ON SH 146 WITHIN THIRVUARUR DISTRICT LIMITS	TIRUVARUR	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1397	V. SALAI TO KOOTTERIPATTU ON NH132 ON LHS	VILUPPURAM	REGULAR	150	OBC	CC	35	35	1225	32	12	Bidding	30	4
1398	FROM SRI AMBAALS MATRIC HR. SEC. SCHOOL PADALUR TO ANNAI PUBLIC SCHOOL PADALUR ON NH ON LHS	PERAMBALUR	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1399	BETWEEN KEEZHAPALUR AND VARANAVASI ON NH	ARIYALUR	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1400	TRICHY MUNICIPAL CORPORATION - PONMALAI ZONE, NOT ON NH	TIRUCHIRAPPALLI	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1401	AALATHOOR KOOT ROAD TO KANTHADU ON SH 134	VILUPPURAM	REGULAR	120	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1402 1403	PANCHALAM VILLAGE TO ONGUR VILLAGE ON NH 32 ON LHS JAKAMPETTAI TO MELPETTAI ON NH ON LHS	VILUPPURAM	REGULAR REGULAR	150 150	Open Open CC-1	CC DC	35 35	35 35	1225 1225	32 32	12 95	BIDDING DRAW OF LOTS	30 15	5
1403	TINDIVANAM TOWN (ON TINDIVANAM- PONDICHERRY ROAD)	VILUPPURAM	REGULAR	100	OBC	DC	30	30	900	32	55	DRAW OF LOTS	15	4
1405	WITHIN 3 KM RADIUS FROM TRICHY GANDHI MARKET MAIN GATE(NOT ON NH)	TIRUCHIRAPPALLI	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1406	VIRAMANALLUR TO MELPAPPAMPADI ON NH77 (GINGEE TALUK)	VILUPPURAM	REGULAR	150	Open	CC	35	35	1225	32	12	BIDDING	30	5
1407	JANAKIPURAM TO NAVAMAL KAPPER ON NEW BYPASS ROAD ON NEW NH ON LHS WITHIN VILLUPURAM DISTRICT LIMITS	VILUPPURAM	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1408	VILLUPURAM- TRICHY MAIN ROAD WITHIN VILLUPURAM TOWN LIMITS	VILUPPURAM	REGULAR	100	OBC	00	20	20	400	32	12	Bidding	30	4
1409 1410	PIRATIYUR TO TAMIL NADU NATIONAL LAW UNIVERSITY ON LHS ON NH ON NH 132 BETWEEN KOOTTERIPATTU JUNCTION TO CHITHANI ON LHS FROM	TIRUCHIRAPPALLI	REGULAR REGULAR	150 150	SC Open	CFS DC	35 35	35 35	1225 1225	0 32	0 95	DRAW OF LOTS	0 15	3 5
1411	CHENNAI TO VILLUPURAM THIRUVAMATHUR VILLAGE TO THENNAMADEVI VILLAGE LHS ON NH 38	VILUPPURAM	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1412	PANNAMPATTU VILLAGE NOT ON NH	VILUPPURAM	REGULAR	100	OBC	DC	35	35	1225	32	55	DRAW OF LOTS	15	4
1413	JANAKIPURAM TO NAVAMAL KAPPER ON NEW BYPASS ROAD ON NEW NH ON RHS WITHIN VILLUPURAM DISTRICT LIMITS	VILUPPURAM	REGULAR	150	Open	сс	35	35	1225	32	12	BIDDING	30	5
1414	ADIRAMPATTINAM MUNCIPAL LIMITS NOT ON SH	THANJAVUR	REGULAR	150	SC CC-1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1415	THIRUPANANDHAL ON NH TAMIL NADU NATIONAL LAW UNIVERSITY TO PIRATIYUR ON LHS ON NH	TIRUVARUR	REGULAR	150	Open CC-2	DC	35 35	35	1225	32	95	DRAW OF LOTS	15	5
1416 1417	BETWEEN KOLIYANUR VILLAGE AND KALLIPPATTU VILLAGE ON NH 36	TIRUCHIRAPPALLI VILUPPURAM	REGULAR REGULAR	150 150	OBC CC-1 Open	DC CC	35	35 35	1225 1225	32 32	95 12	DRAW OF LOTS BIDDING	15 30	4
1417	KALLAGAM TO NERUNJALAKKUDI ON NH	TIRUCHIRAPPALLI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1419	SIRUVANUR VILLAGE ON SH 69(TIRUVENNAINALLUR TALUK)	VILUPPURAM	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1420	VILLUPURAM TOWN TO SALAI AGARAM (EAST PONDY ROAD) WITHIN VILLUPURAM TOWN LIMITS	VILUPPURAM	REGULAR	100	Open	СС	30	30	900	32	12	BIDDING	30	5
1421	PARUKKAMBATTU VILLAGE TO KANDAMANADI VILLAGE ON NH 38	VILUPPURAM	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1422	TINDIVANAM - GINGEE ROAD ( WITHIN TINDIVANAM TOWN LIMITS)	VILUPPURAM	REGULAR	100	OBC	DC	30	30	900	32	55	DRAW OF LOTS	15	4
1423 1424	VADUGAPATTY TO VAIYAMPATTI ON NH ON LHS PERIYASEVALAI TO MANAKKUPPAM ON SH9	TIRUCHIRAPPALLI VILUPPURAM	REGULAR REGULAR	150 100	SC	CFS	35 35	35 35	1225 1225	0 32	0 75	DRAW OF LOTS DRAW OF LOTS	0	3
1424	PERITASEVALAI TO MANARADPPAM UN SH9 SINGAVARAM VILLAGE TO KANNALAM VILLAGE ON SH4 (NOT IN GINGEE TOWN LIMITS)	VILUPPURAM	REGULAR	100	Open Open	DC DC	35	35	1225	32	75	DRAW OF LOTS	15	5
		TIRUVARUR	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq	(in M.)/Area . M.). *	applicant	e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC / SC CC-1 SC PH ST ST CC-1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	Rs in Lakhs	Rs in Lakhs
1427	ON ROAD CONNECTING AMMAPETTAI BUS STAND AND MAHIMALAI VILLAGE	THANJAVUR	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1428	FROM PERUMBAKKAM TO KARASANUR ON SH 136 LHS	VILUPPURAM	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1429	TINDIVANAM TO SINGANUR VILLAGE (ON MAILAM ROAD) WITHIN TINDIVANAM TOWN LIMITS	VILUPPURAM	REGULAR	100	Open CC-1	DC	30	30	900	32	55	DRAW OF LOTS	15	5
1430	FROM IDAYUR TO UTHAYAMARTHANDAPURAM ON THIRUTHURAPOONDI MUTHUPET ROAD	TIRUVARUR	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1431	BETWEEN KAIRLABATH AND KALLANKURUCHI ON KALLANKURUCHI ROAD	ARIYALUR	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1432	FROM KOVILVENI TO KUMBAKONAM HIGHWAY JUNCTION ON NEEDAMANGALAM NEW NH BYPASS ON LHS	TIRUVARUR	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1433	FROM KOVILVENI TO KUMBAKONAM HIGHWAY JUNCTION ON NEEDAMANGALAM NEW NH BYPASS ON RHS	TIRUVARUR	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1434	VILLUNIVAYAL REVENUE VILLAGE PERAVURANI TALUK ON ECR	THANJAVUR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
1435	FROM KORADACHERI TO KUMBAKONAM HIGHWAY JUNCTION ON	TIRUVARUR	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
	NEEDAMANGALAM NEW NH BYPASS ON LHS													
1436	PANAYAPURAM TO KALLANAI WITHIN TRICHY DISTRICT LIMITS ON MDR FROM KORADACHERI TO KUMBAKONAM HIGHWAY JUNCTION ON	TIRUCHIRAPPALLI	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1437	NEEDAMANGALAM NEW NH BYPASS ON RHS	TIRUVARUR	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1438	ON THIRUTHURAPOONDI NEW BYPASS	TIRUVARUR	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of lots	15	4
1439	BETWEEN KEELAKAVATHUGUDI AND ANDIPANTHAL JUNCTION ON TIRUVARUR MYLADUTHURAI HIGHWAY	TIRUVARUR	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1440	BETWEEN M.R. HOSPITAL THANJAVUR AND MELAVASTHACHAVADY ROUNDANA ON PUDUKOTTAI ROAD	THANJAVUR	REGULAR	150	SC PH	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1441	FROM PERAMBALUR RTO OFFICE TO VALIKANDAPURAM SUB REGISTRAR OFFICE ON NH ON LHS	PERAMBALUR	REGULAR	150	OBC PH	сс	35	35	1225	32	12	Bidding	30	4
1442	FROM VEERAIYANKOTTAI VILLAGE TO SETHUBAVACHATRAM ECR JUNCTION ON SH	THANJAVUR	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1443	FROM ULUNDERPET TOWN TO SENGURICHI TOLL NOT ON HIGHWAY	TIRUVARUR	REGULAR	100	Open	DC	35	35	1225	32	55	DRAW OF LOTS	15	5
1444	WITHIN KOOTHANALLUR MUNICIPAL LIMITS NOT ON HIGHWAY	TIRUVARUR	REGULAR	100	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
1445	NAVALURUKOTTAPATU TO MANIKANDAM ROAD	TIRUCHIRAPPALLI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1446 1447	MANNARGUDI MUNICIPAL LIMITS NOT ON HIGHWAY TIRUVARUR MUNICIPAL LIMITS NOT ON HIGHWAY	TIRUVARUR	REGULAR REGULAR	100 100	Open	DC DC	35 35	35 35	1225 1225	32 32	55 55	DRAW OF LOTS	15 15	5
1447	WITHIN PATTUKOTTAI MUNICIPAL LIMITS NOT ON HIGHWAY	THANJAVUR	REGULAR	100	Open OBC	CC	20	20	400	32	12	DRAW OF LOTS Bidding	30	4
1440	SANNASIPATTY TO FATHIMA NAGAR VIA SETHURAPATTI ON MDR	TIRUCHIRAPPALLI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1450	VAIYAMPATTI TO PUDUVADI ON NH WITHIN MANAPPARAI TALUK	TIRUCHIRAPPALLI	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1451	BETWEEN OLD PALPANNAI JUNCTION AND NO.1 TOLL GATE JUNCTION ON NH	TIRUCHIRAPPALLI	REGULAR	150	Open	DC	30	30	900	32	75	DRAW OF LOTS	15	5
1452	TRICHY MUNICIPAL CORPORATION - ARIYAMANGALAM ZONE, NOT ON NH	TIRUCHIRAPPALLI	REGULAR	150	Open	CC	20	20	400	32	12	BIDDING	30	5
1453	WITHIN 5 KMS FROM MANNARGUDI TOWN TOWARDS THIRUTHURAIPOONDI	TIRUVARUR	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1454	PATTEESWARAM TO MARUTHANALLUR ON MDR	THANJAVUR	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1455	BETWEEN VADAKKADU AND THENPARAI VILLAGES ON MANNARGUDI MUTHUPET HIGHWAY	TIRUVARUR	REGULAR	100	Open CC-1	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1456	KORANATTUKARUPPUR ROUNDANA - GOVILACHERI (ON LHS) ON NH 36	THANJAVUR	REGULAR	150	OBC	CC	35	35	1225	32	12	Bidding	30	4
1457	WITHIN 2 KM RADIUS FROM TRICHY DISTRICT COURT (WITHIN TRICHY CITY CORPORATION LIMITS)	TIRUCHIRAPPALLI	REGULAR	150	Open	сс	20	20	400	32	12	BIDDING	30	5
1458	MILATTUR - ANNAPPANPETTAI ON MDR	THANJAVUR	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1459	TRICHY CENTRAL BUS STAND TO PIRATIYUR	TIRUCHIRAPPALLI	REGULAR	150	Open	DC	30	30	900	32	75	DRAW OF LOTS	15	5
1460	THUVARANKURICHI TO SEVANTHAMPATTY ON NH	TIRUCHIRAPPALLI	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
1461	ON AMMAMANDAPAM ROAD FROM NH81 JUNCTION TO AMMAMANDAPAM TRICHY MUNICIPAL CORPORATION - SRIRANGAM ZONE, NOT ON NH	TIRUCHIRAPPALLI	REGULAR	150	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
1462 1463	TRICHY MUNICIPAL CORPORATION - SRIRANGAM ZONE, NOT ON NH VALANGIAMMAN TO NEEDAMANGALAM ON HIGHWAY	TIRUCHIRAPPALLI TIRUVARUR	REGULAR REGULAR	150 100	Open SC CC-1	CC CFS	20 35	20 35	400 1225	32 0	12 0	BIDDING DRAW OF LOTS	30 0	5
		TIRUVARUR	REGULAR	100	OBC CC-1	DC	35 20	20	400	32	55	DRAW OF LOTS	15	3

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		e site (in Sq	(in M.)/Area . M.). *	applicant	e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC / SC CC-1 SC PH ST ST CC-1 ST PH	CC / DC / CFS	_	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	Rs in Lakhs	Rs in Lakhs
1465	FROM NO.1 TOLL GATE ROUNDANA TO VALADI ON NH	TIRUCHIRAPPALLI	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1466	BETWEEN THIRUVONAM AND NAMBIVAYYAL VILLAGES ON PATTUKOTTAI GANDARVAKOTTAI SH	THANJAVUR	REGULAR	100	Open PH	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1467	KORADACHERY TO POTHAKKUDI ON MDR	TIRUVARUR	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1468	MUTHARASANALLUR TO PETAIVAITHALAI ON NH	TIRUCHIRAPPALLI	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1469	SETHURAPATTI TO PANJAPPUR RING ROAD JUNCTION ON NH	TIRUCHIRAPPALLI	REGULAR	150	Open	CC	35	35	1225	32	12	BIDDING	30	5
1470	CHATHIRAM BUS STAND TO MUTHARASANALLUR ON NH	TIRUCHIRAPPALLI	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1471	MANAPPARAI TO THOTTIAPATTY ON MDR WITHIN TRICHY DISTRICT LIMITS	TIRUCHIRAPPALLI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1472	WIRELESS ROAD (WITHIN TRICHY CITY CORPORATION LIMITS)	TIRUCHIRAPPALLI	REGULAR	150	Open	DC	20	20	400	32	75	DRAW OF LOTS	15	5
1473	TRICHY MUNICIPAL CORPORATION - K.ABHISHEKAPURAM ZONE, NOT ON NH	TIRUCHIRAPPALLI	REGULAR	150	Open	сс	20	20	400	32	12	BIDDING	30	5
1474	MANNARPURAM ROUNDANA TO TRICHY TVS TOLL GATE ON LHS ON NH	TIRUCHIRAPPALLI	REGULAR	150	Open	DC	30	30	900	32	75	DRAW OF LOTS	15	5
1475	MADAGUDI TO VELLANUR VIA NERUNJALAKKUDI ON NH WITHIN TRICHY DISTRICT LIMITS	TIRUCHIRAPPALLI	REGULAR	150	OBC	сс	35	35	1225	32	12	Bidding	30	4
1476	FROM AATHANAKOTTAI TOWARDS TANJORE ON NH WITHIN PUDUKKOTTAI DISTRICT LIMITS	PUDUKKOTTAI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1477	THUVARANKURICHI TO NATHAM ON NH (WITHIN TRICHY DISTRICT LIMIT)	TIRUCHIRAPPALLI	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1478	KAJAMALAI - OLAIYUR ON MDR	TIRUCHIRAPPALLI	REGULAR	150	Open CC-1	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1479	YAGAPURAM TO THOTTIAPATTY ON LHS ON NH	TIRUCHIRAPPALLI	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1480	FROM NATHAMPANNAI TOWARDS KARAIKUDI ON NH WITHIIN PUDUKKOTTAI DISTRICT LIMITS	PUDUKKOTTAI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1481	ULAGAPURAM TO PRAMMADESAM ON MDR	VILUPPURAM	REGULAR	100	Open	DC	35	35	1225	32	55	DRAW OF LOTS	15	5
1482	ON SIMCO METRE ROAD CONNECTING K SATHANUR AND SIMCO LTD. (WITHIN TRICHY CITY LIMITS)	TIRUCHIRAPPALLI	REGULAR	150	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
1483	THIYAGATHURGAM TO VIRUGAVUR (KALLAKURICHI TALUK)	KALLAKURICHI	REGULAR	100	Open	DC	35	35	1225	32	55	DRAW OF LOTS	15	5
1484	PATTEESWARAM TO DHARASURAM ON MDR	THANJAVUR	REGULAR	100	Open	DC	35	35	1225	32	55	DRAW OF LOTS	15	5
1485	FROM KEERANUR TO NATHAMPANNAI ON NH	PUDUKKOTTAI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1486	MANGALAMPETTAI BYPASS ROAD	CUDDALORE	REGULAR	100	OBC	DC	35	35	1225	32	55	DRAW OF LOTS	15	4
1487	THIRUNAGESWARAM TO NACHIYARKOVIL ON MDR	THANJAVUR	REGULAR	100	Open	DC	35	35	1225	32	55	DRAW OF LOTS	15	5
1488	SAKKOTTAI TO ANNALAKRAKARAM ON MDR	THANJAVUR	REGULAR	100	Open	DC	35	35	1225	32	55	DRAW OF LOTS	15	5
1489	FROM ARANTHANGI TO AUVDAIYARKOIL ON SH	PUDUKKOTTAI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1490	SADAIYARKOIL TO SALIYAMANGALAM VIA JAMBUKAMBALPURAM KUMARAMANGALAM VILLAGE ON TRICHY OUTTER RING ROAD IN	THANJAVUR PUDUKKOTTAI	REGULAR	100 150	OBC	DC DC	35 35	35	1225 1225	32	55 95	DRAW OF LOTS	15 15	4
1491 1492	PUDUKKOTTAI DISTRICT FROM POOTHAGUDI TO KASAVANUR ON NH (TRICHY - MADURAI ROAD)	PUDUKKOTTAI	REGULAR	150	Open Open	CC	35	35 35	1225	32	95	BIDDING	30	5
1493	PONNAVARAYANKOTTAI VILLAGE TO THUVARANKURICHY VILLAGE ON MDR	THANJAVUR	REGULAR	100	OBC	DC	35	35	1225	32	55	DRAW OF LOTS	15	4
1494	ILLUPUR NEW BY PASS ROAD ON SH	PUDUKKOTTAI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1495	FROM CHAINAGE 35 TO CHAINAGE 38 ON NH 226 ON RHS	PUDUKKOTTAI	REGULAR	150	Open	CC	35	35	1225	32	12	BIDDING	30	5
1496	FROM THIRUMAYAM TO THIRUPATHUR ON NH WITHIN PUDUKKOTTAI DISTRICT LIMITS	PUDUKKOTTAI	REGULAR	150	Open	cc	35	35	1225	32	12	BIDDING	30	5
1497	FROM MATHUR TO KEERANUR ON NH WITHIIN PUDUKKOTTAI DISTRICT LIMITS	PUDUKKOTTAI	REGULAR	150	OBC	сс	35	35	1225	32	12	Bidding	30	4
1498	FROM KURUMBOOR TO ARANTHANGI ON SH ON LHS	PUDUKKOTTAI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1499	FROM ERUKALAKKOTTAI TO ARANTHANGI ON SH	PUDUKKOTTAI	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1500	MARAMADAKKI ON SH	PUDUKKOTTAI	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1501	FROM SH 71 JUNCTION (ANNAVASAL ROAD) TO SH 201 JUNCTION (PONAMARAVATHI ROAD) ON SHU	PUDUKKOTTAI	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1502	MUTHUPATTINAM VILLAGE BETWEEN CHAINAGE 66 & CHAINAGE 68 ON SH	PUDUKKOTTAI	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1503	FROM KONNAIYUR TO PONNAMARAVATHI ON SH ON RHS	PUDUKKOTTAI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1504	FROM GANDARVAKOTTALTO KALLAKOTTALON SH	PUDUKKOTTAI	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1505	FROM NATHAMPANNAI TO KAIKKURICHI ON SH (PUDUKKOTTAI - ANNAVASAL ROAD)	PUDUKKOTTAI	REGULAR	100	Open CC-1	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1506	KOOTTUR VILLAGE ON SH	PUDUKKOTTAI	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension e site (in Sq	(in M.)/Area . M.). *		e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4 Regular / Rural	5 MS+HSD in KLs	6 SC / SC CC-1 SC PH ST ST CC-1 ST PH	7 CC / DC / CFS		8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11 Rs in Lakhs	12 Rs in Lakhs
1507	PAPAKOVIL TO VELANKANNI ON ECR	NAGAPATTINAM	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1508 1509	VIRALIMALAI VILLAGE ON SH FROM MELASTHANAM TO MUMBALAI ON SH	PUDUKKOTTAI PUDUKKOTTAI	REGULAR	100 100	OBC	DC DC	35 35	35	1225 1225	32 32	75	DRAW OF LOTS	15 15	4
1509	ALAVAYAL VILLAGE ON MDR BETWEEN CHAINAGE 45 AND CHAINAGE 47	PUDUKKOTTAI	REGULAR REGULAR	100	Open Open	DC	35	35 35	1225	32	75 55	DRAW OF LOTS DRAW OF LOTS	15	5
1510	SIRKHAZHI TO KOLLIDAM ON NH	MAYILADUTHURAI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1512	ON PUDUKKOTTAI TO TANJORE ROAD FROM ANNAVSAL ROAD (SH 71) JUNCTION TO PUDUKKOTTAI MEDICAL COLLEGE ON RHS	PUDUKKOTTAI	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1513	EAMBAL TO ECHIKKOTTAI ON MDR	PUDUKKOTTAI	REGULAR	100	Open	DC	35	35	1225	32	55	DRAW OF LOTS	15	5
1514	WITHIN 3 KM FROM BISHOP HEBER COLLEGE ON VAYALOOR ROAD	TIRUCHIRAPPALLI	REGULAR	150	Open CC-2	DC	20	20	400	32	75	DRAW OF LOTS	15	5
1515	WITHIN PUDUKKOTTAI MUNICPAL LIMIT NOT ON NH AND SH	PUDUKKOTTAI	REGULAR	100	OBC CC-1	DC	20	20	400	32	55	DRAW OF LOTS	15	4
1516	KEERAMANGALAM VILLAGE ON SH	PUDUKKOTTAI	REGULAR	100	SC CC-1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1517	REGUNATHAPURAM TO PILAVIDUTHI ON MDR	PUDUKKOTTAI	REGULAR	100	Open	DC	35	35	1225	32	55	DRAW OF LOTS	15	5
1518	FROM THETHI TO PUTHUR JUNCTION ON RHS (NAGAPATTINAM BYPASS ROAD)	NAGAPATTINAM	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1519	FROM THIRUVARANGULAM TO KOVILUR ON SH	PUDUKKOTTAI	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1520	KUTHALAM TO MATHIRIMANGALAM ON SH	MAYILADUTHURAI	REGULAR	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1521 1522	SATTANATHAPURAM TO SEMBADHANIRUPPU ON NEW NH NEELAPADI ON NEW NH	MAYILADUTHURAI NAGAPATTINAM	REGULAR REGULAR	150 150	Open Open	DC DC	35 35	35 35	1225 1225	32 32	95 95	DRAW OF LOTS DRAW OF LOTS	15 15	5 5
1523	ON ECR FROM PANAKATTAKUDI SALAI JUNCTION TO ERUKKUR JUNCTION ON LHS	MAYILADUTHURAI	REGULAR	160	OBC	сс	35	35	1225	32	12	Bidding	30	4
1524	THIRUINDALUR TO SHOLAMPETTAI ON KALLANAI POOMPUHAR ROAD	MAYILADUTHURAI	REGULAR	140	Open	DC	35	35	1225	32	55	DRAW OF LOTS	15	5
1525	PANANGUDI ON SH	NAGAPATTINAM	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1526 1527	MAYILADUTHURAI RTO OFFICE TO MANNAMPANDAL ON SH FROM THETHI TO PUTHUR JUNCTION ON LHS (NAGAPATTINAM BYPASS ROAD)	MAYILADUTHURAI	REGULAR REGULAR	120 150	Open OBC	DC DC	35 35	35 35	1225 1225	32 32	75 95	DRAW OF LOTS	15 15	5
1528	NAKKAMBADI TO THIRUNAGESWARAM ROAD ON SH	MAYILADUTHURAI	REGULAR	120	Open CC-1	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1528	NARIMANAM TO PILLALI ON SH (NAGORE VETTAR ROAD)	NAGAPATTINAM	REGULAR	120	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1523	FROM ALANGUDI TO ARUNTHAVAMPULAM ON ECR	NAGAPATTINAM	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
1531	PATTAVARTHI TO VAITHEESWARANKOVIL ON SH	MAYILADUTHURAI	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1532	PAPAKOVIL TO NAGAPATTINAM MEDICAL COLLEGE ON PARAVAI ROAD	NAGAPATTINAM	REGULAR	100	Open	DC	35	35	1225	32	55	DRAW OF LOTS	15	5
1533	THIRUKADAIYUR TO KARAIKAL BORDER ON NEW NH	MAYILADUTHURAI	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1534	THIRUVERAMBUR REVENUE VILLAGE (NOT ON NH), THIRUVERAMBUR TALUK	TIRUCHIRAPPALLI	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1535	BETWEEN KM STONES 118 AND 129 ON THANJAVUR-TRICHY NH (ON LHS TOWARDS TRICHY)	TIRUCHIRAPPALLI	REGULAR	150	Open	сс	35	35	1225	32	12	BIDDING	30	5
1536	PALPANNAI JUNCTION TO SAMAYAPURAM TOLL GATE ON NH	TIRUCHIRAPPALLI	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1537	KIZHVELUR TO SIKKAL ON NH	NAGAPATTINAM	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1538 1539	MUSIRI TO THOTTIAM GH ON NH 381B THUVAGUDI TO MATHUR JUNCTION(NEW OUTER RING ROAD) TRICHY BYPASS	TIRUCHIRAPPALLI	REGULAR	150 150	ST Open	CFS DC	35 35	35 35	1225 1225	0 32	0 95	DRAW OF LOTS	0 15	3
	ON NH, TRICHY DISTRICT													
1540 1541	M.KALATHUR VILLAGE THOTTIAM TALUK ON NH ELLIS CHATRAM ROAD TO VILLUPURAM BYPASS WITHIN VILLUPURAM TOWN	TIRUCHIRAPPALLI VILUPPURAM	REGULAR	150 100	Open OBC PH	CC DC	35 20	35 20	1225 400	32 32	12 55	BIDDING DRAW OF LOTS	30 15	5
1542	LIMITS FROM NATHAMPANNALTO SHU10082 ROAD JUNCTION ON SHU	PUDUKKOTTAI	REGULAR	100	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1543	(THIRUKOKARNAM PUDUKKOTTAI ROAD) BETWEEN KM STONES 290 & 298 ON TRICHY-CHENNAI NH38 (LHS TOWARDS TRICHY)	TIRUCHIRAPPALLI	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1544	(RICHY) ON MANACHANALLUR NEW BYPASS ROAD CONNECTING ATTHANI AND POONAMAPALAYAM	TIRUCHIRAPPALLI	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1545	VEDARANYAM TO AYAKKARANPULAM ON SH	NAGAPATTINAM	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1546	PITCHANDARKOIL, MANACHANALLUR TALUK	TIRUCHIRAPPALLI	REGULAR	100	Open	DC	35	35	1225	32	55	DRAW OF LOTS	15	5
1547	KILIYANALLUR SOUTH TO KARIAMANIKAM WEST ON SH,MANACHANALLUR TALUK	TIRUCHIRAPPALLI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1548	PERAMANGALAM TO THIRUVELARAI ON SH	TIRUCHIRAPPALLI	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq	(in M.)/Area . M.). *	applicant	e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC / SC CC-1 SC PH ST ST CC-1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	Rs in Lakhs	Rs in Lakhs
1549	PALANGANAKUDI VILLAGE, THUVAKUDI TO MATHUR JUNCTION(NEW OUTER RING ROAD, THIRUVERAMBUR TALUK, TRICHY DISTRICT	TIRUCHIRAPPALLI	REGULAR	150	OBC	СС	35	35	1225	32	12	Bidding	30	4
1550	THURAIYUR JUNCTION TO PONNUSANGAMPATTY VIA KANNANOOR ON SH	TIRUCHIRAPPALLI	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1551	MATHUR TO SURIYUR ON NH WITHIN TRICHY DISTRICT LIMITS	TIRUCHIRAPPALLI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1552	THURAIYUR BYPASS ROAD	TIRUCHIRAPPALLI	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1553	WITHIN 5 KM FROM THAI KOVIL TOWARDS ATTUR ON SH	TIRUCHIRAPPALLI	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1554	THUVAGUDI REVENUE VILLAGE (NOT ON NH)WIHTIN MUNICIPAL LIMITS, THIRUVERAMBUR TALUK	TIRUCHIRAPPALLI	REGULAR	100	Open CC-1	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1555	THURAIYUR TOWN WITHIN MUNICIPALITY LIMITS , THURAIYUR TALUK	TIRUCHIRAPPALLI	REGULAR	150	OBC	DC	35	35	1225	32	55	DRAW OF LOTS	15	4
1556 1557	MUSIRI TALUK OFFICE TO AYYAMPALAYAM ON SH BETWEEN THURAIYUR POLICE STATION AND JUNCTION CONNECTING	TIRUCHIRAPPALLI	REGULAR REGULAR	100	SC Open	CFS DC	35 35	35 35	1225 1225	0	0 75	DRAW OF LOTS	0 15	3
1558	THURAIYUR BYPASS WITH SH ROAD CONNECTING TRICHY-THANJAVUR NH JUNCTION AND KEELAKURICHI VIA	TIRUCHIRAPPALLI	REGULAR	150	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
														4
1559 1560	KUMULUR TO PUNJAI SANGENTHI,LALKUDI TALUK CHEMMANAMPATHY TO TAMILNADU-KERALA BORDER ON MUTHALAMADA - CHEMMANAMPATHY ROAD	TIRUCHIRAPPALLI COIMBATORE	REGULAR RURAL	100 46	OBC Open	DC DC	35 35	35 35	1225 1225	32 16	55 35	DRAW OF LOTS DRAW OF LOTS	15 5	4
1561	ON MDR 879(MUTHUGOUNDENPUDUR RAILWAY FEEDER ROAD) FROM MNC VEL KALYANA MANDAPAM TO NH 544 BRIDGE JUNCTION	COIMBATORE	RURAL	130	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1562	ON MDR 86(CONOOR-KUNDAH-MAJOOR ROAD) FROM MANJOOR POLICE STATION TO KAIKATTI BUS STOP JUNCTION	NILGIRIS	RURAL	120	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1563	ON MDR 679 (SATHYAMANGALAM-PERIYAKODIVERI ROAD) WITHIN 5KM FROM SH 82 INTERSECTION(SATHYAMANGALAM-BHAVANI HIGHWAY) TOWARDS KODIVERI DAM	ERODE	RURAL	60	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1564	ON MDR888A (NAMBIYUR-KUTTAGAM ROAD) WITHIN 2KM FROM NAMBIYUR BUS STAND JUNCTION TOWARDS KUTTAGAM	ERODE	RURAL	70	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1565	ON MDR 149 KOMARALINGAM VILLAGE ON KOMARALINGAM MADATHUKULAM ROAD	Tiruppur	RURAL	60	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1566	ON MDR901 VADIPATTI (NORTH) REVENUE VILLAGE, PALANI TALUK	DINDIGUL	RURAL	80	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1567	ON MDR57 (BHAVANI -KAVINDAPADI ROAD) WITHIN 4 KM FROM NH544H (BHAVANI-METTUR HIGHWAY) INTERSECTION TOWARDS KAVINDAPADI	ERODE	RURAL	70	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1568	ON MDR888 (PUNJAI PULIYAMPATTI-UKKARAM ROAD) WITHIN 3KM FROM NH948 (COIMBATORE -MYSORE HIGHWAY) INTERSECTION TOWARDS UKKARAM	ERODE	RURAL	70	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1569	ON MDR 510 FROM URALPATTI POST OFFICE TO SAMARAYAPPATTI	Tiruppur	RURAL	46	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1570	ON VELLODE CHENNIMALAI ROAD (WITHIN 2KMS FROM VELLODE POST OFFICE TOWARDS CHENNIMALAI)	ERODE	RURAL	75	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1571	FROM THADIKOMBU POLICE STATION TOWARDS MARAVAPATTI TILL VELANKANNI MATHA CHURCH (ON THADICOMBU-MARAVPATTI ROAD)	DINDIGUL	RURAL	54	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1572	ON MDR 149 MADATHUKULAM TO SARKAR KANNADIPUTHUR	Tiruppur	RURAL	46	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1573	ON PALATHURAI ROAD FROM MADUKKARAI MARKET TO NACHIPALAYAM(OUTSIDE MUNICIPAL CORPORATION LIMITS)	COIMBATORE	RURAL	54	Open CC-1	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1574	ON MDR 985 FROM PAPPAMPATTI PIRIVU ON TRICHY ROAD JUNCTION TO SHRI SUKA BRAHMA MAHARISHI VIDYALAYAM SCHOOL ARCH	COIMBATORE	RURAL	80	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1575	ON KANJIKOIL CHITHODE ROAD (ON MAIN ROAD WITHIN 2KMS FROM REVENUE INSPECTOR OFFICE TOWARDS CHITHODE)	ERODE	RURAL	60	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1576	ON THALAVADI-KONGAHALLI ROAD FROM THALAVADI BUS STAND TO CSI YESUKRUPALAYAM CHURCH DODDAGAZANUR	ERODE	RURAL	70	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1577	ON VELLANAIPATTI ROAD FROM AMRITA VIDYALAYAM (KALAPATTI) TO BINDHU ENGINEERING INDUSTRIES	COIMBATORE	RURAL	80	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1578	ON CHENNIMALAI ARACHALUR ROAD, ON LHS WITHIN 2 KMS FROM ANNAMAR THEATRE IN CHENNIMALAI TOWARDS ARACHALUR	ERODE	RURAL	80	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1579	ON PASUR-SOLANGAPALAYAM-ELUMATHUR ROAD, FROM ELUMATHUR TO SOLANGAPALAYAM	ERODE	RURAL	60	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		site (in Sq	(in M.)/Area . M.). *	applicant	e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC / SC CC-1 SC PH ST ST CC-1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	Rs in Lakhs	Rs in Lakhs
1580	ON MDR486 (BHAVANI-VELLITIRUPPUR ROAD) WITHIN 2KM FROM VELLITIRUPPUR JUNCTION TOWARDS BHAVANI	ERODE	RURAL	56	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1581	ON MDR57 (BHAVANI -KAVINDAPADI ROAD) WITHIN 4 KM FROM KAVINDAPADI JUNCTION TOWARDS BHAVANI	ERODE	RURAL	90	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1582	ON MDR 983 GANAPATHIPALAYAM ROAD FROM PALLADAM ROAD SH19 INTERSECTION TO GANAPATHYPALAYAM PANCHAYAT UNION MIDDLE SCHOOL TOWARDS GANAPATHI PALAYAM	Tiruppur	RURAL	46	Open CC-2	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1583	ON MDR 605 FROM KARAMADAI JUNCTION TO MARUDUR NAV BHARATH NURSERY AND PRIMARY SCHOOL	COIMBATORE	RURAL	130	OBC CC-1	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1584	ON MDR 1073(CONOOR-KATTABETTU ROAD) FROM CONOOR BUS STAND TO PROVIDENCE COLLEGE FOR WOMEN BHANDISHOLA	NILGIRIS	RURAL	120	SC CC-1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1585	KEERANATHAM VILLAGE ON ATHIPALAYAM- KEERANATHAM ROAD	COIMBATORE	RURAL	110	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1586	ON MDR 86(CONOOR-KUNDAH-MAJOOR ROAD) FROM KAIKATTI BUS STOP JUNCTION TO GLENDALE NH JUNCTION	NILGIRIS	RURAL	120	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1587	ON MDR611(PERUNTHOLUVU-KODUVAI ROAD) WITHIN 2KM FROM KANGEYAM ROAD JUNCTION TOWARDS PERUNTHOLUVU	Tiruppur	RURAL	110	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1588	ON PALAYAM ROAD FROM KOVILPALYAM KMCH HOSPITAL TO THE TIPS GLOBAL INSTITUTE	COIMBATORE	RURAL	70	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1589	PAPPAMPATTY VILLAGE ON MDR901	DINDIGUL	RURAL	130	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1590	ON MDR 879(MUTHUGOUNDENPUDUR RAILWAY FEEDER ROAD) FROM MNC VEL KALYANA MANDAPAM TO SULUR NATIONAL HIGHWAY OFFICE	COIMBATORE	RURAL	130	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1591	KUMARAPALAYAM VILLAGE ON MDR896 (MULANUR- DINDIGUL ROAD)	Tiruppur	RURAL	120	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1592 1593	ERUMAD VILLAGE ON ERUMADU-CHERAMBADI ROAD ON MDR687, FROM ATHOOR TO SITHAREVU VIA SITHAYANKOTTAI	DINDIGUL	RURAL RURAL	140 105	Open SC	DC CFS	35 35	35 35	1225 1225	16 0	35 0	DRAW OF LOTS DRAW OF LOTS	5	4
1594	ON VELLALORE ROAD FROM SINGANALLUR SUB-REGISTRAR OFFICE TO PODANUR JUNCTION	COIMBATORE	RURAL	160	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1595	KILANGUDAL VILLAGE ON MDR896 (MULANUR- DINDIGUL ROAD)	Tiruppur	RURAL	120	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1596	ON ANAMALAI DHALI ROAD FROM NALUMULASANGAM JUNCTION(SH 78 INTERSECTION) TO GOVT RPIMARY SCHOOL SANGANPALAYAM	COIMBATORE	RURAL	104	Open CC-1	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1597	KANJAMPATTI ON UNJAVELAMPATTI DEVANURPUDUR ROAD	COIMBATORE	RURAL	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1598	ALAGUMALAI VILLAGE ON MDR611 (PERNTHOLUVU-KODUVAI ROAD) ON MDR1045 (ANTHIYUR - BARGUR ROAD) WITHIN 4 KM FROM BARGUR B.E.W.T	Tiruppur	RURAL	110	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1599	HIGH SCHOOL TOWARDS KOLLEGAL	ERODE	RURAL	78	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1600	VEDAVAKKAM TO PUZHITHIVAKKAM ON NELVOY ROAD(LHS)	Chengalpattu	RURAL	72	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1601	PV KALATHUR ( THIRKUZHAKUNDRAM TALUK)	chengalpattu	RURAL	72	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1602 1603	CHEYYUR TO AMMANUR ON CHEYYUR PAVANJUR ROAD NELVOY PALAYAM TO NERKUNAPATTU ON PAVANJUR KOOVATHRU ROAD	Chengalpattu Chengalpattu	RURAL	72 72	SC Open	CFS DC	35 35	35 35	1225 1225	0 16	0 35	DRAW OF LOTS	0	2
1604	CHITRAVADI TO KEERALVADI ON MUDUGARAI PAVANJUR ROAD	Chengalpattu	RURAL	72	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1605	THIRUMUKKUDAL TO NELVOY KOOT ROAD ON MDR	Kanchipuram	RURAL	72	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1606	MELOTIVAKKAM	Kanchipuram	RURAL	84	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1607 1608	MANAPAKKAM TO NALLUR UNDER CHEYYAR TALUK WITH IN 1 KM FROM THATCHUR JUNCTION ON THATCHUR-MADURANTHAKAM	Chengalpattu Chengalpattu	RURAL	72 72	Open Open	DC DC	35 35	35 35	1225 1225	16 16	35 35	DRAW OF LOTS	5	4
1609	ROAD PILLAICHATTIRAM TO KEERANALLUR NOT ON NH	Kanchipuram	RURAL	72	OBC PH	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1610	ARAKKONAM TO THIRUVALANGADU ROAD ON MDR	Tiruvallur	RURAL	72	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1611	ORATHUR TO THIRUPORUR KOOT (ON LHS MDR)	Chengalpattu	RURAL	72	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1612	KATPADI TO PALLIKUPPAM ON MDR607	Vellore	RURAL	100	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1613	SERKADU ON MDR 607	Vellore	RURAL	80	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1614 1615	KILARASAMPET MANTHANGAL	Vellore	RURAL RURAL	90 80	Open SC	DC CFS	35 35	35 35	1225 1225	16 0	35	DRAW OF LOTS DRAW OF LOTS	5	4
1615	MAIN FHANGAL PUTHUKOVIL TO AMBALUR ROAD-RAMNAIKENPET ROAD JUNCTION	Ranipet Tirupathur	RURAL	80 80	Open	DC	35	35	1225	16	0 35	DRAW OF LOTS	5	4
1617	PATCHUR TO JUNCTION WITH NH48 ON PATCHUR KOTHUR ROAD	Tirupathur	RURAL	100	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1618	THIRUPATHUR TO PUDUPETTAI VIA KADIRIMANGALAM(ON MDR)	Tirupathur	RURAL	100	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
	VALLIPURAM TO TIRUKAZHUKUNDRAM ON MDR (LHS)	Chengalpattu	RURAL	72	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension ( e site (in Sq	(in M.)/Area . M.). *		e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC / SC CC-1 SC PH ST ST CC-1 ST PH	CC / DC / CFS		Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	Rs in Lakhs	Rs in Lakhs
1620	KILAMBI TO SEVLIMEDU ON VELLORE BANGALORE BYEPASS (ON MDR)	Kanchipuram	RURAL	72	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1621	ODUGATHUR	Vellore	RURAL	80	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1622	PENATHUR TO SRIPURAM (ON MDR)	Vellore	RURAL	80	Open CC-1	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1623	UTHIRAMERUR TO MANAMPATHY KOOT ROAD	Kanchipuram	RURAL	72	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1624	KUPPAM VILLAGE ON KANNAMANGALAM TO PADAVEDU VILLAGE ROAD	Tiruvannamalai	RURAL	72	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1625	SALAVAKKAM TO THIRUMUKKUDDAL	Kanchipuram	RURAL	72	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1626 1627	CHENGAM TO VERRAKALAMPALLI	Tiruvannamalai	RURAL RURAL	72	Open OBC	DC DC	35 35	35	1225 1225	16 16	35	DRAW OF LOTS	5	4
1627	ARANI TO VELAPADI(MDR 043) JAMUNAMARATHUR	Tiruvannamalai	RURAL	72 84	SC	CFS	35	35 35	1225	0	35 0	DRAW OF LOTS DRAW OF LOTS	0	2
1620	PUDUVOYAL TO PERIYAPALAYAM	Tiruvannamalai Tiruvallur	RURAL	92	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1629	KOTTAGARAM TO THENKARAI	Tiruvannamalai	RURAL	72	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1630	VARADALAMPATTU TO ANAICUT VIA APPUKAL	Vellore	RURAL	120	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1632	MADHANUR TO GUDIYATTAM VIA ULLI( ON MDR)	Vellore	RURAL	90	OBC CC-1	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1633	KILMATTAI TO AVNAPURAM KOOT ROAD	Tiruvannamalai	RURAL	72	SC CC-1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1634	BRAHMADESAM	Tiruvannamalai	RURAL	72	Open PH	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1635	VEDAMANAPAKKAM TO NAMANDI KOOT ROAD JN	Tiruvannamalai	RURAL	92	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1636	MULAGAMODU TO COLACHEL ON MDR 932	KANYAKUMARI	RURAL	50	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1637	PADIKKASUVAITHANPATTI TO KEELARAJAKULARAMAN ON MDR 697	VIRUDHUNAGAR	RURAL	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1638	KADIAPATTINAM	KANYAKUMARI	RURAL	50	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1639	PUTHALAM TO NAGERCOIL ON MDR 188 (OUTSIDE CORPORATION LIMITS)	KANYAKUMARI	RURAL	50	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1640	MECODE TO KULASEKHARAM VIA VALIYATTUMUGAM	KANYAKUMARI	RURAL	50	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1641	ITTERI TO NH44 JUNCTION (ON MDR 403)	TIRUNELVELI	RURAL	50	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1642	OTHAKADAI TO KADACHANENTHAL ON NARASINGAM MAIN ROAD	MADURAI	RURAL	130	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1643	PALAMEDU TO CHATRAVELLAPATTI (VIA RAJAKALPATTI)	MADURAI	RURAL	70	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1644	JOTHILNAICKANUR	MADURAI	RURAL	70	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1645	MDR 27 & CHINNAMUTTOM MAIN ROAD INTERSECTION TO CHINNAMUTTOM HARBOUR MAIN GATE ON CHINNAMUTTOM MAIN ROAD	KANYAKUMARI	RURAL	160	Open CC-1	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1646	KUZHITHURAI JN TO MELPURAM JN ON MDR 941	KANYAKUMARI	RURAL	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1647	GOPALAPURAM ON ODR, VEMBAKOTTAI TALUK	VIRUDHUNAGAR	RURAL	70	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1648	CHATRAPATTI TO ALAGAR KOVIL ON ALAGAR KOVIL MAIN ROAD	MADURAI	RURAL	70	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1649	THENGAPATTINAM TO PARTHIVAPURAM	KANYAKUMARI	RURAL	50	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1650	SRIVILLIPUTHUR TO THIRUMALAI SRINIVASA TEMPLE ON MDR 1031	VIRUDHUNAGAR	RURAL	80	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1651	NAZRETH TO KACHANAVILAI ON NAZRETH MAIN ROAD (MDR 1160)	TUTICORIN	RURAL	72	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1652	ALANGULAM TO NETTOOR VIA MARUTHAPPAPURAM	TENKASI	RURAL	60	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1653	VEERASIGAMANI TO NADUVAKURICHI ON MDR409	TENKASI	RURAL	60	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1654 1655	KARUNGAL TO ETTANI JN ON MARTHANDAM ROAD VARIYUR NH JN (ANJUGRAMAM) TO VIVEKANANDAPURAM (KANYAKUMARI) ON MDR 27 (OLD NH7)	KANYAKUMARI KANYAKUMARI	RURAL	50 50	OBC SC	DC CFS	35 35	35 35	1225 1225	16 0	35 0	DRAW OF LOTS DRAW OF LOTS	5	3
1656	THIRUVARAMBU TO THIRUVATTAR ON MDR 933	KANYAKUMARI	RURAL	60	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1657	THENKARAI (VADIPATTI TALUK)	MADURAI	RURAL	50	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1658	ARUMANAI TO KALIYAL ON MDR 941	KANYAKUMARI	RURAL	50	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1659	MALLAPURAM	MADURAI	RURAL	70	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1660	UMACHIKULAM TO KADACHANENDHAL ON UMACHIKULAM-ALAGANALLUR ROAD	MADURAI	RURAL	90	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1661	KAYAMOZHI ON MDR 1159	TUTICORIN	RURAL	48	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1662	SEKKIPATTI	MADURAI	RURAL	70	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1663	PATTUR VILLAGE	MADURAI	RURAL	70	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1664	PADANTHALUMOODU TO ARUDESAM VILLAGE VIA ATHENCODE	KANYAKUMARI	RURAL	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1665	MULAGAMODU TO PALLIYADI VIA KUZHIKODE	KANYAKUMARI	RURAL	50	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1666	DODDAPPANAICKANUR VILLAGE	MADURAI	RURAL	70	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1667	INAMMANIYATCHI NOT ON NH/SH	TUTICORIN	RURAL	48	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1668	KOZHIVILA TO NITRAVILAI VIA SOORIACODE	KANYAKUMARI	RURAL	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1669	MANAKKUDY TO EATHANCADU ON MDR 779	KANYAKUMARI	RURAL	50	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1670	KULASEKARANALLUR NOT ON SH	TUTICORIN	RURAL	48	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1671	ERANIEL TO KAKKOTTUTHALAI ON MDR 105	KANYAKUMARI	RURAL	50	Open CC-1	DC	35	35	1225	16	35	DRAW OF LOTS	5	4

1673           1674           1675           1676           1677           1678           1679           1680           1682           1683           1684           1685           1686           1687           1688           1689           1690           1691           1692           1694           1695           1696           1697           1698           1699           1700           1701	2 DAYANALLUR SIDCO TO SAMBAVARVADAKARAI (VIA VELAYUDHAPURAM) THIRUNAINARKURICHI THARUVAIKULAM NOT ON SH PALLIYADI JN TO ERAVIPUTHURKADAI JN ON MDR 943 VEERANAM TO KADANGANERI KAMARAJAR VEGETABLE MARKET SH39 JUNCTION TO AVUDAYANUR ARUMANAI TO KUTTAICODE JN ON ODR 202 OR ODR 59 PECHIPARAI KALIYIKKAVILA TO NEW NH66 JN ON KALIYIKKAVILA-POOVAR ROAD MARUNTHACODE VILLAGE MEIGNANAPURAM ON MDR 261 ETTAYAPURAM NOT ON SH/NH PAPAPATTI MANJALUMOODU JN TO MUKOOTTUKAL JN ON ODR 21 UKKUDAL TO THALARKULAM (ODR 922)	3 TENKASI KANYAKUMARI TUTICORIN KANYAKUMARI TENKASI TENKASI KANYAKUMARI KANYAKUMARI KANYAKUMARI KANYAKUMARI TUTICORIN TUTICORIN	4 Regular / Rural RURAL RURAL RURAL RURAL RURAL RURAL RURAL RURAL RURAL RURAL	5 MS+HSD in KLs 60 50 48 50 60 60 60 50	6 SC / SC CC-1 SC PH ST ST CC-1 ST PH OBC SC Open OBC	7 CC / DC / CFS DC CFS DC	Frontage 35 35 35 35	8 Depth 35 35	Area 1225 1225	9a Estimated working capital requirement for operation of RO 16	9b Estimated fund required for development of infrastructure at RO 35	10 Draw of Lots / Bidding DRAW OF LOTS	11 Rs in Lakhs 5	12 Rs in Lakhs
1673           1674           1675           1676           1677           1678           1679           1680           1681           1682           1683           1684           1685           1686           1687           1688           1689           1690           1691           1692           1693           1695           1696           1697           1698           1699           1700           1701           1702           1704	THIRUNAINARKURICHI THARUVAIKULAM NOT ON SH PALLIYADI JN TO ERAVIPUTHURKADAI JN ON MDR 943 VEERANAM TO KADANGANERI KAMARAJAR VEGETABLE MARKET SH39 JUNCTION TO AVUDAYANUR ARUMANAI TO KUTTAICODE JN ON ODR 202 OR ODR 59 PECHIPARAI KALIYIKKAVILA TO NEW NH66 JN ON KALIYIKKAVILA-POOVAR ROAD MARUNTHACODE VILLAGE MEIGNANAPURAM ON MDR 261 ETTAYAPURAM NOT ON SH/NH PAPPAPATTI MANJALUMOODU JN TO MUKOOTTUKAL JN ON ODR 21 UKKUDAL TO THALARKULAM (ODR 922)	KANYAKUMARI TUTICORIN KANYAKUMARI TENKASI KANYAKUMARI KANYAKUMARI KANYAKUMARI KANYAKUMARI TUTICORIN TUTICORIN	RURAL RURAL RURAL RURAL RURAL RURAL RURAL RURAL RURAL	KLs 60 50 48 50 60 60 60 50	SC CC-1 SC PH ST ST CC-1 ST PH OBC SC Open Open	DC CFS DC	35	35	1225	working capital requirement for operation of RO 16	required for development of infrastructure at RO	Bidding	Lakhs	Lakhs
1673           1674           1675           1676           1677           1678           1679           1680           1681           1682           1683           1684           1685           1686           1687           1688           1689           1690           1691           1692           1693           1695           1696           1697           1698           1699           1700           1701           1702           1704	THIRUNAINARKURICHI THARUVAIKULAM NOT ON SH PALLIYADI JN TO ERAVIPUTHURKADAI JN ON MDR 943 VEERANAM TO KADANGANERI KAMARAJAR VEGETABLE MARKET SH39 JUNCTION TO AVUDAYANUR ARUMANAI TO KUTTAICODE JN ON ODR 202 OR ODR 59 PECHIPARAI KALIYIKKAVILA TO NEW NH66 JN ON KALIYIKKAVILA-POOVAR ROAD MARUNTHACODE VILLAGE MEIGNANAPURAM ON MDR 261 ETTAYAPURAM NOT ON SH/NH PAPPAPATTI MANJALUMOODU JN TO MUKOOTTUKAL JN ON ODR 21 UKKUDAL TO THALARKULAM (ODR 922)	KANYAKUMARI TUTICORIN KANYAKUMARI TENKASI KANYAKUMARI KANYAKUMARI KANYAKUMARI KANYAKUMARI TUTICORIN TUTICORIN	RURAL RURAL RURAL RURAL RURAL RURAL RURAL RURAL	50 48 50 60 60 50	SC Open Open	CFS DC	35				35	DRAW OF LOTS	5	3
1674           1675           1676           1677           1678           1679           1680           1681           1682           1683           1684           1685           1686           1687           1688           1689           1691           1692           1693           1694           1695           1696           1697           1698           1699           1700           1701           1702           1704	THARUVAIKULAM NOT ON SH PALLIYADI JN TO ERAVIPUTHURKADAI JN ON MDR 943 VEERANAM TO KADANGANERI KAMARAJAR VEGETABLE MARKET SH39 JUNCTION TO AVUDAYANUR ARUMANAI TO KUTTAICODE JN ON ODR 202 OR ODR 59 PECHIPARAI KALIYIKKAVILA TO NEW NH66 JN ON KALIYIKKAVILA-POOVAR ROAD MARUNTHACODE VILLAGE MEIGNANAPURAM ON MDR 261 ETTAYAPURAM NOT ON SH/NH PAPPAPATTI MANJALUMOODU JN TO MUKOOTTUKAL JN ON ODR 21 UKKUDAL TO THALARKULAM (ODR 922)	TUTICORIN KANYAKUMARI TENKASI KANYAKUMARI KANYAKUMARI KANYAKUMARI KANYAKUMARI TUTICORIN TUTICORIN	RURAL RURAL RURAL RURAL RURAL RURAL RURAL	48 50 60 60 50	Open Open	DC		35	1225					<u> </u>
1675           1676           1677         K           1678         1679           1680         H           1681         1683           1682         1683           1684         1685           1686         1687           1688         1689           1690         1691           1692         1693           1694         1695           1695         1696           1697         1698           1699         1700           1701         1702           1704         T	PALLIYADI JN TO ERAVIPUTHURKADAI JN ON MDR 943 VEERANAM TO KADANGANERI KAMARAJAR VEGETABLE MARKET SH39 JUNCTION TO AVUDAYANUR ARUMANAI TO KUTTAICODE JN ON ODR 202 OR ODR 59 PECHIPARAI KALIYIKKAVILA TO NEW NH66 JN ON KALIYIKKAVILA-POOVAR ROAD MARUNTHACODE VILLAGE MEIGNANAPURAM ON MDR 261 ETTAYAPURAM NOT ON SH/NH PAPPAPATTI MANJALUMOODU JN TO MUKOOTTUKAL JN ON ODR 21 UKKUDAL TO THALARKULAM (ODR 922)	KANYAKUMARI TENKASI KANYAKUMARI KANYAKUMARI KANYAKUMARI KANYAKUMARI TUTICORIN TUTICORIN	RURAL RURAL RURAL RURAL RURAL RURAL	50 60 60 50	Open		25			0	0	DRAW OF LOTS	0	2
1676           1677         K           1678         1679           1680         F           1681         1682           1683         1684           1685         1686           1686         1687           1688         1689           1690         1691           1692         1693           1694         1695           1696         1697           1698         1696           1697         1698           1699         1700           1701         1702           1703         T           1704         T	VEERANAM TO KADANGANERI KAMARAJAR VEGETABLE MARKET SH39 JUNCTION TO AVUDAYANUR ARUMANAI TO KUTTAICODE JN ON ODR 202 OR ODR 59 PECHIPARAI KALIYIKKAVILA TO NEW NH66 JN ON KALIYIKKAVILA-POOVAR ROAD MARUNTHACODE VILLAGE MEIGNANAPURAM ON MDR 261 ETTAYAPURAM NOT ON SH/NH PAPPAPATTI MANJALUMOODU JN TO MUKOOTTUKAL JN ON ODR 21 UKKUDAL TO THALARKULAM (ODR 922)	TENKASI TENKASI KANYAKUMARI KANYAKUMARI KANYAKUMARI TUTICORIN TUTICORIN	RURAL RURAL RURAL RURAL RURAL	60 60 50				35	1225	16	35	DRAW OF LOTS	5	4
1677         K           1678	KAMARAJAR VEGETABLE MARKET SH39 JUNCTION TO AVUDAYANUR ARUMANAI TO KUTTAICODE JN ON ODR 202 OR ODR 59 PECHIPARAI KALIYIKKAVILA TO NEW NH66 JN ON KALIYIKKAVILA-POOVAR ROAD MARUNTHACODE VILLAGE MEIGNANAPURAM ON MDR 261 ETTAYAPURAM NOT ON SH/NH PAPPAPATTI MANJALUMOODU JN TO MUKOOTTUKAL JN ON ODR 21 UKKUDAL TO THALARKULAM (ODR 922)	TENKASI KANYAKUMARI KANYAKUMARI KANYAKUMARI TUTICORIN TUTICORIN	RURAL RURAL RURAL RURAL	60 50	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1678           1679           1680           1681           1682           1683           1684           1685           1686           1687           1688           1689           1691           1692           1693           1695           1696           1697           1698           1699           1700           1701           1702           1704	ARUMANAI TO KUTTAICODE JN ON ODR 202 OR ODR 59 PECHIPARAI KALIYIKKAVILA TO NEW NH66 JN ON KALIYIKKAVILA-POOVAR ROAD MARUNTHACODE VILLAGE MEIGNANAPURAM ON MDR 261 ETTAYAPURAM NOT ON SH/NH PAPPAPATTI MANJALUMOODU JN TO MUKOOTTUKAL JN ON ODR 21 UKKUDAL TO THALARKULAM (ODR 922)	KANYAKUMARI KANYAKUMARI KANYAKUMARI KANYAKUMARI TUTICORIN TUTICORIN	RURAL RURAL RURAL	50		DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1679           1680         H           1681         1682           1683         1684           1685         1686           1686         1687           1688         1689           1690         1691           1692         1693           1695         1696           1697         1698           1699         1700           1701         1702           1704         T	PECHIPARAI KALIYIKKAVILA TO NEW NH66 JN ON KALIYIKKAVILA-POOVAR ROAD MARUNTHACODE VILLAGE MEIGNANAPURAM ON MDR 261 ETTAYAPURAM NOT ON SH/NH PAPPAPATTI MANJALUMOODU JN TO MUKOOTTUKAL JN ON ODR 21 UKKUDAL TO THALARKULAM (ODR 922)	KANYAKUMARI KANYAKUMARI KANYAKUMARI TUTICORIN TUTICORIN	RURAL RURAL		SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1680         H           1681         1681           1682         1683           1684         1685           1686         1686           1687         1688           1689         1690           1691         1692           1693         1694           1695         1696           1697         1698           1699         1700           1701         1702           1704         T	KALIYIKKAVILA TO NEW NH66 JN ON KALIYIKKAVILA-POOVAR ROAD MARUNTHACODE VILLAGE MEIGNANAPURAM ON MDR 261 ETTAYAPURAM NOT ON SH/NH PAPPAPATTI MANJALUMOODU JN TO MUKOOTTUKAL JN ON ODR 21 UKKUDAL TO THALARKULAM (ODR 922)	KANYAKUMARI KANYAKUMARI TUTICORIN TUTICORIN	RURAL		Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1681           1682           1683           1684           1685           1686           1687           1688           1689           1690           1691           1692           1693           1694           1695           1696           1697           1698           1699           1700           1701           1702           1704	MARUNTHACODE VILLAGE MEIGNANAPURAM ON MDR 261 ETTAYAPURAM NOT ON SH/NH PAPPAPATTI MANJALUMOODU JN TO MUKOOTTUKAL JN ON ODR 21 UKKUDAL TO THALARKULAM (ODR 922)	KANYAKUMARI TUTICORIN TUTICORIN		50	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1682           1683           1684           1685           1686           1687           1688           1689           1691           1692           1693           1694           1695           1696           1697           1698           1699           1700           1701           1702           1704	MEIGNANAPURAM ON MDR 261 ETTAYAPURAM NOT ON SH/NH PAPPAPATTI MANJALUMOODU JN TO MUKOOTTUKAL JN ON ODR 21 UKKUDAL TO THALARKULAM (ODR 922)	TUTICORIN TUTICORIN		60	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1683           1684           1685           1686           1687           1688           1689           1690           1691           1692           1693           1695           1696           1697           1698           1699           1700           1701           1702           1704	ETTAYAPURAM NOT ON SH/NH PAPPAPATTI MANJALUMOODU JN TO MUKOOTTUKAL JN ON ODR 21 UKKUDAL TO THALARKULAM (ODR 922)	TUTICORIN		50	Open 00.00 1	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1684           1685           1686           1687           1688           1689           1690           1691           1692           1693           1694           1695           1696           1697           1698           1699           1700           1701           1702           1704	PAPPAPATTI MANJALUMOODU JN TO MUKOOTTUKAL JN ON ODR 21 UKKUDAL TO THALARKULAM (ODR 922)		RURAL	48	SC CC-1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1685           1686           1687           1688           1689           1690           1691           1692           1693           1694           1695           1696           1697           1698           1699           1700           1701           1702           1704	MANJALUMOODU JN TO MUKOOTTUKAL JN ON ODR 21 UKKUDAL TO THALARKULAM (ODR 922)		RURAL RURAL	48 80	Open CC-2 OBC CC-1	DC DC	35 35	35	1225 1225	16 16	35	DRAW OF LOTS DRAW OF LOTS	5	4
1686           1687           1688           1690           1691           1692           1693           1694           1695           1696           1697           1698           1699           1700           1701           1702           1704	UKKUDAL TO THALARKULAM (ODR 922)	MADURAI KANYAKUMARI	RURAL	80 50		DC	35	35 35	1225	16	35 35	DRAW OF LOTS	5	3
1687           1688           1689           1690           1691           1692           1693           1695           1696           1697           1698           1699           1700           1701           1702           1704		TIRUNELVELI	RURAL	50	Open SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1688           1689           1690           1691           1692           1693           1694           1695           1696           1697           1698           1699           1700           1701           1702           1704	O METTUPATTI TO VEMBAKKOTTAI ON ODR	VIRUDHUNAGAR	RURAL	80	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1689           1690           1691           1692           1693           1694           1695           1696           1697           1698           1699           1700           1701           1702           1704	KILAKADAYAM ON MDR934	TENKASI	RURAL	60	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1690           1691           1692           1693           1694           1695           1696           1697           1698           1699           1700           1701           1702           1704	PUNNAIVANAM TO ARIYANAYAGIPURAM VIA PAMBUKOVIL SANDY	TENKASI	RURAL	60	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1691           1692           1693           1694           1695           1696           1697           1698           1699           1700           1701           1702           1704	OVANAICKANPATTI TO UPATHUR ON ODR	VIRUDHUNAGAR	RURAL	64	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1692           1693           1694           1695           1696           1697           1698           1699           1700           1701           1702           1703 T           1704	VEERAPANDI VILLAGE (NOT ON NH)	THENI	RURAL	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1693           1694           1695           1696           1697           1698           1699           1700           1701           1702           1703           1704	SANKARANKOVIL SH76/MDR409 JUNCTION TO POIGAI ON MDR409	TENKASI	RURAL	60	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1694           1695           1696           1697           1698           1699           1700           1701           1702           1703           1704	PERUNGOTTUR TO THIRUVENGADAM ON MDR408	TENKASI	RURAL	60	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1695           1696           1697           1698           1699           1700           1701           1702           1703         T           1704	PALKALAI NAGAR TO THANAKKANKULAM VIA MAKUPURAM	MADURAI	RURAL	50	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1696           1697           1698           1699           1700           1701           1702           1703         T           1704	CHETTIAPATHU TO PALLAKURICHI ON MDR 479	TUTICORIN	RURAL	48	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1697           1698           1699           1700           1701           1702           1703           1704	KALAPALANKULAM ON KAZHUGUMALAI - DEVARKULAM ROAD	TENKASI	RURAL	60	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1699           1700           1701           1702           1703         T           1704	NAGARI TO ANAIKULAM ON KUMARAM ROAD	MADURAI	RURAL	50	Open CC-1	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1700 1701 1702 1703 T 1704	SUBRAMANIAPURAM TO THAYILPATTI ON MDR 683	VIRUDHUNAGAR	RURAL	64	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1701 1702 1703 T 1704	THENTHIRUPERAI NOT ON SH	TUTICORIN	RURAL	48	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1702 1703 T 1704	PANPOLI TO SHENCOTTAI ON MDR431	TENKASI	RURAL	60	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1703 T 1704	THOVALAI TO MARUNGOOR ON MDR 118	KANYAKUMARI	RURAL	60	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1704	PUTHUR TO SETTUR VIA CHETTIYARPATTI ON ODR	VIRUDHUNAGAR	RURAL	64	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
	THAMMATHUKONAM JN TO ASARIPALLAM JN ON GURUKULAM SALAI	KANYAKUMARI	RURAL	80	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1705	SEKKARAKUDI VILLAGE	TUTICORIN	RURAL	48	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
	V.K.PURAM TO MUTHALIYAR PATTI (ON PAPANSAM ROAD)	TIRUNELVELI	RURAL	50	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1706	ANDIPATTI TO KOTHALOOTHU (VELAPPAR TEMPLE ROAD)	THENI	RURAL	50	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1707	SATTUR TO ELAYIRAMPANNAI ON MDR 681	VIRUDHUNAGAR	RURAL	64	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
	RUMANAI TO KULASEKHARAM (NAGACODE JN) ON ODR 43 OR ODR 146	KANYAKUMARI	RURAL	60	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1709	GOPALASAMUDRAM TO SUTTAMALLI VILAKKU	TIRUNELVELI	RURAL	50	OBC PH	DC	35 35	35	1225	16	35	DRAW OF LOTS	5	3
1710 1711		THENI	RURAL	50	Open	DC DC	35	35 35	1225	16	35 35	DRAW OF LOTS	5	4
	UPPARPATTI TO THAPPAKUNDU ULIPATTI TO CUMBUM MAIN ROAD (OUTSIDE CUMBUM MUNICIPAL LIMITS)	THENI	RURAL	50 50	Open OBC	DC	35	35	1225 1225	16 16	35	DRAW OF LOTS DRAW OF LOTS	5	3
1713	PANPOLI TO VADAGARAI KEELPIDAGAI ON MDR431	TENKASI	RURAL	60	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
	CUMBUM TO KAMAYAGOUNDANPATTI MAIN ROAD (OUTSIDE CUMBUM	THENI	RURAL	50	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1715 KOLNA		Salem	RURAL	50	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1716 WIT	MUNICIPAL LIMITS) IAYAKKANPATTI VILLAGE, METTUR TALUK (ON POOLAMPATTI TO METTUR POOD)	Namakkal	RURAL	50	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1717	IAYAKKANPATTI VILLAGE, METTUR TALUK (ON POOLAMPATTI TO METTUR ROAD) THIN 7 KMS FROM MULLUKURICHI GOVT HIGHER SECONDARY SCHOOL	Namakkal	RURAL	60	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1718	IAYAKKANPATTI VILLAGE, METTUR TALUK (ON POOLAMPATTI TO METTUR ROAD) THIN 7 KMS FROM MULLUKURICHI GOVT HIGHER SECONDARY SCHOOL TOWARDS METTALA ON METTALA MAIN ROAD		RURAL	60	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1719	IAYAKKANPATTI VILLAGE, METTUR TALUK (ON POOLAMPATTI TO METTUR ROAD) THIN 7 KMS FROM MULLUKURICHI GOVT HIGHER SECONDARY SCHOOL	Namakkal	1			1								1

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension e site (in Sq	(in M.)/Area . M.). *		e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8	1	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC / SC CC-1 SC PH ST ST CC-1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	Rs in Lakhs	Rs in Lakhs
1720	FROM VEERAKALPUDUR TO KEERAIKARANUR - (WITHIN 2 KMS FROM NH JUNCTION IN VEERAKALPUDUR - NOT ON NH)	Salem	RURAL	60	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1721	KODIHALLI VILLAGE, PENNAGARAM TALUK (ON ERIYUR-PENNAGARAM ROAD)	Dharmapuri	RURAL	50	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1722	KONERIPATTI BARRAGE TO POOLAMPATTI	Salem	RURAL	60	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1723	THIYAGARASANAPALLI TO ULAGAM ON SHOOLAGIRI TO RAYAKOTTAI ROAD	Krishnagiri	RURAL	70	Open CC-1	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1724	FROM BODINAICKENPATTY TO PAAVAI ARTS COLLEGE FOR WOMEN ON RASIPURAM BYPASS ROAD (NOT ON SH)	Namakkal	RURAL	60	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1725	THOPPUR NOT ON NH	Dharmapuri	RURAL	60	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1726	FROM THEEVATTIPATTI BUS STOP TO GOVERNMENT AGRICULTURAL OFFICE, KADAYAMPATTI ON DEEVATTIPATTI-DANISHPET-BOMMIDI ROAD.	Salem	RURAL	60	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1727	MARUDOOR VILLAGE, KULITHALAI TALUK (NOT ON HIGHWAY)	Karur	RURAL	48	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1728	MANATHI POST OFFICE TO SERUKKALAI VILLAGE	Namakkal	RURAL	54	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1729	TIMMAPURAM TO MALAYANDAHALLI PUDUR (NOT ON SH)	Krishnagiri	RURAL	50	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1730	KELAMANGALAM TO BITHEREDDI ON KELAMANGALAM-DENKANIKOTTAI ROAD	Krishnagiri	RURAL	50	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1731	THORAPALLI TO PERANDAPALLI (NOT ON NH)	Krishnagiri	RURAL	70	SC CC-1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1732	BETWEEN MARANDAHALLI AND ERUDUKUTTAHALLI (VIA AMANI MALLAPURAM)	Dharmapuri	RURAL	60	OBC CC-1	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1733	ALANGANATHAM TO MUTHUKAPPATTY VIA PALAYAPALAYAM (NOT ON SH)	Namakkal	RURAL	50	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1734	POCHAMPALLI TO OLAIPATTI VIA SIPCOT (NOT ON SH)	Krishnagiri	RURAL	50	Open PH	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1735	PAPPIREDDIPATTI TO MOLAYANUR ON PAPPIREDDIPATTI - MALLAPURAM ROAD	Dharmapuri	RURAL	60	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1736	ATHANUR TO VENNANDUR ON ATTAIYAMPATTI - MASAKALIPATTI ROAD	Namakkal	RURAL	60	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1737	EDAPADI TO MOOLAPATHAI JN VIA PARIANATTUR (OUTSIDE EDAPADI TOWN LIMITS)	Salem	RURAL	60	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1738	BETWEEN GUDDAPATTI AND DODDARADHANAHALLI ON PALACODE- KAVERIPATNAM ROAD	Dharmapuri	RURAL	50	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1739	BETWEEN ADILAM AND KATTUSEEGALAHALLI (NOT ON NH; VIA KARIMANGALAM POLICE STATION ROAD)	Dharmapuri	RURAL	60	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1740	KALPARAPATTI TO NH JUNCTION NEAR ANNAPURNA COLLEGE ON ILAMPILLAI ROAD	Salem	RURAL	60	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1741	NANGAVARAM VILLAGE, KULITHALAI TALUK	Karur	RURAL	50	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1742	BETWEEN INDUR AND DHALAVAIHALLI (ON PAPPARAPATI ROAD - NOT ON SH)	Dharmapuri	RURAL	50	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1743	FROM ARIYAKULAM TO MOOKANUR VIA TURUNJAPATTI (NOT ON SH)	Dharmapuri	RURAL	50	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1744	CHINTHALAVADI VILLAGE, KRISHNARAYAPURAM TALUK (NOT ON NH/SH)	Karur	RURAL	60	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1745 1746	MOHANUR TO KATTUPUTHUR (WITHIN NAMAKKAL DISTRICT) BUDANCHANDAI TO SENDAMANGALAM VIA MINNAMPALLI (NOT ON HIGHWAY)	Namakkal Namakkal	RURAL	50 50	Open Open CC-1	DC DC	35 35	35 35	1225 1225	16 16	35	DRAW OF LOTS	5	4
1747 1748	ILAMPILLAI BUS STAND TO SITTANUR GOLLAPATI ON K.R THOPPUR ROAD VALASAYUR TO VELLAYANPATTI (NOT ON NH)	Salem Salem	RURAL RURAL	60 70	OBC SC	DC CFS	35 35	35 35	1225 1225	16 0	35 0	DRAW OF LOTS DRAW OF LOTS	5	3
1748	VALASAYUR TO VELLAYANPATTI (NOT ON NH) VEERANAM VILLAGE ON PONNAMAPET ROAD	Salem	RURAL	50	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1750	WITHIN 2 KM RADIUS FROM KOTTUMARANAHALLI JUNCTION (PALACODE ROAD/PULLIKARAI ROAD/PERIYAMPATTI ROAD)	Dharmapuri	RURAL	60	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1751	WITHIN 5 KM FROM KURINJIPADI CROSS ROAD TOWARDS CHATHRAM ON MDR	CUDDALORE	RURAL	60	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1752	T.NEDUNCHERRY VILLAGE, CHIDAMBARAM TALUK ON MDR	CUDDALORE	RURAL	60	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1753	GOPALASAMUDRAM TO CHOKKANAVUR ON MDR	THANJAVUR	RURAL	60	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1754	SILAMBINATHANPETTAI ON MDR	CUDDALORE	RURAL	60	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1755	NAGAR TO ANDIKKULI ON MDR (ULUNDERPET TALUK)	KALLAKURICHI	RURAL	60	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1756	RISHVANDIYUM ON MDR (SANKRAPURAM TALUK)	KALLAKURICHI	RURAL	50	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1757	MADHUKKUR SOUTH VILLAGE TO KARUPPUR VILLAGE ON MDR	THANJAVUR	RURAL	60	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2

SRL NO	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension e site (in Sq	(in M.)/Area . M.). *		e arranged by the (Rs in Lakhs)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC / SC CC-1 SC PH ST ST CC-1 ST PH	CC / DC / CFS		Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	Rs in Lakhs	Rs in Lakhs
1758	KOTTERI ON MDR (VIRUDHACHALAM TALUK)	CUDDALORE	RURAL	60	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1759	PERIYAPAGANDAI VILLAGE (SANKRAPURAM TALUK)	KALLAKURICHI	RURAL	48	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1760	SALIYAMANGALAM TO MILATTUR VIA KALANCHERI ON MDR	THANJAVUR	RURAL	60	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1761	WITHIN 1KM FROM NALLUR VILLAGE (VEPPUR TALUK)	CUDDALORE	RURAL	48	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1762	KURICHIMOOLAI 1 OR KURICHIMOOLAI 2 VILLAGE, MANNARGUDI TALUK	TIRUVARUR	RURAL	60	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1763	ESANAI VILLAGE, PERAMBALUR TALUK	PERAMBALUR	RURAL	48	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1764	J.ATHUR VILLAGE ON RAMALINGAPURAM ROAD	PERAMBALUR	RURAL	48	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1765	FROM KATHIRAMANGALAM TO SERUKUDI ON MDR	THANJAVUR	RURAL	60	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1766	BETWEEN MUDACHIKADU VILLAGE AND RETTAIVAYAL UKKADAI VILLAGE ON MDR	THANJAVUR	RURAL	60	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1767	MELPAKKAM VILLAGE TO VAIRAPURAM VILLAGE (NOT ON NH/SH)	VILUPPURAM	RURAL	48	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1768	PERAIYUR TO NEDUVAKOTTAI ON MDR	TIRUVARUR	RURAL	48	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1769	NEIVELI VADAPATHI VILLAGE ON MDR IN ORATHANADU TALUK	THANJAVUR	RURAL	60	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1770	SATHANUR TO CHITRAIYUR ON MDR	TIRUVARUR	RURAL	48	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1771	SIRUGALAPPUR TO THAPPAI ON MDR	TIRUCHIRAPPALLI	RURAL	60	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1772	SUTHAMALLI VILLAGE, UDAYARPALYAM TALUK	ARIYALUR	RURAL	48	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1773	BETWEEN KANNANGUDI AND MATHURANTHAGANALLUR ON MDR	CUDDALORE	RURAL	60	Open CC-1	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1774	SHOLAMPETTAI TO THIRUVELVIKUDI ON KALLANAI POOMPUHAR ROAD	MAYILADUTHURAI	RURAL	48	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1775	MALIYAMPATHU TO THIRUSENDURAI VIA KULUMANI ON MDR	TIRUCHIRAPPALLI	RURAL	60	ŚC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1776	MELAMATHUR VILLAGE, ALATHUR TALUK (NOT ON NH)	PERAMBALUR	RURAL	48	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1777	BETWEEN THIRUKADAIYUR AND THARANGAMBADI (NOT ON NH/SH)	MAYILADUTHURAI	RURAL	48	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1778	PERUMANADU VILLAGE ILLUPUR TALUK ON MDR	PUDUKKOTTAI	RURAL	48	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1779	ALLITHURAI TO ARIYAVOOR ON MDR	TIRUCHIRAPPALLI	RURAL	60	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1780	VAIYAMPATTY TO PALUVANCHI ON MDR	TIRUCHIRAPPALLI	RURAL	60	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1781	PUTHAMPUR VILLAGE PUDUKKOTTAI TALUK ON MDR	PUDUKKOTTAI	RURAL	48	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1782	SORATHUR VILLAGE TO KEEZHMAMPATTU VILLAGE (GINGEE TALUK)	VILUPPURAM	RURAL	60	Open CC-2	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1783	ON ROAD CONNECTING VENKADAKKULAM VILLAGE WITH VALLATHIRAKKOTTAI	PUDUKKOTTAI	RURAL	48	OBC CC-1	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1784	SERAPPATTU TO ALANNUR ON MDR (KALRAYAN HILLS TALUK)	KALLAKURICHI	RURAL	48	SC CC-1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1785	SENGAMVIDUTHI VILLAGE (NOT ON SH)	PUDUKKOTTAI	RURAL	48	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1786	THATCHANKURICHI VILLAGE ON MDR, LALGUDI TALUKA	TIRUCHIRAPPALLI	RURAL	48	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1787	VIZHUNDHAMAVADI VILLAGE	NAGAPATTINAM	RURAL	48	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1788	PERAMBUR VILLAGE ON ADUTHURAI PORAIYAR ROAD	MAYILADUTHURAI	RURAL	48	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1789	ON ROAD CONNECTING BETWEEN SOUTH SHIRIDI SAI BABA TEMPLE AND TRICHY-CHENNAI NH JUNCTION (NOT ON NH)	TIRUCHIRAPPALLI	RURAL	48	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1790	B. METTUR VILLAGE, THURAIYUR TALUK	TIRUCHIRAPPALLI	RURAL	48	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1791	ON ROAD CONNECTING ALANGUDI TO KAYAMPATTI (NOT ON SH) WITHIN ALANGUDI VILLAGE LIMITS	PUDUKKOTTAI	RURAL	48	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1792	KADAVASAL ON SIRKAZHI TALUK	MAYILADUTHURAI	RURAL	48	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1793	MUSIRI TO THANDALAIPUTHUR ON MDR	TIRUCHIRAPPALLI	RURAL	48	ŚC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
1794	ALANGUDI IN KUTHALAM TALUK	MAYILADUTHURAI	RURAL	48	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
1795	ARASALUR, THOTTIAM TALUK	TIRUCHIRAPPALLI	RURAL	48	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
1796	WITHIN 2KM OF THOTTIYAM VILLAGE (CHINASALEM TALUK) ON CHINASALEM KATCHIRAPALAYAM ROAD	KALLAKURICHI	RURAL	48	Open CC-1	DC	35	35	1225	16	35	DRAW OF LOTS	5	4

# Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

\* The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available in the Corporation Website (www.iocl.com/www.petrolpumpdealerchayan.in) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

## Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 27/09/2023.

	Type of RO	Type of Site	Category	Application fee in Rs.	Type of RO	Type of Site	Category	Application fee in Rs.
ſ		CFS	SC/ST	3000		CFS	SC/ST	2500
		CC	OBC	5000		CC	OBC	4000
	Regular	CC	Open	10000	Rural	CC	Open	8000
		DC	OBC	5000		DC	OBC	4000
		DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of 15 years and renewable every 01 years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

## The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For any information with regard to the advertisement, candidates may contact the following address:-

Address	Phone No	For Disricts.
Chennai Divisional Office, No.500, Anna Salai, Teynampet, Chennai - 600 018	044-24339231/ 24339242	Chennai, Chengalpattu, Kanchipuram, Tiruvallur, Ranipet, Vellore, Tirupathur, Tiruvannamalai
Coimbatore Divisional Office, 8/1079, Avinashi Road, Coimbatore - 641 018	0422 -2245903 / 2245901	Coimbatore, Dindigul, Erode, Nilgiris, Tiruppur
Madurai Divisional Office, 2, Race Course Road, Chokkikulam, Madurai - 625 002	0452-2539201 / 2539204	Kanyakumari, Madurai, Virudhunagar, Tuticorin, Tirunelveli, Tenkasi, Ramanathapuram, Sivaganga, Theni
Salem Divisional Office, No.234, 1st floor, NH-7, Salem- Bangalore Bypass Road, Kondalampatti, Salem - 636010	0427-2912541 / 2912561	Dharmapuri, Krishnagiri, Karur, Namakkal, Salem
Trichy Divisional Office, Triveni, 3rd floor, No.B-35, Shastri Road, Thillai Nagar, Trichy - 620 018	0431-2742011 / 2742066	Cuddalore ,Kallakurichi ,Perambalur ,Ariyalur, Tiruchirappalli ,Thanjavur ,Viluppuram ,Tiruvarur, Pudukkottai , Nagapattinam, Mayiladuthurai